AT 2023FE 12 BHREA R

e | P | GREEIRA | OREE AT R It B e FRLEA #E X
1 ZETY =Y 3 1687 G XA | MM ES
2 NIV — Y 1 390 ERH X EE | AN RS
3 EHER — Y 2 780 I XA | AN RS
4 LT — 14 5 2467 G XA | NIME RS
5 K& — Y 1 625 ER X E |  ERPENES
6 TR T — Y 1 625 ER X EE | EXENES
7 fEAIR - — Y 2 1015 R X E | RPN ES
8 ZE R — Y 1 625 ER X E |  EXRENES
9 X7 =Y 3 1687 R XA | ERENES
10 ARl — 1 531 ERDH XA | IR RS
11 X # 5R — Y 2 1015 B XS | W RS
12 oy 3Lk =4 1 531 TR XA | BTN RS
13 = ] — kY 2 1062 R XA | RN RS
14 ZEHIF — Y 1 390 R XS | W RS
15 =l —Y 1 531 ERCH XS | W RS
16 RN —1 2 780 G X A | IR N RS
17 15075 ik — 1 1 390 R X Al | IR RS
18 aw e — 1Y 1 531 R XA | RN RS
19 1 R ] =Y 1 531 I H X | RN RS
20 SN — 1 625 ERDH XA | IR RS
21 s =Y 2 1015 R X AT | IR TS
22 FEE I — 1Y 3 1546 G X A | IR N RS
23 T s — Y 3 1311 R X A | RN RS
24 mo e — Y 2 1062 R X AE | e NES
25 = — 1 2 1015 I X AE | RO ES
26 %% — Y 1 625 ERHXEE | e ES
27 JoR L — Y 2 1015 R XA | RO N ES
28 BEVR2E — Y 1 625 R X A4S | e iNES
29 FhFE T — A 1 625 ERHXAE | e ES
30 ey s — 1 390 ER X EE | e ES
31 =W — Y 2 1015 R XA | RO iNES
32 B/ — A 5 2467 R XA | ERENES
33 R — Y 1 625 R XA | ERENES
34 P 5 — 5 2467 EE XS | EXREANES
35 AL IE — Y 2 780 EE XY | EREANES
36 L =Y 1 531 R XA | ERENES
37 BE® — Y 2 1062 ERE XY | EXREANES
38 EgCnE =4 2 1062 ER XS | EREANES
39 AL — A 1 531 R XA | ERENES
40 K 7K ] — 2 1015 R XA | ERENES
41 2L — Y 3 1452 ERH XY | EREANES
42 ST — A 1 531 R XA | ERENES
43 E 54 — Y 2 1015 W XA | EXWHES
44 BN — Y 1 531 ERE XY | EXREANES
45 2= — Y 1 531 EE XY | EREANES
46 JE )5 #) =Y 2 1062 R XA | ERENES
47 XS — Y 1 531 ERE XY | EXREANES
48 WM& — k4 1 531 G X AE | ERANES




49 EFE8 =14 5 2467 ER XS | EREANES
50 ARk =Y 1 531 W XA | EXWHES
51 R — Y 1 531 R XA | ERENES
52 [ i — Y 2 921 ER XY | EREANES
53 i — Y 1 531 I XA | EXWHES
54 gRidk 2t — Y 4 1983 ERGH XA | ERENES
55 kL — Y 2 1062 EE XS | EREANES
56 JE U — Y 1 531 EE XY | EREANES
57 R — Y 1 531 R XA | ERENES
58 Al — Y 3 1546 ERE XY | EREANES
59 fig | =Y 1 531 ER XS | EREANES
60 Tr 4 H — A 2 780 G XA | ERENES
61 E R — 1 390 R XA | ERENES
62 754 B — Y 2 1015 ERE XY | EREANES
63 2k B — A 2 1062 R XA | ERENES
64 LS — Y 1 390 R XA | ERENES
65 XEE — Y 1 625 ERE XY | EREANES
66 A E — Y 2 1156 EE XY | EREANES
67 LSy — Y 1 625 R XA | ERENES
68 X 28 2% — Y 1 531 ERCH XS | WA ES
69 B S AE — k4 2 1062 R X A4S | W REANES
70 Z&Al ] — A 2 1015 ERH X EE | HHKEANES
71 T U — 1 531 ER X AE | HKEANES
72 e — Y 1 531 ERCH X E | WK ES
73 SR — Y 1 531 I XA | BN ES
74 G — Y 2 1062 R XA | W REANES
75 ZR 1L — Y 2 1062 R X E | EHKEANES
76 25 pR U] — Y 2 1156 R XS | WA ES
77 Tk ARG — Y 2 1062 I XA | BN ES
78 AT — Y 1 390 B XS | WA ES
79 25 2% i) B 1 531 TETDET XCHTIE | W S
80 FhBUE =Y 3 1311 I XA | EXANES
81 B} — 3 1452 ER X AE | HKEANES
82 ket =Y 2 780 ERCH XS | WKW ES
83 N4 — A 2 1250 ERH X EE | HEKEANES
84 7 — Y 1 625 R XA | WREANES
85 XK 1 — 2 1062 ER X AE | EEKENES
86 S =Y 5 2608 R XS | WA ES
87 EEn — Y 1 531 R XA | W REANES
88 e — Y 2 1062 ERCH XS | WA ES
89 LAY — Y 4 2171 ER X E | EEKEANES
90 IS PR A8 — A 2 1062 ERH X EE | HHKEANES
91 NSPE] — 1 625 ER X AE | HKEANES
92 ¥ %75 — k4 3 1546 R XA | W REANES
93 AR =Y 3 1170 I XA | EXANES
94 Bl — Y 1 390 iR EHtXERS
95 FKE =AY 2 1250 FaYb AT R IEM 2o
96 FE ] [7] — 1 1 531 FayDETIE NN
97 i S Uk — Y 1 531 Va YT IE REIEM
98 JFE AT A -y 2 1142 FaYL AT R IEM o
99 REM — Y 2 921 FaYL TS R IEM 252




100 ZEA ) —1Y 1 531 PHYb TS R IEM 252
101 JiRE T — 1Y 3 1405 FEYbATIE REIEM T
102 JBR A% H — Y 2 1156 vy IE RE BN 2
103 JRR AR =AY 2 1062 PHYD AT R IEM 222
104 i3 o P oy 1 430 vy IE RN 2
105 JRRIAL — Y 2 1062 iR R IEM 22
106 ik i 4 e 2 1015 FaYb AT R IEM 22
107 JBk o5 =Y 2 780 FHYD AT R IEM 22
108 JERAE I — Y 2 780 iR R IR 22
109 K R — Y 2 780 FaYL AT R IEM 2o
110 JRRFI — Y 1 625 PHYL TS R IEM 252
111 JRYEEH —Y 2 1156 Py IE AR 2
112 TEE — 2 1062 VYD IE RE BN 2
113 JR RV — Y 1 625 PHYD AT IR IEM 252
114 Al — 1Y 1 531 FEYbATIE REIEM
115 AR — Y 1 390 FEYbATIE R IEM
116 JBESH ] — Y 2 1062 FaYb AT R IEM 2
117 b {8 — 4 1 390 FHYD AT R IEM 22
118 By — Y4 2 780 FEybATIE R IEM 5
119 B =AY 3 1546 FaYD AT R IEM 2
120 VB AL — Y 1 625 PHYL TS HYRWMNEE
121 e — A 3 1640 Py IE BHSHNES
122 2o — 1 625 VYD IE HYAENZS
123 aoEN — Y 1 625 PHYD AT HYRWMN TS
124 S 55 ] — A 1 390 vy IE WA 22
125 A — Y 3 1452 JaVb I AT 22
126 Fini =AY 4 1936 FaYb AT HENAR 22
127 ikt =Y 2 1015 FayDETIE BN T2
128 B KA — 4 4 2162 JaYb I A 22
129 ZRAAE =4 2 1062 FaYL AT HENAR 222
130 ZEAF R — Y 1 531 FaYL TS WK 222
131 9= -y 1 571 Py IE WA 22
132 [id=| — 1 531 VYD IE HENAR 22
133 FglJL — Y 1 625 PHYD AT WK 222
134 IS — 1Y 3 1311 JHYb I WA 22
135 BEK ] =AY 2 1015 JaVb i WA 22
136 15 i g — 1 390 FaYL AT HENAR 222
137 T — 1Y 3 1666 FaYETIE BN T2
138 xS 5 = -y 1 665 JHYb I AT 252
139 Ak ik — 1 1 390 FayD T IE WA T2
140 BEE — k4 1 625 PHYDEIE BN T 2
141 EiRE — A 2 780 Py IE WA 22
142 AL — 1 625 vy IE HENAR 22
143 =Y iiiR e — Y 1 625 PHYD AT HENAR 222
144 FRE — A 1 625 vy IE WA 22
145 I A Ui — Y 1 625 FaybEIE HENAR 22
146 paE et — 14 2 1062 FayD T IE BN T 2
147 i B | — Y 1 625 FHYLATIE PR o
148 2= ] — Y 1 390 iR FELAR S
149 2ok — Y 1 531 FaYL AT PR 2R
150 R -y 1 665 FaYL TS PR 2o




151 Bl =Y 2 1156 PHYb TS PR 2o
152 ] 33k =Y 4 2312 Py IE PR TR
153 2% 35 B =Y 2 1250 vy IE PR R
154 A PRAE =AY 2 1156 PHYD AT PR 2o
155 ERI =Y 3 1405 vy IE PR TR
156 o AL =Y 1 390 iR RN
157 ] ik — Y 2 1062 FaYb AT PR 2R
158 e sl =Y 2 1062 FHYD AT PR o
159 BiF5 HE — Y 2 921 iR FELAR TS
160 el =4 2 780 FaYL AT PR 2R
161 H&ELE =14 1 531 PHYL TS RN
162 f[ya A =Y 1 625 Py IE PR TR
163 Mot s — 1 390 VYD IE PR S
164 B =Y 1 390 PV BT IE PR 2o
165 T2 =Y 1 390 vy IE PR TR
166 L FE — Y 2 921 iR RN
167 B B =Y 2 1062 FaYb AT PR 2
168 fA] A 5 =AY 2 1015 FHYD AT PR o
169 XA =Y 2 1156 iR PR SR g
170 LT =14 3 1687 FaYD AT PR 2R
171 (B! =AY 1 625 PHYL TS RN
172 T =AY 2 1015 Py IE PR TR
173 #7488 e =AY 4 2077 VYD IE PR S
174 ¥ 2K =AY 4 1936 PHYD AT PR 2o
175 e =AY 2 1015 JHYb I PR TS
176 F [ dik — Y 1 390 iR RN
177 22 VG PR =Y 3 1311 FaYb AT PR 2R
178 i 7] 7. — Y 2 921 FHYL AT PR o
179 Vr 5 =Y 1 625 iR FELAR TS
180 S I ) =Y 2 780 FaYL AT HOENZ 2
181 A — Y 2 921 FaYL TS HOENZ 2
182 2k ZE ] =AY 1 625 Py IE FEEN o
183 e =AY 2 1015 VYD IE RN E S
184 (bR =14 1 390 PHYD AT HOENZ S
185 L — A 2 1156 vy IE FEIEN o
186 g eall — Y 1 531 iR FENZ S
187 EJL — 1 531 FaYL AT HENZ 2
188 SN AN =Y 3 1405 FaYETIE HOENZ 2
189 ARl =Y 2 1015 iR FEENZ 2
190 vl =14 2 1062 FaYD AT HENZ S
191 ZEXS =AY 1 531 FaYL TS HOEN L2
192 BEAl R =Y 3 1452 Py IE FENZ S
193 KI5 EE — 1 390 vy IE RN E S
194 ZRN] =AY 1 625 PHYD AT HOENZ 2
195 AR — A 1 531 vy IE FEENZ S
196 EE%E =Y 2 921 iR FRNZES
197 75 A1l — Y 2 780 FaYb AT FRNZS
198 XI5 A =Y 1 390 FayDETIE FhRNZS
199 I =) =Y 2 1015 iR FlArt o
200 A =4 1 531 FaYL AT FRNZS
201 JR R =14 1 531 FaYL TS FhRNZS




202 254k H =14 2 780 PHYb TS FhRNZS
203 IR — kY 4 1701 FEYDETIE F It 22
204 SR -y 2 1330 vy IE FlArt o
205 XK U =AY 1 390 PHYD AT FhRNZS
206 R — Y 1 390 vy IE E Tl
207 Es — Y 1 531 iR FRNZES
208 K e | —1Y 1 390 FaYb AT FRNZS
209 25 7 H =Y 2 780 FayDETIE FhRNZS
210 SO — Y 1 390 iR FRENZES
211 7K — Y 2 780 FaYL AT FRNZS
212 ) — Y 2 1015 PHYL TS FhRNZS
213 T — A 5 2373 Py IE F bt
214 XX /)N — 1 625 VYD IE FlAdt 2
215 XAl ) —Y 2 1015 PHYD AT FhRNZS
216 SR — A 1 531 vy IE E Tl
217 BRI L — Y 1 531 iR FRENZES
218 R — 1 390 FaYb AT FRNZS
219 £ ji 1] — 14 1 531 FaYETIE FhRNZS
220 TR — Y 2 1015 iR FRENZES
221 AERAR — Y 1 531 FaYD AT RN ZS
222 B =AY 3 1311 PHYL TS ERENZS
223 Zs i =Ry 2 1156 FEYb B iE WEE K I 22
224 aﬁzmumu =AY 1 390 VYD IE LB IER 2
225 ESIN — Y 1 531 PHYD AT RN ZS
226 BTt —Y 1 531 vy IE LB IER T2
227 HEH =Y 2 1015 iR RN ZES
228 B S ) — 1 531 FaYb AT RN ZS
229 N — 4 3 1546 FHYL AT RN ZS
230 EE® =Y 1 531 iR RN ZES
231 EAKCE =4 1 390 FaYL AT RN ZS
232 BN =AY 1 531 FaYL TS ERENZS
233 IR =Y 1 390 Py IE LB IER T2
234 T — Y4 2 780 FEybATIE RN TS
235 YR — 4 1 390 PHYD AT RN ZS
236 LZE — 1Y 2 1156 vy IE LB IER T2
237 B =y 4 1701 bk | BB Z 2
238 Y — 1 531 FaYL AT RN ZS
239 e S B 1 531 FHYD AT RN ZS
240 o — Y 3 1452 iR RN ZES
241 TR —t4 4 2312 FaYD AT RN ZS
242 B G O — 2 1062 FaYL TS ERENZS
243 W — A 2 1250 Py IE LB IER T2
244 Tk 3N — Y4 1 531 FaybATIE RN TS
245 RN =14 3 1687 PHYD AT RN ZS
246 LA — 1Y 1 531 FEybATIE IREEREN TS
247 iz — Y 1 531 iR RN ZES
248 ZR1E — Y 1 531 FaYb AT RN ZS
249 E¥ % H — 4 2 1015 FHYLATIE RN ZS
250 T&EH =Y 1 390 iR RN ZES
251 T —1Y 1 531 FaYL AT RN ZS
252 &4 =14 1 531 FaYL TS ERENZS




253 B/ INHE =Y 4 2077 PHYb TS RN ZS
254 KKz =Y 3 1405 Py IE LB IER T2
255 T2 — Y 1 531 BB M A7 Rk o
256 KL — Y 1 625 M A7 T Rk Z2
257 BV =AY 3 1546 I PR AT IE AN Z 2
258 XIJRALE — Y 3 1311 I PR AT IE RN 22
259 2% H =14 2 780 WEREEE | FRIZENES
260 XIS — Y 2 780 MEREATTE | FERIZENES
261 piniid — Y 4 1842 WA | BRIZENES
262 7K BH FH — Y 2 780 MEREATE | FERIZENES
263 EFH — Y 1 625 MEREETE | FFRIZENES
264 TR TS =AY 2 921 M ETE | WRIZENES
265 AN — 1 531 iR R Al XK 22
266 S (7 by =y 1 531 10 T PR A T XK 22
267 ik =Y 1 625 I PR AT IE XK 222
268 ¥k ak =4 2 1062 R R A I XK JdiAT 2o
269 MRS — Y 2 1062 0 AT IE X KRR 252
270 eI =1 1 390 10 T PR A T XK 22
271 F =14 2 780 i R A X KAt 2o
272 FEL A 1 571 05 AT IE XK AR 252
273 + K — Y 1 531 0T AT IE X KRR 252
274 EEH — A 1 390 I PR AT IE XK 222
275 TN =AY 1 531 iR R Al XK 22
276 T — Y 1 390 05 AT IE XK AR 252
277 A IFIE — Y 1 531 i A I X KRR 25 2
278 THRF =AY 2 1015 R R A XK JdiAT 2o
279 ZARJL — Y 1 531 0 AT IE X KRR 252
280 5 H — 4 2 1156 I 2 B AT TE XK JAiA 252
281 )5 — Y 2 1062 i R A I X KAt 2o
282 ) =Y 2 780 10 T PR A T PPN
283 IZRTR — Y 1 531 0T AT IE XK AR 252
284 2= IR =AY 3 1311 I PR AT IE XK 222
285 Mok — 2 780 iR R Al XK 22
286 R T — Y 1 531 05 AT IE XK AR 252
287 5 =AY 1 390 I PR AT IE XK 222
288 ARl — Y 1 625 R R A I XK JdiAT 2o
289 F i — 1 625 0 AT IE X KRR 252
290 B — Y 1 531 05 R AT IE XK AR 252
291 (AACIR)A — Y 4 1842 i R A X KAt 2o
292 T 8 =Y 2 921 05 AT IE XK AR 252
293 B INEE =Y 3 1452 0T AT IE X KRR 252
294 TRAR B — A 2 921 I PR AT IE ER N ZE 2
295 HIEA — 1 390 iR B Al EX N ES
296 RN — Y 1 531 05 AT IE ER P T2
297 FL A — A 2 780 I PR AT IE ER G T2
298 TR — Y 2 780 R R A ER N T2
299 = =14 2 780 0 AT IE ER P TS
300 MR — Y 1 625 05 R AT IE ER P
301 HEA — Y 2 1250 i R A I ER G T2
302 SRR — Y 3 1311 0 BT IE TGN Z2
303 HHAKAL =AY 1 531 0T AT IE TR Z2




304 X g — Y 2 780 0T AT IE TR Z2
305 2z =Y 2 780 I PR AT IE TR ZE 2
306 K 7k g — Y 1 625 I P AT TE THIENZS
307 F4F| — Y 4 2077 0 R T IE TGN Z2
308 ] — A 1 625 I PR AT IE TGN Z 2
309 B — Y 1 625 R R A TR Z 2
310 [ EA =AY 1 625 0 AT IE TR Z2
311 SN — Y 1 390 05 R AT IE TR Z2
312 (D — Y 1 625 W aE | T HEENES
313 kAt =4 1 390 WEggTE | T HEENES
314 kb =AY 1 531 WEgEsE | T HEENES
315 M — Y 3 1405 M aE | T HEENES
316 YR E — Y4 2 921 W aE | BN ES
317 A — 3 1311 WEgsE | T HEENES
318 T i — A 3 1781 W AE | T HEN RS
319 FKE — Y 1 531 W aE | RN ES
320 T =AY 2 1015 WEggE | T HEENES
321 THE =14 2 780 WEgsE | T HEENES
322 e — Y4 2 1250 W aE | T HEENES
323 ER =Y 2 1156 WEpggrE | T HEENES
324 (AiN=D — Y 2 1062 WEgEsE | T RENES
325 B 2% =AY 2 1015 MERETE | MREINES
326 KR — 2 921 MR ETE | SREINES
327 A — Y 1 531 MEEEATE | BEREINES
328 AR YL — A 1 625 MR ETE | MREINES
329 LSRR =Y 4 2077 W ETE | SREINES
330 B K — Y 1 625 MEEAE | SEREINES
331 HE% =14 1 625 MEEEATE | SREINES
332 R — Y 1 625 WEEAE | BEREINES
333 B — Y 1 625 MEEATE | SREINES
334 KN bR =Y 3 1170 MEEATE | SEREINES
335 AR =Y 6 2857 W EEEE | BEREINES
336 Uik — 1 625 MR ETE | SREINES
337 ik =AY 1 531 05 AT IE BRI
338 B XX — A 1 531 I PR AT IE RN 2
339 e 1% B — Y 1 531 I PR AT IE R IEN
340 TrsE — 1 531 0 AT IE SN
341 AT — 4 1 531 05 R AT IE ER BN
342 I EM — Y 3 1170 i R A RSN 2
343 g Y 5 2808 MEEHiE | SRR
344 E/h e — Y 5 2467 0T AT IE eSS
345 KR — A 1 531 I PR AT IE RN 2
346 FEE A — 2 780 iR B Al RN EE 2
347 KT =Y 2 780 kA IE B FIEMN T
348 Eiim 2] — A 1 625 I PR AT IE RN ZE 2
349 X 7 — Y 1 531 R R A RN Z 2
350 R e — 1 531 0 AT IE FREF T2
351 Bl — 4 1 531 05 R AT IE REN T2
352 X FE — Y 1 531 i R A I RN T2
353 Tr i R 2 1001 0 PR AT REN T2
354 A —1Y 1 531 0T AT IE REP T2




355 TR — 2 1062 0T AT IE RER T2
356 X135 — Y 1 531 I PR AT IE IRIER T2
357 2k Mg =Y 1 390 10 T2 B AT WHRIEN T2
358 Byl — 1 625 05 AT IE HRIEN T2
359 T =14 1 531 I PR AT IE FRIER T2
360 o1 B 1 531 I PR AT IE HRIER ZE o
361 B AL —1Y 2 1015 0 AT IE FRER T2
362 B — Y 2 780 05 R AT IE REN T2
363 EREDN B 1 531 i PR AT IE HRIER Z o
364 9 v 2 780 05 AT IE REN T2
365 BN} -y 1 665 0 PR A FRIER T
366 1 57 =Y 2 780 I PR AT IE RN Z 2>
367 2 Al — Y 1 625 iR R Al IR IER T2
368 S i kY4 1 531 102 PR A BN 2525
369 SR — A 1 390 I PR AT IE AR 22
370 L — Y 1 531 R R A I B 225
371 LK =14 2 1062 0 AT IE RN 22>
372 e — 14 1 531 R A IE RN 222>
373 XISk — Y 1 390 i R A U 2 25
374 X = — Y 2 780 05 AT IE RN 222>
375 T ik ik =AY 1 531 0T AT IE RN 22>
376 X|E= — A 2 780 I PR AT IE RN 252
377 = & — 2 1156 I P T TE RN 252
378 HEE — Y 1 531 05 AT IE RN 222
379 XU — A 2 780 I PR AT IE AR 22
380 DAl — Y 3 1311 R R A R 225
381 TR =Y 4 1701 0 AT IE RN 22
382 D= — 1 1 625 R A IE RN 22>
383 755 — Y 3 1311 i R A I U 2 25
384 s =4 2 1156 05 AT IE RN 22>
385 LA — Y 1 625 0T AT IE RN 22>
386 EEE — A 1 625 I PR AT IE RN 22
387 XAk — 1 390 IS | R EEAIAR RS
388 i — Y 2 780 MR ETIE | R ENANZS
389 kAN — A 1 531 PR ETIE | AR EEAIAR RS
390 R — Y 1 390 IR ETIE | R BN R
391 7k Bk — 1 531 WP ETIE | R ENANZS
392 HZ1E — Y 1 531 WP ETIE | R ENANZ S
393 =% — Y 1 390 PR ETIE | AR EEAIAR RS
394 HEFH =AY 3 1405 WP ETIE | MR ENANZS
395 HEE — Y 2 921 MR ETIE | R ENANZS
396 ZHE — A 1 531 WP ETIE | RSB R
397 2R — 1 390 IR ETIE | AR BN TR S
398 KRS — Y 1 531 MR ETIE | R ENANZS
399 5175 — A 1 531 PR ETIE | AR EEAIAR ZE2
400 I — Y 1 625 IR ETIE | RN R
401 Tk IS4 — Y 2 1156 WP ETIE | MR ENANZS
402 Kz — Y 1 625 MR ETIE | R ENNANZ S
403 e — Y 3 1452 PR ETIE | AR EEAIAR RS
404 FFEA% /) — Y 5 2232 WEERETIE | MR ENANZS
405 HRUL — Y 1 625 MR ETIE | R ENANZS




406 XS — Y 1 625 MR ETIE | R ENANZS
407 15 Rk =Y 1 390 W ERRAE | R BN TS
408 £ FI) 45 =Y 4 1701 W EPRETE | RN 22
409 =REb =AY 1 625 MR ETIE | R ENANZS
410 EhEE= — A 1 625 PR ETIE | AR BN RS
411 [ERI5S — Y 1 390 IR ETIE | RN R
412 ZE A =AY 1 390 WP ETIE | MR ENANZS
413 ERK =AY 2 921 WEERETIE | R ENANZ S
414 XN =14 3 1452 IR ETIE | RS EEAIAR RS
415 LI51E =4 1 390 WP ETIE | MR ENANZS
416 pdl)p%ES — Y 2 921 MR ETIE | R ENANZS
417 ¥ )T =Y 1 390 W ERRAE | R BN TS
418 THRE — 1 531 iR R Al AFIR 2
419 Xk A — Y 1 531 05 AT IE AFIM 252
420 25 75 1k =Ry 1 390 A0 T2 R AT BFKIR Z 2
421 BEREAE — Y 1 531 R R A I ATV 22
4992 L JiRk =Y 2 1062 R IE AR T
423 XTI — Y 2 1062 W R T IE AR 2o
424 =151 -y 1 571 i R A XTI 22
425 X IE I =AY 2 780 05 AT IE AR 2o
426 X S =Y 3 1640 0T AT IE AR 252
427 X [ 1 =AY 3 1170 I PR AT IE AFIAR T 5
428 TRk — 1 390 iR R Al AFIR 2
429 LRk =AY 1 390 05 AT IE AFIR 252
430 2R =AY 1 531 I PR AT IE AFIAR T 5
431 ¥ E bt — Y 2 780 I PR AT IE AFIAR T 5
432 SRS — Y 1 625 0 AT IE AR 2o
433 A — Y 1 625 05 R AT IE AFIR 2o
434 B =Y 4 1701 i R A I RFIR ZE 2
435 T =Y 1 390 05 AT IE AR 2o
436 EENES — Y 1 531 0T AT IE KW Z2
437 X 5 =Y 1 531 I PR AT IE KiBh 2o
438 W — kY 3 1452 I PR AT IE RiBENZES
439 B — Y 1 390 0 R T IE KiBNZ2
440 A =AY 2 780 I PR AT IE RiBF 2o
441 BB =y 2 780 A0 PR A TE KRB ZE 25
449 L =14 1 531 0 AT IE KB Z2
443 T ik — 14 1 531 0 R T IE KB Z2
444 i > — Y 2 921 i R A KNiBENZES
445 mAtE — Y 1 390 0 BT IE KiBENZ2
446 Fiks =AY 1 625 0T AT IE KW Z2
447 TR — A 1 625 I PR AT IE KBk 2o
448 E224R — 2 780 I PR AT IE RiBENZES
449 248 [ =Y 2 1015 0 R T IE KB Z2
450 B R =Y 1 390 I PR AT IE RiBF 2o
451 B — Y 4 1842 R R A KNiBENZES
452 ZHE — Y 1 531 0 AT IE PN SN
453 RS — Y 1 531 05 R AT IE KRR T2
454 R ah ) -y 1 571 i R A I PN N
455 X8k — Y 1 625 0 BT IE PN SN
456 P — Y 1 531 W R IE KRN Z 2




457 ELEES — Y 1 531 0T AT IE KRN Z 2
458 e 1] 6 =AY 2 1156 IR B A KA &2
459 7K =Y 2 1015 10 B R A I PN SR N
460 o =Y 1 625 05 AT IE AR T2
461 4T B =Y 1 531 i A I KAOEMZ 2
462 ZKE — Y 1 531 R R A K ENZ 2
463 K e 75 =14 3 1311 0 AT IE PN SN S
464 X7k B =14 1 625 05 R AT IE KRR T2
465 kKM -y 1 665 i R A I KA ENZ 2
466 At A 1 430 05 AT IE PN SN
467 =4 =Y 2 1156 0T AT IE KRN Z 2
468 5ot =AY 4 2077 I PR AT IE PN
469 VL T ] =Y 1 531 10 2 BRI PN SR N
470 W)L =AY 1 625 05 AT IE AR T2
471 o Sk =Y 1 625 I PR AT IE PN N
479 XK A =Y 1 390 R R A I A ENZ 2
473 P =AY 4 1842 0 AT IE PN SN
474 X TF =AY 1 390 05 R AT IE KRR T2
475 R — Y4 2 780 i PR AT IE UE RIS
476 XL =AY 2 780 05 AT IE UE RIS
477 WALt — Y 2 780 0T AT IE PE RIS
478 i =Y 3 1311 IR B A PERCIEEFS
479 I By =Y 1 625 A0 T2 BRI PERLINE S
480 T EA =AY 2 921 05 AT IE E SIS
481 pAEA — A 2 780 I PR AT IE E RN E TS
482 19t it =Y 2 1156 R R A eI TS
483 Zs i =AY 3 1311 0 AT IE PE RIS
484 2= W] =AY 3 1546 05 R AT IE RIS
485 wBEZE =Y 4 1936 i R A I e RIS
486 T ke =Y 2 1015 05 AT IE UE RIS
487 R =14 4 1936 0T AT IE PE RIS
488 EIES — A 2 921 I PR AT IE PERCIEE TS
489 o Z TN =Y 1 625 iR R Al e RIS
490 ZAF — Y 3 1311 05 AT IE UE SIS
491 ESES =Y 3 1311 I PR AT IE PRI E TS
492 XI| [H] 4 — Y 1 625 R R A I eI TS
493 X i =AY 1 625 0 AT IE PE RIS
494 LK =14 2 1156 05 R AT IE RIS
495 kB — Y 1 390 i R A e RIS
496 ZE et — Y 1 625 05 AT IE UE RIS
497 LRz =AY 1 625 0T AT IE PE RIS
498 FES =AY 3 1452 IR B A PERCIEEFS
499 RS — 1 531 iR B Al e RIS
500 WA =AY 2 780 05 AT IE UE SIS
501 X1 2 =Y 6 2622 I PR AT IE E RN E TS
502 TE =AY 5 2373 R R A BRI AT 2o
503 X R = — Y 1 531 0 AT IE BRI A 252
504 L3RR — Y 1 390 05 R AT IE RRIEIE A 252
505 o — Y 1 390 i R A I FRIEIEAT o
506 1y =4 2 780 05 AT IE RIS 252
507 EEEE =14 1 625 0T AT IE BRI A 252




508 PR fR o — Y 1 531 0T AT IE BRI A 252
509 Bk — A 2 1062 I PR AT IE FRIEIE A 2o
510 B — Y 2 1015 iR R Al FRIE AT 2
511 TEX H — Y 3 1170 05 AT IE RIS 252
512 E — A 1 390 I PR AT IE FRIEIE A 25 2
513 2R — Y 3 1875 R R A BRI AT 2o
514 2k b — 2 1015 0 PR T TE RIS 252
515 X R — Y 1 390 05 R AT IE RIS 252
516 M VA — Y 1 531 i R A I FRIEIEAT o
517 L payid v 4 1701 05 AT IE RIS 252
518 RYR — Y 3 1311 0T AT IE RIS 25 o
519 TEo K =Y 1 625 0 A IE JRIBEA Z 5
520 P =1 1 625 10 2 BRI FRIEIEA 2
521 S B — Y 2 1015 05 AT IE RIS 252
522 K 2N — A 1 531 I PR AT IE KEFNZS
523 TR — Y 2 780 R R A I KEFNZS
524 KA HE =Y 2 1062 0 AT IE KEFENZES
525 i 8 7 =14 2 1156 05 R AT IE KEEMNES
526 PAZAE — Y4 1 625 i PR AT IE KEEMNES
527 EE K =AY 3 1311 05 AT IE KEFENZES
528 T =AY 2 1062 0T AT IE KEFEMNZES
529 FEAELE — A 1 625 I PR AT IE KEFENZS
530 EfEE — 1 390 iR R Al KEFENZS
531 &k =AY 2 921 05 AT IE KEFEMNZS
532 fify A >~ — A 1 531 I PR AT IE KEFENEZS
533 3L F5 — Y 2 780 I PR AT IE KEEMNES
534 T =AY 4 1842 0 AT IE KEENZES
535 Gi i =AY 2 1156 05 R AT IE KEEMNES
536 2N — Y 1 625 i PR AT IE KEEMNES
537 HAGE A 1 571 05 AT IE KEFENZES
538 2% =AY 1 531 0T AT IE KEFEMNZES
539 EXNZE — A 4 1936 I PR AT IE KEFNEZS
540 THER — 2 1250 iR R Al KEFENZS
541 K 32 Uk — Y 1 625 05 AT IE KEFEMNZES
542 Z= 2] i =Y 2 780 I PR AT IE IR N o
543 BE LA =Y 1 390 R R A I BN 2
544 K % — 1 531 0 AT IE B EENA 2o
545 XL — Y 1 625 05 R AT IE BN 2o
546 kA8 — Y 2 1015 i R A BN ZE 2
547 BETh — Y 2 780 05 AT IE R NA 2o
548 K EgAE A 1 571 0T AT IE BN 2o
549 R — A 1 390 I PR AT IE FZENA 2
550 MEE =AY 1 390 iR B Al BN ZE 2
551 A — Y 3 1452 05 AT IE R NA 2o
552 kL — Y 2 780 i A I IR NA 22
553 7K R — Y 2 780 I PR AT IE IR N 2 5
554 15 A%) =AY 4 1936 0 AT IE RN 2o
555 B =Y 1 625 05 R AT IE BN A 2o
556 Bk H =Y 2 780 i e PR AT IE IR N 2 2
557 HER =4 1 625 05 AT IE B NA 2o
558 BRI ZE — Y 1 625 0T AT IE RN 2o




559 Eetan =Y 1 625 W R IE B NA 2o
560 1835 =Y 1 531 i A IE B EENA 22
561 s 3 35 =Y 1 625 I PR AT IE RN o
562 B H — Y 1 390 0 R T IE B EENA 2o
563 B NE — 1Y 4 2171 10 2 B A I AEIEIMN S
564 FHIA A 1 571 R R A AENNZES
565 Ak =AY 2 1062 I BT IE A ETN
566 JE Bk ZE Ay 2 1095 0 R T IE A ETNZE S
567 HiEE — 1Y 1 531 I P AT TE RN
568 i =Y 1 531 0 BT IE L ETN S
569 EEEN =AY 2 1156 W R IE A ETN S
570 2= =Y 1 531 I PR AT IE AENRZES
571 ELES =Y 1 625 A0 T2 BRI A ENZS
572 1 B 4% =Y 1 390 0 BT IE A ETNZ 2
573 M5 — 1Y 2 780 10 2 R A I BTN S
574 gk E — Y 2 1015 i P AT TE AENNZES
575 HAGE — 1 531 I R T IE A ETN
576 TRt — Y 2 921 W R T IE A ETMN S
577 = -y 1 571 i R A AENN S
578 T X kY 1 571 0 BT IE L ETN 2
579 44 =Y 2 1156 W R IE A ETN S
580 BN =Y 4 2077 i A IE BTN TS
581 EhEzi =Y 2 1015 I PR AT IE AENNES
582 e =Y 1 625 0 R T IE ANz
583 2% 8| 3% =Y 1 390 I PR AT IE AENNZES
584 TKAE =Y 2 780 R R A AEIIA s
585 ASTL 5 =Y 1 390 I BT IE A ETN
586 T5HB =Y 1 531 0 R T IE A ETN S
587 HEZE — Y 3 1546 i R A I A w2
588 SR =4 2 780 0 BT IE L ETN S
589 fif A =Y 1 625 W R IE A ETN S
590 KR =Y 3 1452 I PR AT IE AENRZES
591 MER — Y 2 780 I P T TE AENNES
592 X1 =14 3 1405 0 R T IE ER TS
593 [ LS =Y 2 1156 I PR AT IE XN FIER 2 2
594 s 72 - — kY 4 2171 A0 PR A TE XKW 25 o5
595 PEAL =Y 2 1062 I R T IE WERINESS
596 XI| 3% i =14 1 390 0 R T IE ERINETS
597 75 B3 =Y 2 780 A0 7 A T X R 22 25
598 k= =AY 1 531 0 BT IE ERIINESS
599 EEX =Y 2 1062 W R IE WERINESS
600 [ ES — A 2 780 I PR AT IE ER IS
601 X/ 5 — 4 1842 I PR AT IE XN FBER 22
602 EHER =AY 2 780 0 R T IE ER TS
603 B A =Y 1 390 IR B Al XN FWER 2 2=
604 e =4 1 531 R R A ER IS
605 Lt =Y 2 1015 I BT IE WERINESS
606 =1 A 1 665 0 R T IE ERINETS
607 HZE — 4 1 705 i e PR AT IE EINES
608 ERNE — Y 1 430 05 AT IE NELIN TS
609 i S JE =Y 2 1250 W R IE WERINESS




610 Jet SR A — Y 2 921 0T AT IE WERINESS
611 ¥l =Y 1 625 i A IE WERINESS
612 B E — Y 1 625 iR R Al XN FBER 22
613 H K F —Y 1 625 05 AT IE ER TS
614 AT 55 — A 1 625 I PR AT IE XN FWER 2 2
615 X 1 =Y 1 625 I PR AT IE X FKBER 222
616 miedt — Y 1 531 0 AT IE SRR TS
617 T T =AY 2 1250 05 R AT IE EREN T2
618 = R — Y 2 1015 i R A I ERIEN ZE 2
619 BEERAR — Y 1 531 05 AT IE EREN 2
620 X AR — Y 1 531 0T AT IE EREN TS
621 TIEEE — A 2 1062 I PR AT IE ERIEN 2
622 15 P8 )5 — 2 921 iR R Al SRR R
623 BRI AR =Y 1 531 05 AT IE EREN 2
624 5 i — A 3 1170 I PR AT IE ERIEN ZE 2
625 022 — Y 1 531 R R A I RGN 2
626 X S I — Y 1 625 0 AT IE SRR TS
627 k4 =AY 1 390 05 R AT IE EREN T2
628 T/ — Y 3 1452 i R A RGN ZE 2
629 iK% kY 3 1431 05 AT IE BRI T2
630 33k — Y 2 780 0T AT IE EREN TS
631 ELice=) — A 1 390 I PR AT IE ERIEN 2
632 mEH Y 1 571 iR R Al SRR R
633 S PR A 1 430 05 AT IE EREN 2
634 EE -y 1 430 I PR AT IE ERIEN 2
635 THKE — kY 1 665 R R A EARIEN 2
636 k4 — Y 2 1015 0 AT IE SRR TS
637 TH%E — Y 2 1015 05 R AT IE EREN T2
638 NN — Y 1 531 i R A I ERIEN ZE 2
639 bk — 1 2 1062 0 PR AT B EIEMN T
640 RSN =AY 2 780 0T AT IE EREN TS
641 TR =Y 1 625 I PR AT IE ERIEN 2
642 FNEE — 3 1452 I PR AT IE ERIEN 2
643 =ME — Y 2 1015 05 AT IE EREN 2
644 SR — A 2 1015 I PR AT IE ERIEN 2
645 SEE — Y 3 1687 R R A I RGN 2
646 X7 — 4 1842 0 AT IE SRR TS
647 T=H =14 1 390 05 R AT IE EREN T2
648 EA =Y 2 1015 A0 7 A T A EMNZES

649 REREE =14 1 390 05 AT IE AENZS

650 A A 2 1095 0T AT IE AENZS

651 fifE — A 1 625 I PR AT IE AEMZES

652 THE — 3 1781 iR B Al AEMNZES

653 PriE % — Y 1 625 05 AT IE AENZS

654 kHFAE — A 2 1062 I PR AT IE AEMES

655 M= — Y 1 390 R R A AENES

656 w2 H — Y 2 780 0 AT IE AENZS

657 XI5 B =Y 2 1015 R A IE BHEMNES

658 =1=! — Y 1 531 i R A I AENESE

659 HeCH A 1 571 05 AT IE AENZS

660 MTER -y 1 571 0T AT IE AENZS




661 7 & -y 1 430 0T AT IE AENZS
662 TEXZ — A 1 625 I PR AT IE AEMZES
663 K E — Y 2 1015 iR R Al AEMNZES
664 X7 % =AY 2 1156 05 AT IE AENZS
665 Sl — A 2 1250 I PR AT IE AEMES
666 B — Y 1 531 R R A R Z 2
667 HE kY 1 571 0 AT IE MR &2
6638 R Ry 2 1001 R A IE MR 22
669 A 1 — Y 2 1062 i R A I MR 2
670 LA — Y 1 390 05 AT IE MR 22
671 RES — k4 2 780 kA IE RS 25 25
672 SR — A 1 625 I PR AT IE R 2
673 FEEZ — Y4 1 625 i PR AT I R 25 25
674 X R =AY 1 390 TR EATIE BRI T2
675 KR L — Y 1 531 TR HTIE EREN TS
676 XN FAT — Y 2 1156 TR SHETIE BRI T2
677 i — Y 2 1015 TR MATIE BRI
678 P =Y 2 921 TR MEATTE BRI ZE 2
679 5% — Y 2 1015 TR OSHETIE RIS
680 X =AY 1 625 TR S IE 12 EMN S
631 B 4 — 1 531 KA T IZE BN ZES
682 XIS — Y 3 1546 TR e iE e ENZES
683 XA — 2 1015 TR MHTIE e EN TS
684 H % =Y 2 780 TR TIE I EMN TS
685 L — A 1 531 TR eI IZE EMN TS
686 1% H — Y 2 1062 TR MHTIE e ENZES
687 K52 — Y 1 531 TR ST IE LHRENES
688 AR — Y 2 1156 R IE LTS
689 =0l — Y 2 1062 TR MHTIE LHREMNZES
690 FR{ELE =4 1 390 TR e IE RN ZES
691 /T — Y 2 921 TR ST IE LRENES
692 B — A 1 390 TR iE L HEMN TS
693 E51 — 2 921 TR MHTIE LHREMNZES
694 Hh ek — Y 2 780 TR IE LR TS
695 X1 B — A 1 625 TR eI L HEEMN TS
696 X F1F — Y 3 1405 TR eI LR
697 KA =AY 2 1156 TR ST IE RN ES
698 ZERk — Y 2 1062 TR MEATTE LR ES
699 B 7K — Y 1 625 TR MHTIE LHREMNZES
700 il =AY 1 531 TR S IE LR ZES
701 FoF — 3 1311 TR MHTIE LR TS
702 K AR/ — A 2 1015 TR MHTIE L HEEMN TS
703 Tr AR — 2 780 TR eI MV &2
704 Sk — Y 1 390 TR EATIE i AU R
705 Z 4 ] — A 1 625 TR i VAT 22
706 il =AY 2 1062 TR AT IE AL
707 K ik H =AY 3 1546 TR ATIE WV R 22
708 XI5 4 =Y 1 531 R IE HIVA A 25 2
709 P53 — Y 1 531 TR SHETIE My 22
710 T =4 2 1156 TR MEATIE Wy A 22 2
711 X 2L =AY 1 531 TR ATIE i AU N




712 = =Y 1 531 K SHTIE MR 22
713 X1 3R =Ry 1 531 K AT IE Mgt 24
714 F 7K H =Y 2 1015 KA IE Mgt 24+
715 HEH I =Y 1 390 K SHTIE MR 22
716 & =Ry 1 531 K EATIE Mgt 24+
717 PR 7 =Y 1 531 TR AT IE My 2o
718 2L =Y 1 531 K PSHTIE MR 22
719 T — kY 1 531 TR TIE HIVA A 25 2
720 0, 35 =Y 1 390 K HIE Mgt 24+
721 T =Y 3 1311 K 4HTIE MR 22
792 2 B 2 780 K AT I AR ZE 2
723 g =Ry 4 2077 K AT IE Mgt 24+
724 7K JE — 3 1311 TR eI MvA &2
725 F 4R =Y 5 2232 K SHTIE MR 22
726 i =Ry 1 390 K AT IE Mgt 24+
727 S0 A =R 5 2467 KA IE AN
798 A =Y 5 2608 K PEHTIE MR 22
729 En — Y 2 1015 K A IE MV AT 225
730 S 5 =Y 1 625 K HIE Mgt 24+
731 ¥i-EH =Y 2 1015 K EHTIE MR 22
732 S AR B 2 921 K AT I AR ZE 2
733 7 4 =Y 2 1015 TR TE MV Z5 25
734 ENES =Y 2 921 TR TE MVAAS 25 25
735 R % =Y 3 1311 K SHTIE MR 22
736 X3kt =Y 1 625 TR TE WA Z5 25
737 ET R =Y 3 1311 K HIE Mgt 24+
738 E 5 — 14 3 1405 K PSHTIE LY SRR
739 BV AY =Y 1 625 K EATIE VTN
740 e — =Y 2 1062 K HIE VU 2 os
741 A =Y 3 1311 K 4HTIE EYIN 25
742 EEX =Y 2 1156 K SHTIE I 2
743 KR 1 =Ry 1 531 K AT IE TN
744 AL EVE 2 780 K AT IE PO = os
745 e =Y 2 1062 K SHTIE VEYIR 225
746 E | =Y 1 531 TR A TE VO 2525
747 [k =Y 2 921 K HIE VOIS s
748 L kY4 2 1015 TR AT TE a2 25
749 F s 4 =Y 5 2373 A AT PEYIAS Ze o
750 R =Y 1 531 TR AT IE VO 2525
751 ik Tl =Y 1 390 K EHTIE EYIN 25
752 Pkt =Y 1 390 TR ST IE PEINR 2>
753 JE EVE 1 390 K AT IE U NEFN
754 Hi4E =Y 1 390 KA IE PO = os
755 e kY4 1 390 TR T TE FEIA 225
756 H1 ) =Ry 1 390 K EATIE L NEFN
757 1] 42 1] =Y 1 625 K AT IE VO 25 25
758 F {55 =Y 2 1062 TR ST IE FEIR 2
759 F 17tk =Y 2 1062 A AT PEYIAS 2o
760 ) WAk =Y 2 1062 K AT IE VO 2525
761 FiaH kY4 2 1062 TR AT TE A 225
762 Kb T =Y 1 531 K SHTIE I 2




763 TN =Y 2 1015 TR HTIE PEINR 2>
764 K 4 =AY 2 1062 TR eI PEINA 2
765 2t — Y 1 531 TR MHTIE YA 22
766 X2 ¥ — Y 1 390 TR EATIE PEINA 2>
767 Tk — A 2 921 TR eI PEINA 2
768 X =2 — Y 1 531 TR AT IE VEINA 2
769 Bk E — 14 1 625 KD IE Va2 2
770 % — Y 1 531 KD IE FEIA Z 2
771 JE BH — Y 1 390 TR SHETIE VEINA 22
772 XI| ] —1Y 2 1062 R IE FEIR 2>
773 FRE — Y 1 531 TR ATIE PEINR 2>
774 Ry =Y 1 625 TR iE PEINA 2
775 EANE — 4 1701 TR MHTIE YA 22
776 B — Y 3 1311 TR EATIE PEINR 22>
777 R — A 4 1842 TR MHTIE YA 22
778 JEH 5 Uiy — Y 1 531 TR SHETIE Va2
779 FokA =AY 2 1015 TR MATIE FEIR 2>
780 Bk R ZE — Y 4 2030 K HTIE FEIA Z 2
781 0, i =Y 4 1842 KOS IE VEINA 22
782 il =AY 2 1015 TR EATIE FEIR 2>
783 R — k4 1 625 K HTIE VEIA ZE 2
784 B SC — A 1 531 TR e iE PEINA 2
785 Ein=all — 1 625 TR MHTIE YA 22
786 KEZE =AY 1 625 TR EATIE PEINA 2>
787 TS50 — A 2 1015 TR MHTIE INER TS
788 FKE — Y 1 625 TR AT IE NIRRT
789 B EAH =AY 1 625 TR EATIE INERZR S
790 TR — 1 1 531 K HTIE INER TS
791 X IR — Y 3 1640 TR SHETIE NIRRT
792 X 5% — Y 1 531 TR MEATIE INERZ S
793 X4 — Y 3 1781 TR ATIE INER TS
794 X3 — A 1 390 TR iE NIRRT
795 gk ] — 1 531 TR MHTIE NIRRT
796 X5 = — Y 1 625 TR EATIE INER TS
797 T 3EE — A 1 531 TR eI NIRRT
798 TER — Y 2 780 TR SHETIE NIRRT
799 S — 2 1015 TR MATIE INERZE S
800 ELE — 14 1 390 R D IE INER TS
801 SR ] — Y 3 1311 TR SHETIE NIRRT
802 EEF =AY 1 390 TR EATIE INERZ S
803 e — Y 2 1015 TR MATIE INER TS
804 XI5 I — A 2 1156 TR e iE NIRRT
805 AN — 5 2608 TR MHTIE NIRRT
806 iKfEE — Y 1 390 TR EATIE INER TS
807 TR — A 1 531 TR i NIRRT
808 Xl 7k 4 — Y 4 2077 TR AT IE NIRRT
809 75 — Y 4 1983 TR ATIE INERZR S
810 XI| % — Y 4 2077 K A IE NENE S
811 T — Y 3 1687 TR SHETIE NIRRT
812 X g 5 — Y 4 1701 TR MEATIE INERZ S
813 Al — Y 1 531 TR ATIE INER TS




814 | xiiiz | py _
515 | XU EE ; e ABTE NN 2
816 | M | Y 2 1062 A in INTSERS
817 FESS — 1 AOHTIE N T o
818 R = 5 625 IR AT IE INFERS T L
819 Tk = : }8}5 APUE NFERE 2
AN — 5 YEYYIET
820 | TAAl | 2 1015 Al | A a
821 e = 5 Ao HiE JNZE R T A
822 1] == — 1015 K4 ATIE INFER T
XEE | = 1 625 Yy FHEe
823 | mi | = |6 2998 AU | AR S
soa | Mokt | —f 1 390 T
825 | il | = 2 19 e B Z 2
826 | Fax =T 50 K4 IE RN
827 | Jri | =t : o2 AOUEIE | WENES
— — SNV 4
828 | WooHe | AN 1 62250 A HE R
829 BT = D KL IE 7 L 7
830 | WM | . 1452 O | WA
83 | o | : 1780 KA it — R
— — 3 N/ 4 .
532 | mhte | = | - S TN
== N 7. S EAM» 5 A
833 FI58 = 3 1546 S fif L2 —HNER
834 i ) = IR AT IE =R
L 2 1156 Ol — el
835 JE S H =y 9 7]‘\(/%%13:@: Y
536 | ZiaE | 780 R4 IE N
837 | i | = } 625 ACHEE | —whES
838 | Tl = 390 KA IE BT
839 YR H =Y 2 PN B O
810 | #ugl | = | 1 531 s SHNES
YT I T Y 31 ARSI | —EiEs
842 | @l | —f4 1 531 ?Q%i— BTN
oy = 7K 2% A e D
843 T8l =1 2 1t6 B L —HHER
844 B 7 — IR AT IE =R
N 3 1781 Yy — bR
845 KA N — 5 ACHIE —ENRS
sa6 | e | p 1156 RO IE N
847 e — L 625 KB IE =N TS
o = A 1 625 KON T — =
818 | Al | — 1 390 L SN
849 B =15 3 1405 ?&@g — 2z
- — JK 7S =A% s N
850 TR= Y 3 1405 i &f o iiﬁ%z‘
851 | grid |k I 625 AXEE | —WHES
852 | tkT | =t 1 625 EPHTT MY 5
e — VANYAS =A% s N
855 | gt | 4% ) 1015 B Ll BT
854 S H = 5 ACHIE B
855 7 = 1062 AL =
856 | A | =M L 390 KL —ENES
—_— VYA = =i 5
858 | i)l | 1 531 ?Q?E JOUHE 2
859 TEH — 1 1 531 Lt A Z o
Bo0 | #uem | = | 1 AL | AOHE S
861 | A% | b : 390 KA KON B
862 T 780 ACHEIE | AU E S
PRIGEE | 2 921 KO I YT,
863 | whews | 4y 2 921 K&;]g AN E 2
864 /N =Y 1 625 2L AT
KB SRR




865 B A =Y i
565 ?{th{nzj EE ? 134952 7}(%1&]@ TR T
508 e - : 1 0 7](;%1%{@ KM RS
S67 Eak =t : 1(7)81 77,‘(\4\@3 TR 2
565 bt =8 3 1462 73,\4\?{@ TR TS
569 b — 52 73%1%{@ KM TS
=Y 1 390 T Ve 2
871 7K =14 2 921 O i {E{ﬂﬁﬁx
872 J#k R I = 2 780 7?(@%{&% s
873 FEMRAR — 1 390 7?(@&{‘@ %}Emﬁéé
874 R ] — 4 1 531 ﬂ‘(f‘ifi{]“ﬁ ﬁmﬁ%é}
3 L 1 - —L jﬁﬁgai {E?ﬂﬁé%
876 E'E — Y 1 531 7?(@%{‘@ s
877 K% — 1 4 184 ﬂ‘(f‘\ﬁp‘ﬁ s
ST7 T & 1 6252 ﬂ;iﬁyé Jein it 2o
o AcecE i 1 2 73@%{@ P Z 2
880 KA ] =AY 1 531 ﬂ‘(f‘jﬁj‘ﬁ %Wﬂé%
881 B 't H =14 1 625 ﬂ‘(f‘ifi{]“ﬁ ﬁmﬁ%é}
882 2K JE = 2 106 7?(@%{&% s
= o 1 1 2 73,\@;@3 Tz 2
553 & S 531 TR MHTIE AL N
=R R — Y 1 625 KL AT T ~
885 Bk 2 B =AY 3 1311 g f‘j = ﬁﬁﬁé%
o L =5 1 L 73@%{@ P Z 2
887 i 4 1 i ﬂ;i\\fipé Jein i 2o
888 KAEE — 1 622 ﬂﬁiﬁj“ﬁ s
- i i 1 b 73@%{@ P Z 2
890 HHZ — 1 53? ﬂ‘(f‘jﬁj‘ﬁ %Wﬂé%
891 KA =Y 2 1156 ﬂ‘(f‘ifi{]“ﬁ ﬁmﬁ%é}
s 2L =& ; = 7&\1&;{% TR Z 2
802 i =t 5 7?(%@@ T ZE 2
] — A 1 625 KIS Yoy PN
894 Bt P %% =Y 2 780 i = {E{ﬂﬁﬁx
81 ZAg =4 1 150 ﬂg,\figgai IR &2
896 Hria — A 1 53 @@ﬁ@ e
897 i=1=! — 1 2 9 1 @%{J‘E SRSt o
898 daBH — 1 33(1) @\{%{J“E %//I\Eméﬁéé\
899 T e ke =AY 3 1452 @@ﬁ@ RSt s
99 Bl == : L5 ﬁ{’qﬁ;é WA R 22
0 e = : L @{’@@E WAWR 22
902 LHME — 4 4 193 @%&é SRS o
207 Ao - : 1936 E{’@Jﬁﬁ Y El N
205 L = 1 6256 @{’@@E WA 22
905 RN = 3 1452 @%{&Eﬁ RSt o
o PN = : 1 E{’@J ﬁfai WA 252
06 R L 1 1 ﬁ{@ﬁpﬁ WAWR 22
01 e S 625 AL WAWR 22
YN | — 3 1452 Ph VA BT IE WA P
909 SIEES =Y 5 2608 ] i {/E e
a0 ot 4 1 “ ﬁ{@ﬁpﬁ WA R 22
911 AN =Y 1 391 @%{]“E e
912 =EIDIR — 4 2 92O @%&é e
913 IR ) — 1 531 E@ﬁﬁ T
914 EtE A — Y 1 5 1 @%{]“E S
915 SR — Y 1 521 @%{&Eﬁ s
PHYA TS FXRIEMNZES




916 Hu S 1 390 PHYA TS FXRIEMNZES
917 ki — A 2 921 VH VA 18 EXENZ=
918 HEX S Uk — 1Y 1 531 iR EXENZS
919 XI| JEE v 2 1015 PHYA SIS FRIEMNZES
920 Rl — A 1 625 VH YA 18 FEXENZ
921 K — Y 2 921 il FERENZE 2
922 KFA] =AY 2 921 FHYVA AT LB A 22
923 DEN — Y 1 390 PHYA AT LI A 22
924 MR — Y 1 531 AL SKIET R &2
925 X T — Y 1 390 FHYA TS LI A 22
926 ane=gl — Y 1 531 PHYA TS LI A 22
927 BRI — A 2 780 VH YA 18 LA 2
928 F kK — 2 921 AL SR & 2
929 X RS — Y 1 390 VE YA T IE LI A 22
930 b B — A 1 625 VE YA 18 LI A 2
931 KAl S — Y 1 625 iipAKE SKIET R & 2
932 X2 — Y 1 625 FHYVAATIE LB A 22
933 AL — Y 4 2077 o VA T TE A H s A S
934 B B E =Y 2 1015 VU YA 18 A E s A 2
935 k5t =14 3 1170 PE VA T 1E A s A S
936 2=k — k4 1 390 VE VA BT IE NG N N
937 TUMEE — A 3 1546 VH VA 18 L HH A RS
938 fA] 5= BH — 2 921 i A B A 2
939 BEF =AY 1 625 Ph VA BT IE A E s A R 2
940 A & 4E =AY 1 625 VH YA 18 e I N
941 g — Y 1 390 VU VA 18 A E s A 2
942 2K =14 2 921 7o VA T IE A A RS
943 Sl — Y 1 531 PHYA AT T A S
944 56 — Y 1 390 VU YA 18 T rH S A 2
945 251k =Y 5 2467 FHYA TS T A RS
946 BN =Y 4 1842 PHYA TS A RS
947 K — A 1 390 VH YA 18 K E VAR T4
948 Giowan — 1 531 i K EVAR 22
949 PV E) — Y 1 390 PHYA ST K E VM 255
950 TFEFE — A 1 531 VE A 18 KB VAR 2R 5
951 = /KA — Y 3 1452 iipAKE IKEVAR 22
952 F4ME =AY 2 1062 FHYVA TS KB VAR 255
953 MiE = — Y 1 531 PHYA AT KB VAR 255
954 XIJ — Y 3 1311 AL K VAR 22
955 A — Y 3 1452 FHYAATIE RSN
956 PRI e 3 1452 PHYA TS KBRS 255
957 XS — A 2 1062 Vu VA 18 BOERNZS
958 A I — 1 531 AL BOERNZS
959 R4 =AY 1 390 PHYA AT BhaENZS
960 R — A 2 780 VH A 18 BOERNZS
961 XI 2 — Y 2 780 iipAlE BOERNZS
962 (B2 — Y 3 1311 7o VA T IE —E A RS
963 = K — 4 3 1311 VE YA ETIE —EA RS
964 B — Y 1 531 VU YA 18 —E A
965 ZE — Y 3 1311 PE VA BT 1E AR
966 X — Y 1 531 VE VA BT IE —ENES




967 X1 D) — Y 1 531 VH VA BT IE —ENES
968 Fk — A 1 625 VH VA 18 —EMA RS
969 F1E — Y 1 625 iR —IEA RS
970 7K B B — Y 2 780 Ph VA BT IE —IEF RS
971 F&ER — A 3 1170 VH YA 18 —EA RS
972 S — Y 1 625 il VAR
973 P 5 PR Y 2 780 FHYVA AT (AR
974 XN = — Y 1 531 PHYA AT YA RN
975 TR ik — Y 1 390 AL YRR 22
976 AL =4 2 1062 PE VA BT 1E IZHIAR 2o
977 L 1E#k =AY 2 1062 VH VA BT IE IR R 252
978 5 — A 1 531 VH YA 18 IZHIAR 255
979 HEE — 2 921 AL pra AV R N
980 X P4 — 1 390 PHYA ST Y b b 2o
981 XI5t & — A 1 531 VE YA 18 Y b A2
982 T&HME =AY 3 1405 iipAKE Vg b2 o
983 HEAL =AY 1 390 7E VA T 1E VRN
984 Py — Y 1 390 o VA T TE VRN
985 EIEE — Y 1 531 i WA 22
986 T =14 5 2373 PE VA T 1E VRN e
987 ] — Y 1 390 PHYA TS R U)oy A 2 o
988 fifE 4 =Y 2 1062 VH VA 18 MU A
989 HZE — 1 531 E xR SR BN T
990 miA L — Y 1 531 R AR BN
991 T &k — A 1 390 xR e N
992 Xz oy 1 571 E X R A EN TS
993 [ P — 14 2 1062 [EE& R SR EN TS
994 Elzzun A 2 1001 R R SR EN T
995 915 — Y 1 531 X R R EN T2
996 FE — Y 1 625 ER R SR ER T
997 X £ — Y 1 531 R SR EN TS
998 PURE — A 2 1062 E xR SR BN T
999 XI| ] #5 — 1 531 E xR SR BN T
1000 X254 — Y 1 531 E R SR ER T
1001 X RK A, — A 1 531 R R e
1002 TR — Y 1 531 SR MR EN TS
1003 e — 1 1 390 [EE& R SR EN TS
1004 K ] — Y 1 625 R R SR ER T
1005 X1y A =14 2 1062 E X R R EN T2
1006 B AE — 14 1 531 ER R SR BN T
1007 FNIHAE — Y 1 390 EX R SR EN TS
1008 AhEL — A 1 531 E X R SR BN T
1009 =i — 1 531 E R SR BN T2
1010 R4 — k4 1 531 [EE ! EREN TS
1011 XI4F 2% -y 1 571 xR e N
1012 o — Y 1 531 E X R A EN TS
1013 AR — 14 1 531 [EE& R SR EN TS
1014 o — 1 1 390 o R AR BN
1015 2= B — Y 2 1062 X R R EN T2
1016 EEE: A 1 571 ER R SR BN T
1017 X F& 2% -y 1 571 R SR EN TS




1018 ZRIX HE — Y 1 531 ER R SR EN TS
1019 W e 4 2002 E X R SRR T
1020 R A — Y 2 1062 E R SR BN T2
1021 X &+ — k4 1 390 e EREN T
1022 R — A 1 390 xR SR BN T
1023 TAE Y 2 860 E X R MR EN T
1024 PR — 14 2 1250 [EE& R SR EN TS
1025 M2 — 1 1 625 [RE ! SR EN T
1026 R — Y 1 531 X R R EN T2
1027 R — Y 1 390 ER R SR ER T
1028 ey — k4 1 531 [EE R SR EN TS
1029 KR — A 2 1156 E xR SR BN T
1030 O — 1 625 E R SR BN T
1031 ik 1fi D) =14 1 531 E R SR ER T
1032 LGl — A 1 531 E xR e N
1033 Jii 7 [ — Y 1 531 SR MR EN TS
1034 KR L — Y 1 625 EX R SR ERN TS
1035 IR=RIz] — Y 2 1062 R R SR ER T
1036 EEE — Y 1 531 X R R EN T2
1037 2= — 1 3 1546 [EE ! SR EN T
1038 XN &= — k4 1 531 [EE ! SR EN TS
1039 ZEARkE — A 1 531 E R R SRR T
1040 L fh — 1 390 E xR SR BN T
1041 Teel = — Y 1 625 E R ERER T
1042 S — A 1 625 xR e N
1043 e — Y 2 1015 E X R A EN TS
1044 R — 1 531 EX R SR ERN TS
1045 AR, — Y 1 531 R R SR EN T
1046 YR — Y 1 531 e SN
1047 )T — 1 1 531 [EE ! SR EN TS
1048 XIS — k4 1 390 [EE ! SR EN TS
1049 FEH — A 2 1015 E xR SR BN T
1050 21k ik — 1 531 E xR SR BN T
1051 BINE — Y 2 921 E R SR ER T
1052 Fik% — A 1 390 R R e
1053 MR — Y 1 531 SR MR EN TS
1054 EEE — 1 390 EX R SR ERN TS
1055 [EIEE — 14 1 531 R AR BN
1056 5iETt — Y 2 921 E X R R EN T2
1057 ZEREHE — 1 2 1156 [EE ! SR EN TS
1058 XI] [ 4 — k4 1 625 [EE R SR EN TS
1059 WEHE — A 2 1015 E X R SR BN T
1060 BRIk — 2 1250 E R SR BN T2
1061 ZEUnEE — k4 2 1062 [EE ! EREN TS
1062 TR — A 1 531 xR e N
1063 s — Y 1 625 EE& R A EN TS
1064 F i — Y 2 1062 EX R SR ERN TS
1065 A — Y 1 531 R R SR ERN T
1066 XE ST — Y 1 625 X R R EN T2
1067 WS i — Y 1 531 ER R SR BN T
1068 X136 Al =Y 2 1156 [EE ! SR EN TS




1069 Al X — Y 2 780 ER R SR EN TS
1070 L — A 2 1015 E X R SRR T
1071 X512 — Y 1 390 E R SR BN T2
1072 W& — 2 1062 E R SR ER T
1073 B — A 1 390 xR SR BN T
1074 Bt — Y 2 1156 E X R MR EN T
1075 i -y 1 571 R AR BN
1076 XI4% B — Y 2 780 R R SR EN T
1077 15 7K 5k -y 3 1807 X R R EN T2
1078 25N =Y 3 1170 ER R SR ER T
1079 2o gk — Y 1 665 EX R SR EN TS
1080 $yR 1 — A 2 780 E xR SR BN T
1081 25 B A 1 665 E R SR BN T
1082 52323 =Y 1 531 R AR MR 2 2
1083 TR =AY 1 390 E xR MR T2
1084 A% 2 — Y 1 531 R AR S
1085 THEE — Y 1 531 EX R AR
1086 T g =AY 1 531 R R MR
1087 X E — Y 1 531 X R MR 2
1088 X B =AY 1 531 R R MR T
1089 T RPR =Y 1 390 R AR
1090 SiER =AY 2 1062 E R R TS MR T2
1091 e 4E NI — 3 1311 E xR MR Z 2
1092 TR =AY 2 780 E R AR T2
1093 R =AY 4 1936 xR MR T2
1094 E BN — Y 2 921 E X R LA MERZ 2
1095 TR =Y 3 1546 EX R AR
1096 XEHE — Y 1 390 R R MR
1097 X T =Y 1 390 e MR 2
1098 2K — Y 2 1015 ER R AR T
1099 ZE[a B =AY 1 625 R AR
1100 K R =AY 1 625 E xR AWM T2
1101 BKE — 2 1156 E xR AN T2
1102 R =AY 1 390 E R AR T2
1103 | FrEdiE | =Y 4 1983 R R MR T2
1104 A5 — Y 1 625 SR L AMERZ 2
1105 F 55 — 1 625 EX R AR
1106 A= AR =AY 2 921 R R MR
1107 X RGE — Y 1 390 e MR 2
1108 T A =AY 1 390 ER R MR T
1109 X [E =AY 3 1311 EX R AR
1110 TKiEAE =Y 2 1062 E X R TS MR T2
1111 EE =Y 1 625 E R AP T2
1112 B — Y 1 390 R AR MR 2 2
1113 TIR7E =Y 3 1781 xR MR T2
1114 XIEE — Y 2 1062 e LA MERZ 2
1115 (ARED =AY 1 531 EX R AR
1116 X F =AY 4 1842 R R MR
1117 EIFSS — Y 2 1156 X R MR 2
1118 X FEE =4 2 1156 ER R AR T
1119 T JREE =AY 2 1015 R AR




1120 S =Y 2 1156 ER R AR
1121 XK 7 — A 1 531 E X R HIHRANES
1122 X3 3L — Y 3 1452 E R B Z 2
1123 X% B 3 1431 E R MM TS
1124 XN Y 1 665 xR RN TS
1125 THER —1 1 430 E X R RN ES
1126 JFEGE /N =Y 1 531 EX R BRI TS
1127 R — Y 1 625 R R B HR AR T2
1128 (BN — Y 1 625 X R RN E 2
1129 PR — 4 2 1015 ER R EMER 2
1130 X3 AR — 4 2312 EX R EMERZ 2
1131 itk —Y 2 921 E xR EWIERNZ 2
1132 ENE — 2 921 E R EMENZ 2
1133 + &8 —Y 3 1452 E R EMER 22
1134 7k [ — 1Y 2 1156 e EMENZ S
1135 5 15 — Y 3 1452 e KA EMENZ 2
1136 RS =AY 1 390 EX R EMERZ 2
1137 AR =AY 1 390 R R EMIENZ 2
1138 A % -y 1 665 X R EMIENZ 2
1139 ME = — 1 3 1170 [EE ! EMEN T2
1140 BiAy — k4 1 531 R AR EWENT S
1141 Pt — A 2 1062 EE&R: ! EWERNZ 2
1142 BEE — 2 1015 EER: EMIENZ 2
1143 X2 AE — Y 1 531 E R EMEN T2
1144 B — A 4 1701 xR FEWERZ 2
1145 BB — Y 1 390 E X R EWENZ2
1146 X gk ik — 1 531 EX R EMIENZ 2
1147 2= R — 1 1 625 [RE ! EWENZ 2
1148 X 5] 2% — Y 1 625 EE &R EMIENZ 2
1149 2R =4 1 625 ER R EMENZ 2
1150 RN — Y 1 625 R AR EWENT S
1151 B ERA — A 2 780 E xR EWER T2
1152 2N — 3 1311 E xR EWERN T2
1153 ZEf i =AY 1 390 E R ARIATZE 2
1154 PR — A 3 1311 m X R AR ZE 2
1155 HIRTA — Y 2 1015 R AR ZE 2
1156 KI5 1y =Y 1 625 EX R ARIFT 2
1157 e | — Y 4 1936 R R AR T2
1158 = E — Y 1 390 e AR ZE 2
1159 JeE % 1% — Y 2 780 ER R AR AT ZE 2
1160 2= =AY 1 390 EX R ARIAT 2
1161 FH Jik — A 3 1452 e AR ZE 2
1162 Tt 5 — 2 1015 E R AR ZE 2
1163 gk RA~ =Y 2 1015 E R R ARIFTZE 2
1164 K14 — 1Y 2 1156 e AR ZE 2
1165 7Kk 1 — Y 4 2077 m X R AR AT ZE 2
1166 K 4kt — Y 2 1156 EX R AR A2
1167 KA A 1 571 R R AR 2
1168 Ji 75 K — Y 1 531 X R DR IENT2
1169 FEE AR — 1 1 390 [EE ! ORENZES
1170 HH =AY 1 531 R ORENZS




1171 5| ik — Y 1 390 ER R ORENZS
1172 S¥E — A 1 390 E X R LR ENZE2
1173 f=-a =Y 1 531 E R DR IENZE 2
1174 AR50 — Y 2 1062 E R ORENZ2
1175 EfEAN — A 1 390 xR LR IENZE 2
1176 B 5| ik — Y 1 625 E X R ORENES
1177 RS =Y 2 921 R AR L RER T2
1178 Ak — Y 1 531 R R ORENZS
1179 TN — Y 2 1062 X R DR IENT2
1180 H %% — Y 1 531 ER R ORENZES
1181 0 =AY 2 780 EX R ORENZS
1182 MF — A 1 390 E xR LR ENZES
1183 B2 i — 2 1250 E R DR IENZE 2
1184 A — Y 1 390 E R ORENZ2
1185 ARt — A 3 1546 E xR LR IENZE 2
1186 4Tt — Y 2 1015 SR ODRENES
1187 B g =AY 4 2077 EX R ORENZES
1188 X FI — Y 2 1250 R R ODRENZES
1189 EEINE -y 3 1572 X R DR IENZE2
1190 X4 =Y 1 531 R AR KRR T o
1191 XIEF =Y 1 625 R AR KRR o
1192 R e 1 571 E R R TN R 255
1193 AP AL — Y 2 1062 E xR RAER 22
1194 X1 HE =Y 1 531 R AR RFNER T2
1195 X 25 — A 1 531 xR TN R 255
1196 X &5 — Y 4 1936 E X R KRR T35
1197 HEEE — 14 2 921 R AR KRR o
1198 TR AR — 4 1 390 R R AR 252
1199 X[ Fe =AY 2 1156 [EE& R RN R 255
1200 KIBUPR =Y 1 390 i R AR KRNI T o
1201 AL =Y 2 1250 R AR KRR o
1202 PEAL — A 2 1062 E xR TN R 255
1203 X2, — 2 780 E xR RAER 22
1204 1k SR — k4 1 625 R AR KBRS
1205 XI] S — A 1 625 R R TN R 255
1206 K — Y 1 390 SR RAER 22
1207 Ly 2 — kY 1 665 R AR KRR o
1208 {EZ3% -y 1 430 i R KRBT
1209 fe) % 22 — Y 1 531 E X R RN 22>
1210 BE X — Y 1 531 i R AR FERIAMN TS
1211 o R =AY 2 1015 EX R ZERIAMN T2
1212 i — Y 1 390 E X R FERIAN Z 2
1213 AR L — 1 390 E R ZRIAN T2
1214 ik E & =AY 1 531 E R R ZERIAM T2
1215 TR — A 1 625 xR TR T2
1216 PRl — Y 1 531 e RV ZE 2
1217 5 A =AY 1 531 EX R RN T2
1218 RERR =Y 2 1062 o R AR RN TS
1219 R =14 1 531 X R ZRIANZ 2
1220 TR — Y 1 531 ER R RN T2
1221 ¥75 75 — Y 1 531 R AR ERIAMN TS




1222 K 4k — 2 1062 e ZERIAMN T2
1223 SR — Y 1 390 SR RN T2
1224 [ B — Y 1 531 E R ZRIAN T2
1225 B EM =Y 1 531 R AR ERIAMN TS
1226 = — A 1 531 SR TR T2
1227 M — Y 2 1062 R B RV ZE 2
1228 PR — Y 1 531 EX R ZERIAMN T2
1229 IEIBN A — Y 1 531 R R BRI T2
1230 K Ul — Y 1 531 X R ZRIANZ 2
1231 = AL =4 1 531 ER R RN T2
1232 [ 155% =AY 1 531 EX R ZERIAMN T2
1233 BH R — A 2 780 E xR TR T2
1234 KL — 5 2561 E R RN 22>
1235 25 SR HE =Y 2 1156 E R RN 2
1236 JHER — A 1 390 E xR TR T2
1237 Tk fE — Y 1 531 SR ZRIANZ 2
1238 K e — Y 1 531 EX R RN 22
1239 * A — Y 2 780 R R BRI T2
1240 I A 1k — Y 1 531 X R ZHRIANZ 2
1241 il e — Y 1 531 R R ZRIAR T2
1242 1) o [ — Y 1 625 R ZERIAMN T2
1243 X AR — A 1 531 E R R TR T2
1244 g2 — 1 531 E xR RN T2
1245 BERAR Ry 1 571 e BRI 22
1246 A — A 1 390 xR TR T2
1247 KBk — Y 4 2312 E X R ZRIANZ 2
1248 REYEE — 14 2 780 [EE& R RN 22
1249 2= B i =AY 2 1062 R R BRI T2
1250 = R — Y 1 390 X R RN 22>
1251 R =4 3 1452 ER R RN T2
1252 St =Y 1 390 R ZERIAMN T2
1253 KE — A 4 2265 E xR TR T2
1254 BER — 1 625 E xR RN T2
1255 g tE =AY 1 531 E R ZERIAM T2
1256 i — A 1 390 R R TR T2
1257 R — Y 1 390 SR ZRIANZ 2
1258 BE =Y 1 531 R AR FERIAMN TS
1259 JeE 5 — 14 4 1936 [RE ! RN 22>
1260 BRI — Y 1 531 E X R ZRIANZ 2
1261 XA =Y 1 531 ER R ZRIAR T2
1262 A — Y 1 531 EX R ZERIAMN T2
1263 R — Y 1 531 E X R TR T2
1264 E1 S A — 1 625 E R ZRIAN T2
1265 KEA =AY 1 531 E R R ZERIAM T2
1266 R an — A 2 1062 xR TR T2
1267 iR — Y 1 531 E X R ZRIANZ 2
1268 JFEREAK =AY 1 625 EX R RN T2
1269 AN —Y 3 1311 R R BRI T2
1270 B — Y 1 625 X R ZRIANZ 2
1271 JEAETR — Y 1 390 ER R RN 22
1272 BT — Y 1 531 R ZERIAMN T2




1273 S — Y 1 531 ER R ZERIAMN T2
1274 AR — A 2 780 E X R RN T2
1275 AR I — Y 1 531 E R ZRIAN T2
1276 KI5 g — Y 1 625 E R AN 22
1277 K IR — A 1 390 EEN RIS 22>
1278 M=% — Y 1 531 E X R ZRIANZ 2
1279 b5 — Y 1 531 EX R ZERIAMN T2
1280 K72 =AY 1 390 R R BRI T2
1281 R RS — Y 2 780 X R ZRIANZ 2
1282 JeE B — 1 2 1015 [EE ! BRI 22
1283 J B 3 — Y 1 390 EX R ZERIAMN T2
1284 X — A 1 390 E xR TR T2
1285 AR — 2 1015 E R ZRIANZ 2
1286 AT — k4 2 780 [EE ! BRI 22
1287 5] ik — A 1 390 E xR TR T2
1288 B SCHI — Y 3 1640 EE&R: ZRIANZ 2
1289 JFEAR AR A 2 1095 EX R ZERIAN T2
1290 K AR A 1 430 R R BRI T2
1291 KRR — Y 2 1156 X R ESEAIIESS
1292 X g — Y 1 531 R AR EESIIEETS
1293 X BULE — Y 1 531 R SENIINERS
1294 EAR e 1 571 EE&R: ! EENINESS
1295 XIS — 1 531 EER: SEAIIGESS
1296 7Kk | — Y 2 1250 R AR EESIIEETS
1297 K — A 2 1015 xR EENIINESS
1298 KELE — Y 2 780 E X R SESIIESS
1299 X EF5 — Y 1 390 EX R SENIINESS
1300 e 1= A 1 571 o R AR SEIINESS
1301 LRE -y 1 665 EE &R EEAIIESS
1302 AR — Y 1 390 ER R SENIINESS
1303 HXUE -y 1 571 R AR SENIINERS
1304 EfE — A 1 531 E xR EENIINESS
1305 Tk 4 4k — 1 531 E xR SEENINNESS
1306 L — Y 1 531 E R SEIINERS
1307 XA -y 5 2432 HEAR! EENIINESS
1308 FRE — Y 1 390 SR H M Z 2
1309 =N Y 3 1572 R AR SENIINESS
1310 AR A 1 571 R R SEIINESS
1311 S — Y 1 390 E X R EEAIIESS
1312 SPNE| — Y 3 1546 i R AR SEIINESS
1313 XA A 1 571 EX R SENIINERS
1314 X IR A 1 571 E X R EENINNESS
1315 kP 1 2 1142 E R SEENINNESS
1316 1 Y 5 — Y 1 390 E R R SEIINERS
1317 1 i -y 1 430 xR EENIINESS
1318 X g — Y 2 1250 EE&R: SESIIESS
1319 S =4 1 625 e EESINESS
1320 AN — Y 1 625 R R SEIINESS
1321 K — Y 1 390 X R EEAIIESS
1322 HA- — Y 1 390 ER R SENIINESS
1323 H¥x — Y 4 1936 R SENIINERS




1324 HKz =AY 2 1062 ER R SENINERS
1325 e — A 1 531 E X R EENIINESS
1326 B AE — Y 2 780 E R SEENINNESS
1327 XA — Y 2 1015 E R SEIINERS
1328 e 0 — Y 2 1062 EEN EENIINESS
1329 XI55 — Y 4 1983 E X R SESIIESS
1330 A fi% =AY 2 780 EX R SENIINESS
1331 EEIN — Y 2 780 R R SEIINESS
1332 1 SCH — Y 1 390 X R SEAIIESS
1333 X TLER =4 2 921 ER R SENIINESS
1334 EpEs — kY 2 1142 EX R SENIINERS
1335 [l -y 1 571 E xR EENIINESS
1336 H&EAE — 1 390 E R EENINNESS
1337 2 —Y 3 1452 E R RH WAy 25 22
1338 I R — A 1 531 e FHEEA 222
1339 SR — Y 1 531 EE&R: PH A Z5 22
1340 SEE Y 1 430 EX R RH WA 25 22
1341 FH1E -y 2 1236 R AR PHEER 25 2>
1342 25| )L — Y 1 531 R FHEEA 222
1343 JeE PR v 1 531 R R RH WA 25 22
1344 X NHES —1Y 3 1546 R RH A 25 22
1345 TR BEAE -y 1 571 EE&R: ! FHEEA 222
1346 ¥t B — 2 1015 EER: FHEEA 222
1347 FiE15 B 1 430 E R RH WA 25 22
1348 5 AR -y 2 860 e FHEEA 222
1349 B/ Y 2 1142 [EE&R! FH IR 2 &
1350 X EKEK — 1 531 EX R RH W Af 25 22
1351 B AL -y 1 571 o R AR PHEER 25 2>
1352 BiF5 — Y 1 531 EE &R FH I A 25 2%
1353 EAEA — 1 1 531 i R AR BH A 25 2
1354 AL — 1 531 R RH A 25 22
1355 Ji X [X — A 1 531 R FHEEA 222
1356 K -y 2 1142 E xR FHEEA 222
1357 Bkt -y 1 571 E R RH WAy 25 22
1358 2 {4l — A 2 1062 m X R FHEEA 222
1359 2 HIF — Y 2 780 R FH A 25 25
1360 BE — 2 1062 EX R RH B Af 25 22
1361 2[5 -y 3 1666 R AR PHEER 25 2>
1362 HE =14 1 390 e FHEEA 222
1363 WEKR —Y 3 1452 i R AR PHEE A 25 2>
1364 FEE — 2 1062 EX R RH A 25 22
1365 X3 — Y 1 625 e FHEEA 222
1366 ik — 1 625 E R FHIEEA 222
1367 ZEELAR — 1 625 E R R RH WA 25 22
1368 2% [ — A 1 625 e FHEEA 222
1369 A — Y 1 625 EE&R: FH A 25 22
1370 [l =Y 3 1405 R AR FHIEA 2 2
1371 L — Y 1 625 o R AR PHEER 25 2>
1372 175 9% — Y 2 1015 R B FHEEA 222
1373 AR I —1Y 2 1062 ER R RH WA 25 2
1374 L ik — k4 1 531 R AR PHEEA 25 2>




1375 -4 — k4 1 390 R AR PHEEA 25 2>
1376 k) — 1Y 1 531 o R A FH A 25 25
1377 ME — Y 1 390 E R FHmEEA 222
1378 E e — 2 1156 E R RH WA 25 22
1379 Bl — 1Y 2 921 i R A BH B A 25 2
1380 | biwin — Y 2 921 E X R FHEEA 222
1381 FEE — 1Y 1 390 R AR PHEER 25 2>
1382 =75 — Y 1 390 o R AR PHEER 25 2>
1383 TR et — Y 1 625 X R FHEEA 222
1384 F s — Y 1 390 ER R RSN ZS
1385 ZRIG — Y 1 390 EX R PRISHNZS
1386 EE2 — A 1 531 E xR PR R 2o
1387 g — 1 531 E R PR A o
1388 XA A — Y 2 1062 E R PRISNZS
1389 =1 AR — A 3 1405 E xR PR A 2o
1390 R — Y 1 531 SR RIENES
1391 i — -y 1 430 EX R PRIBNZS
1392 7 AT — 14 1 531 R AR PEVEMN T2
1393 Y — Y 1 531 X R PR 2o
1394 IRER 4 — Y 1 531 R AR PEVEMNZE 2
1395 X B 5 — Y 1 531 R PRISHNZS
1396 X L — A 2 780 E R R PR R 2o
1397 RHGE — Y4 1 531 o R A PRV T2
1398 XIEEE — Y 2 921 E R PRISNZS
1399 1 — A 1 531 xR PRER o
1400 B — Y 1 531 E X R RIENES
1401 X 1R =Y 1 531 EX R PRIBNZS
1402 ER — 1 1 531 o R AR PEVEMN T2
1403 51 5k — Y 5 2373 e RIENES
1404 XIJAR 1 — 1 2 1062 i R AR PEVEMNZE 2
1405 XK -y 3 1431 R PRISHNZS
1406 . -y 4 2237 E xR PR R 2o
1407 FE R — 3 1170 E xR RIENES
1408 KRN S — Y 4 2171 E R PRIBNZS
1409 X &5 — A 1 625 R R PR o
1410 A E — Y 2 1015 SR RIENES
1411 X — 1 625 EX R PRISNZS
1412 EHST =Y 1 625 R AR PEVEMN T2
1413 Xk — Y 1 625 E X R RIBNES
1414 KGR — Y 1 531 ER R RSN ZS
1415 A =AY 4 1842 EX R PRIBNZS
1416 AL =4 1 531 E X R PR A 2o
1417 ] — 1 531 E R BRIBNES
1418 XA 5 =AY 2 1062 E R R PRISNZS
1419 ERA — A 1 531 xR PRER o
1420 Xl = % — Y 1 531 e BIENES
1421 =% — 1 390 EX R PRIBNZS
1422 = =Y 4 1842 o R AR PEVEMN T2
1423 X K — Y 2 780 X R RIENES
1424 R =Y 2 780 i R AR PEVEMNZE 2
1425 = Fi AR — 2 1156 R PRIBNZS




1426 = =Y 3 1546 ER R PRIBNZS
1427 % i — A 2 1062 E X R B Y e
1428 5 — Y 2 1156 E R BRIENES
1429 T =AY 1 390 E R PRIBNZS
1430 (AN A — A 1 390 xR WENES
1431 = AT — Y 2 921 E X R WENES
1432 B =AY 1 531 EX R WENZS
1433 XU kY 2 860 o R AR WENZS
1434 EERE -y 1 430 X R WENES
1435 5 el -y 1 571 i R AR WEMNZES
1436 o A fl =AY 1 531 EX R WENZS
1437 F itk — A 2 1062 E xR WENES
1438 o 1 1 — 1 531 E R WIS
1439 BkAE — 1 531 E R WENZS
1440 L — A 2 780 E xR WENES
1441 X il — Y 3 1170 SR WENES
1442 B2t — Y 2 780 EX R WENZS
1443 Ao — Y 1 625 R AR WENZS
1444 12 8 — Y 1 625 X R WENES
1445 EERIA:; —Y 1 625 R R WENZS
1446 e — Y 1 625 R WENZS
1447 Xk — A 2 1015 E R R WENES
1448 BOorsh — 3 1405 E xR WIS
1449 X 5] 56 —t4 2 1015 R AR WEMNZES
1450 AT B B — A 2 921 xR WENES
1451 ERAE — Y 2 780 E X R WENES
1452 X1 4 —1Y 2 1062 R AR WIS
1453 Eih —Y 2 1062 o R AR WENZS
1454 BRI — Y 2 1062 [EE& R WENES
1455 SR =4 2 1015 ER R WENZS
1456 phecl — 1 531 R WENZS
1457 R — A 4 2077 E xR WENES
1458 THEMK — 2 921 E xR WIS
1459 f IE =AY 1 390 E R WENZS
1460 T it — A 2 1062 R R WENES
1461 BIUE — Y 3 1546 SR WENES
1462 T — 3 1405 EX R WENZS
1463 kK el 5 — Y 4 1936 R R W R V&) A % 2
1464 HAEE — Y 2 1015 E X R W DR YA A 25 2
1465 =191 2R kY 1 430 ER R WL R V) A 7 2
1466 X £ — Y 1 531 EX R WL RR VA A R 2
1467 e 1 F — A 1 390 E X R W DR YA A 25 2
1468 25 A= =AY 1 531 E R IV R V) A 25 2
1469 e A 2 1236 E R R WL R V) A % 2
1470 PR — A 1 625 xR W DR YA Ao 25 2
1471 b fi 1k — Y 1 531 SR W DR YA A 25 2
1472 E5 8 — Y 1 625 EX R WL R VA A 2 2
1473 gkl A 3 1666 R R LB VA A % 2
1474 k5L -y 4 2143 X R W DR YA A 25 2
1475 X =/ — Y 1 625 ER R WL R V) A % 2
1476 mEE — Y 1 625 R WL R VA A 2 2




1477 k% 2 =AY 1 625 e WL R VA A R 2
1478 EREE;S =AY 1 625 E X R W DR YA A 25 2
1479 ZEF =AY 1 625 E R IV R V) A 2 2
1480 ERES — Y 1 625 E R WL R VA A % 2
1481 HIRTE =AY 1 625 BN W DR YA A 25 2
1482 BN — Y 2 1015 E X R W DR YA A 25 2
1483 X & =Y 1 625 EX R WL R VA A 2 2
1484 H =AY 1 625 R R W B V) A 2 2
1485 TR — Y 1 390 X R W DR YA A 25 2
1486 TR =Y 2 1062 B WL R V) A % 2
1487 kb £R =AY 1 625 EX R WL R VA A 2 2
1488 FRIE =AY 1 390 E xR W DR YA A 25 2
1489 XNE = =Y 1 390 E R IV R V) A 25 2
1490 I =AY 3 1687 E R WL R V) A % 2
1491 RSk — A 2 921 E xR W DR YA A 25 2
1492 ikt 4 — Y 2 1062 SR W DR YA A 25 2
1493 K oR g =AY 2 1062 EX R WL RR VA A R 2
1494 B =AY 2 1062 R R W R V&) A % 2
1495 AN — Y 2 780 X R W DR YA A 25 2
1496 XN EE =AY 2 1156 R R WL R V) A 7 2
1497 Hoaz =AY 4 1983 R WL R VA A R 2
1498 X4 5 — A 2 780 E R R W DR YA A 25 2
1499 XI5 — 1 390 E xR IV R V) A 25 2
1500 IR — kY 2 1142 E R WL R V) A % 2
1501 XIRAE -y 2 1095 xR W DR YA Ao 25 2
1502 A =Y 2 1156 E X R W DR YA A 25 2
1503 XI AT — Y 1 531 EX R WL R V] ) 2 2
1504 o ik 2 Ay 1 571 R R LR Y] A % 2
1505 FES =Y 2 1062 SR W R A 25 2
1506 2R =4 1 531 ER R WL R Y A 2 2
1507 2% — Y 1 571 R WL R V] A R 2
1508 A — A 2 780 E xR W DR A 25 2
1509 #HE Al =AY 2 780 E xR IR R Y ) 25 2
1510 AR 3K A 2 1142 E R L R Y] A % 2
1511 A — A 2 1156 R R W R A 25 2
1512 2k — Y 2 1062 SR IR R Y] ) 25 2
1513 JEHLE =AY 2 1156 EX R WL R V] ) 2 2
1514 ERep ) =AY 2 780 R R L R Y] A % 2
1515 E L — Y 1 390 E X R W R A 25 2
1516 i =AY 1 531 ER R WL R Y] A 2 2
1517 2/NF =Y 3 1311 EX R WL Bk V] A 2 2
1518 HIRK — A 2 780 E X R W DR A 25 2
1519 X =Y 1 390 E R IR R Y] ) 25 2
1520 51 HE BE =AY 2 1015 E R R L R Y] A % 2
1521 X — A 1 390 xR W DR A 25 2
1522 =l — Y 3 1781 E X R W R A 25 2
1523 75 P B =AY 1 625 EX R WL R V] ) 2 2
1524 2R =Y 2 1156 o R AR W R A 25 2
1525 i A — Y 2 780 X R W R A 25 2
1526 A BUR =4 4 1936 ER R WL R Y] ) 2 2
1527 EENE =AY 1 625 R WL R V] A 2 2




1528 E e — Y 2 780 ER R WL R V] A 2 2
1529 2= n)4E — A 1 531 E X R W DR A 25 2
1530 I 32 ) — Y 1 531 E R IV R Y] ) 25 2
1531 72 JU{E — Y 2 1062 R AR W R ] Ao 25 2
1532 HEEZ — A 2 1062 BN W DR A 25 2
1533 BUAR — Y 2 1156 E X R W R A 25 2
1534 P — Y 1 625 EX R WL R V] ) 2 2
1535 XIS — Y 1 625 o R AR W R ] Ao 25 2
1536 EEA — Y 2 1062 e W R A 25 2
1537 & A — Y 2 1156 ER R WL R Y] A 2 2
1538 HIE = 1 531 EX R WL Rk V] A R 2
1539 R — A 3 1311 R W DR A 25 2
1540 A A 2 1001 E R IR R Y] ) 25 2
1541 ZHIR — Y 2 1015 R AR W R ] Ao 25 2
1542 EASEN — A 2 780 e W DR Ao 25 2
1543 A — Y 3 1452 m X R IR R Y] ) 25 2
1544 Ek AL — 1 1 531 e BN
1545 X =R — 4 2 780 R R ZHRIER T
1546 EXA — Y 1 390 R ZIENE S
1547 A AR — 1 2 780 e P N
1548 T — Y 1 390 R ZERIERN T2
1549 e AR — A 1 531 EE&R: ! ZIENES
1550 KR — 1 390 m X R ZERIER T2
1551 FEE — Y 1 390 R AR RPN T2
1552 Ve — A 3 1452 e ZIENE S
1553 AR — Y 2 780 e R A ZHIENZ S
1554 FEHE — Y 2 780 R AR RPN
1555 XA =1 1 531 o R AR RN T2
1556 BENEYE kY 4 1861 EE &R ZEREN S
1557 WEL -y 1 571 i R AR ZERIER T2
1558 2 — k4 2 921 e RPN T2
1559 R — A 1 390 R ZIENZES
1560 BES — 1 390 E xR ZERIER T2
1561 XI4E ] — 1 531 E R ZERIER T2
1562 XIMR & — Y 1 390 HEAR! ZEREN S
1563 X4 A — Y 1 625 SR ZIENZ S
1564 X FERR — 3 1311 EX R ZERIER T2
1565 BRI — 4 1 390 R R ZHRIER T
1566 X AR — Y 1 531 E X R ZIENZ S
1567 KER — Y 1 531 i R AR P N
1568 A — Y 1 531 R AR RPN T2
1569 X #D b — Y 2 1156 E X R ZERIEN RS
1570 e — 2 1062 E R ZERIER T2
1571 K SE 7 — Y 1 625 R AR RPN T2
1572 SR — A 2 1062 e ZIENE S
1573 XIJ — Y 2 780 EE&R: ZIENZE S
1574 X HA =Y 2 1062 R AR ZERIER T2
1575 [ s — Y 1 531 R R ZHRIER T
1576 P ik — Y 1 531 R B ZIENE S
1577 Tr — Y 1 531 ER R ZERIER T2
1578 X 3% — Y 1 390 R ZERIERN T2




1579 X FA =1 1 390 e ZENERS
1580 BRI =Y 1 531 R B ZERIEN RS
1581 i — A 1 390 R B ZERIER T2
1582 XEE — 1 390 B ZENEZS
1583 BEAA, =Y 1 390 SR ZEREEN RS
1584 | 55 — 1Y 3 1452 FR B ZEREN S
1585 XA AE =1 2 1062 B ZMENERS
1586 Xl 55 — 4 2 921 B ZENEZS
1587 X FKAE, — A 1 531 FR B ZEREN S
1588 XA = 2 921 B ZENES
1589 XA = 4 1701 [EE TN
1590 JE A =Y 1 390 R B B s b2
1591 X EAE — 2 1156 FR B AN
1592 FEE R 3 1290 B R ATIIN
1593 REAE X =Y 1 531 FR B RN
1594 Jett A o Y 3 1760 R bR o
1595 X = 1 390 B R ETIIN E
1596 R3EAE = 2 1156 B R TIIN
1597 KEE — A 2 780 FR B RN
1598 =10 — 2 1156 B RTINS
1599 TR ] = 2 1156 [EE TN
1600 =t =Y 1 625 R B b bZE2
1601 JiTFF — 1 625 FR B BB R
1602 FEE =Y 3 1452 B Vel
1603 F 20 =Y 2 921 FR B b 2o
1604 Hik & — 4 1 531 FR B bt 2o
1605 HIK —1Y 1 531 B Vel
1606 ok AE =1 1 531 [EE AR ES
1607 AR — Y 1 531 R A oid 2o
1608 X B 4n =Y 3 1546 B Aoipi e
1609 B3V = 1 531 [EE Vel
1610 i =4 1 531 SR AN RS
1611 EEREE — 1 531 FR B Aokt o
1612 FEL T — 1 531 B Vel
1613 EES =Y 1 531 FR B ik os
1614 & — A 1 531 FR B b o
1615 V5 -y 2 1001 B Vel
1616 RIS =1 1 390 [EE AN RS
1617 XA 8 — A 2 1062 R A oibt e
1618 EEhEE] =Y 1 531 B Foipi e
1619 25| 5 =Y 1 531 [EE Vel
1620 RRKEK =Y 1 531 R B bt 2o
1621 BRI — 1 625 R B Aokt o
1622 HEHE — Y 1 390 B Vel
1623 A3 -y 1 430 FR B b 2o
1624 /T — 4 3 1311 FR B bt 2o
1625 H R =4 1 531 B Aok e
1626 TEK — 4 2 780 [EE AR ES
1627 )R — A 1 625 R A oid 2o
1628 HE -y 2 1095 B Aoipi e
1629 X 55 =Y 3 1546 [EE Vel




1630 20 —1Y 3 1546 ER R AN ZES
1631 P — A 3 1452 E X R AL
1632 2= VO pk — Y 2 921 E R At &S
1633 IR =AY 2 780 E R AN ZES
1634 2 — Y 1 390 EEN e
1635 2 — Y 2 1015 E X R At ES
1636 ik Ptk Y 1 390 EX R AN ZES
1637 2 PR — 1 2 780 o R AR A2
1638 BN — Y 3 1405 X R it
1639 oA =4 1 531 ER R AN ZES
1640 Tr 5 — k4 1 625 [EES ! A2
1641 X e % — A 1 625 E xR AL
1642 fEF AR — 2 780 E R At &S
1643 Y5 H — Y 2 780 E R AN ZES
1644 XK — A 1 625 E xR e
1645 SRR — Y 2 921 EE&R: AL
1646 PR — 1 390 EX R AN ZES
1647 kA — Y 3 1405 R AR A2
1648 X1 i — Y 2 1015 X R it
1649 il — 14 4 1701 R R AN ZES
1650 R =AY 1 625 R AN ZES
1651 K R — A 1 625 EE&R: ! bt e
1652 X M fe =AY 1 625 EER: At &S
1653 JEiEAE =AY 1 531 E R AN ZES
1654 pES — A 3 1452 xR e
1655 JE R A Y 3 1431 E X R A ES
1656 Ji SRR — Y 1 531 EX R AN ZES
1657 FELY — 2 1062 o R AR KR 22
1658 T — Y 1 390 m X R AR A 252
1659 KA — Y 1 531 i R AR IR AT 2 2
1660 =5 — 2 1156 R KA 22
1661 BELES — A 1 531 R KA 25 2
1662 a5l — 4 2171 E xR KA 252
1663 LB — 14 1 390 R AR AR ZE 25
1664 il — A 1 531 m X R KA 252
1665 K 4k B =Y 1 531 R KA 252
1666 & — 2 1156 EX R KA 22
1667 e — Y 2 1250 R AR AR ZE 25
1668 7k T — Y 4 1936 e AR A 25 2
1669 p) 4 T — 14 2 1015 ER R IR AT 2 2
1670 Tk PR Y 2 1015 EX R KA 22
1671 KZZE =AY 1 625 e KA 25 2
1672 Tk — 2 1015 E R AR A 252
1673 K I —Y 2 1015 R AR KR F 2
1674 K3 — A 2 1250 e KA 252
1675 gk 4k Rk — Y 2 921 m X R AR A 25 2
1676 FkE — Y 1 390 R AR KA 22
1677 FN — k4 3 1692 o R AR AR ZE 25
1678 % Uk — Y 1 531 R B AR A 252
1679 KA — 4 2 1015 ER R IR AT 2 2
1680 gk I 7 Y 4 1842 R KA 22




1681 Tk — k4 5 2608 [EE &R KR 22

1682 TrH g — A 3 1452 E X R el MU YA A 25 2
1683 X /N -y 3 1431 E R el A At 25 2
1684 M7 — Y 2 780 E R el YA A 25 2
1685 P — A 3 1311 xR el YA A 25 2
1686 = — Y 1 531 E X R el A At 25 2
1687 1A A 1 571 EX R pel A A 2 2
1688 = A =Y 2 1015 R R el VA A 2 2
1689 2B — Y 2 1015 X R e I YA ) 25 2
1690 BUNER — Y 2 780 i R AR el U A 2 2
1691 X HH AE — Y 1 390 EX R el YA A 2 2
1692 FKFF — A 2 1015 E xR el YA A 25 2
1693 X g AE — 1 531 E R el A At 25 2
1694 RS -y 4 2143 E R el VA A 2 2
1695 s — A 2 1062 E xR el YA A 25 2
1696 AR AR — Y 2 780 SR e A At 25 2
1697 AN — 1 3 1405 [EES R pel YA A 25 2
1698 [ R AR — 14 2 1062 [RE ! el YA A 2 2
1699 BES — Y 1 531 X R e A At 25 2
1700 bR AT — 1 1 625 [EE ! bl MYA A 25 2
1701 et — Y 1 625 R el YA A 2 2
1702 Ih AR L — A 1 531 E R R TR MM
1703 I E =AY 1 625 E xR Teeh MR 2
1704 TrEAdt — Y 1 531 E R Te e Mir 5o
1705 HAEE — A 1 625 xR TR M o
1706 PR oy 1 571 E X R Teeh MR 2
1707 Z= A — Y 1 390 EX R TR M 5o
1708 XA =AY 1 531 R R Te M o
1709 SEYi3 — Y 2 1062 [EE& R Teeh MR 22
1710 s Y 2 1236 [EE ! Te M o
1711 ZHE | 1 665 [EE ! TR M 52
1712 TEAR H -y 1 571 E xR TR M o
1713 SRS -y 2 1001 E xR Teeh MR 2
1714 g4 — Y 2 1062 E R TR Mir 5o
1715 Rk — A 1 531 R R TR M 2
1716 ARk — Y 1 531 SR TR b MR 22
1717 PR I =AY 1 531 EX R Te oM 252
1718 HBE L =AY 1 531 R R Te oM o
1719 W APHE — Y 2 780 E X R Teeh MR 22
1720 ik )\ — 1 2 1062 [EE ! Te M o
1721 =] — Y 1 531 EX R TR M 5o
1722 2= ] — A 1 531 E X R TR MM o
1723 SN — 1 531 E R Teeh MR 2
1724 X 24 8 =AY 1 531 E R R Te e Mir 5o
1725 X & — A 1 531 xR TR M o
1726 EFEh — Y 2 1062 EE& R Teeh MR 2
1727 X K& — Y 1 531 EX R TR M 5o
1728 SEIE =AY 1 531 R R Te M o
1729 En e AT -y 1 665 X R Teeh MR 22
1730 R — 1 1 531 [EE ! Te M o
1731 A — k4 1 390 [EE ! TR Mir 5o




1732 BES — A 3 1807 ER R TR M 5o
1733 BT\ — A 2 780 E X R TR MM o
1734 M 53 — Y 3 1311 E R Teeh MR 2
1735 TR =AY 1 625 E R TR Mir 5o
1736 FRI515 — A 1 531 xR TR MM o
1737 W oy 3 1572 E X R Teeh MR 2
1738 e — Y 1 625 EX R Te M 2o
1739 T+ 4k 5 =AY 4 1842 R R Te M o
1740 EINES — Y 2 1062 X R Teeh MR 2
1741 FHE =4 1 625 ER R Te M 252
1742 THRE =AY 1 390 EX R TR M 5o
1743 TMRIE — A 1 390 E xR TR M o
1744 X 2355 — 1 625 E R Teeh MR 2
1745 5| g =AY 1 531 E R TR Mir 5o
1746 25 5§ — A 1 625 E xR TR M o
1747 {E51IE — Y 1 625 SR Teeh MR 2
1748 PR R — 1 1 390 [EES R Te M 5o
1749 e =AY 1 390 R R Te oM o
1750 o Wk 1k — Y 1 531 X R Teeh MR 22
1751 o BT =AY 1 531 R R Te M o
1752 SR =Y 1 390 [EE ! TR M 5o
1753 AT — A 2 1062 E R R TR MM
1754 i Lk — 1 390 E xR Teeh MR 2
1755 Tk I =AY 1 625 E R Te e Mir 5o
1756 Pt — A 1 625 xR TR M o
1757 i A — Y 1 625 E X R Teeh MR 2
1758 ZEHAI R —1Y 2 921 [EE& R TR M 5o
1759 AR =AY 1 531 R R Te M o
1760 R4 — Y 1 390 [EE& R Teeh MR 22
1761 EEE — Y 2 1156 ER R Te M o
1762 H3ETS — Y 1 531 R TR M 52
1763 Lk 5 — A 1 531 E xR TR M o
1764 M — 1 625 E xR Teeh MR 2
1765 22 | =AY 1 531 E R TR Mir 5o
1766 AL TR — A 1 531 R R TR M 2
1767 B — Y 1 390 SR TR b MR 22
1768 O — 3 1781 EX R Te oM 252
1769 2 PRAR =AY 2 921 R R Te oM o
1770 LFS0| — Y 1 625 E X R Teeh MR 22
1771 MEE — Y 1 625 ER R Te M o
1772 A =AY 1 390 EX R TR M 5o
1773 LA — A 1 625 E X R TR MM o
1774 ZHER -y 3 1666 E R Teeh MR 2
1775 i — Y 1 531 E R R Te e Mir 5o
1776 AR — A 1 390 xR TR M o
1777 EHiT oy 1 430 EE& R Teeh MR 2
1778 K 75 ik A 1 430 EX R TR M 5o
1779 T~ =AY 1 625 R R Te M o
1780 EEH — Y 1 625 X R Teeh MR 22
1781 Jkic — Y 2 780 ER R WERINESS
1782 M YE R -y 1 430 R WERINESS




1783 PGS — Y 3 1170 ER R WERINESS
1784 255 = — A 2 780 R AR XN FBER 2 2
1785 M EM — Y 1 390 o R A EINES
1786 151 KA — 2 1062 E R ER TS
1787 EE2 -y 1 665 SN XN FWER 2 2
1788 RS — Y 1 531 E X R ER IS
1789 EEML —1Y 2 780 R AR MER NS
1790 X1 ] — 4 1 531 R R ERINESS
1791 & A Y 2 1142 R AR ER NS
1792 B — Y 1 390 i R AR MELINESS
1793 oy -y 4 2002 EX R WERINESS
1794 F R HE — A 1 390 R AR XN FBER 2 2
1795 BRE g — Y4 1 390 o R A EINES
1796 B iF — 1 390 E R ERINETS
1797 BE — A 2 1015 o R AR XN FBER 2 2=
1798 R PRF -y 3 1572 EEEER NERINESS
1799 XA -y 1 571 EX R NELINEFS
1800 X F0AE -y 4 1861 R R ERINETS
1801 B AR — Y 4 1701 X R XN FIER 22
1802 B — Y 2 780 R AR MELINESS
1803 X — Y 2 780 R AR WERINESS
1804 XA — A 1 390 EE&R: ! XN FIER 2 2
1805 X 5] — 1 390 EER: XN FBER 22
1806 BN — Y 2 1062 R AR ER TS
1807 HI54E — A 1 390 o R AR XN FWER 2 2=
1808 X F — Y 3 1405 = R AR ER IS
1809 P EHE — Y 2 780 EX R WERINESS
1810 BTN — Y 2 921 o R AR ERINESS
1811 Bk — Y 2 780 S WERINESS
1812 mER — 4 6 2857 ER R NELIN TS
1813 XA — 2 780 R WERINESS
1814 X F — A 1 390 R AR XN FBER 2 2
1815 P E — Y4 3 1546 o R A EINES
1816 R — Y 2 1015 E R ER TS
1817 Bpk bk — A 3 1405 (e o ER XN FIER 2 2
1818 5% — Y 1 625 R AR ER IS
1819 e — 1 1 531 [EE& R MR Z 2

1820 e — 14 2 1062 R AR WA 22

1821 EES — Y 1 531 E X R MR 22

1822 D -y 1 665 [EE ! WA 22

1823 R — Y 1 531 R AR IR 25 2

1824 TrEE -y 1 430 e BN

1825 TR — 2 1062 E R AR A 22

1826 ZEg % — Y 1 531 E R R NN

1827 FHRE -y 1 665 xR AR 22

1828 TERE — Y 2 1015 EE&R: AR 22

1829 HEE — Y 1 390 EX R WA &2

1830 AL — 1 1 531 o R AR R 25 2

1831 X H 3 — Y 1 531 X R MR 22

1832 it % — Y 2 780 ER R NN

1833 ER R — 2 921 R RN




1834 ik ik =AY 1 390 ER R RN
1835 TUE e 1 430 E X R R
1836 Fxifa — Y 4 1560 E R AR A 22
1837 24 =) =14 2 921 E R NN
1838 el — A 2 780 xR AR 22
1839 HNE — Y 3 1452 E X R AR A 22
1840 ER AR — 14 2 1015 [EE& R MR Z 2
1841 v kE — 1 1 390 o R AR WA 22
1842 P — Y 1 531 X R M &2
1843 2R B R — 1 1 531 [EE ! WA 22
1844 e — Y 2 1062 EX R N
1845 X — A 1 531 E xR AR 22
1846 A el — 1 625 E R AR A 22
1847 +EE — Y 2 780 E R NN
1848 FH r — Y 4 1983 e BN
1849 EIES — Y 1 390 e KA AR A 22
1850 4P — Y 2 780 EX R NN
1851 Tr 15 1k — 14 3 1311 R AR WA 22
1852 ez — Y 3 1170 X R MR 22
1853 a2 -y 1 571 R R NN
1854 ER AR Y 2 1142 R N
1855 PLE — A 2 1062 EE&R: ! LRENZE 2
1856 YA =AY 1 390 EER: R ERNZS
1857 X E 75 — Y 1 531 E R RN Z 2
1858 MELE — A 1 625 xR LR IENZ 2
1859 7K KR — Y 1 625 E X R ORIENZE 2
1860 T — 14 1 531 [EE& R RN T2
1861 JH 555 =AY 1 390 R R DR Z 2
1862 I 46 ) — Y 1 531 EE &R O RIENZ 2
1863 R — 1 4 1842 T K AR RN 2
1864 BN — Y 2 780 R AR EESNESS
1865 Kok — A 2 780 E xR LRENZE 2
1866 =5 2 — Y 1 571 E xR R ERNZS
1867 2R — Y 3 1452 E R OREN T2
1868 kR — A 2 1156 HEAR! LR IENZ 2
1869 e — Y 1 531 SR ORIENZE 2
1870 [EE3 =Y 1 625 R AR L RIEN T
1871 EFiia =AY 1 625 R R DR Z 2
1872 BEE — Y 1 390 E X R LR IENZ 2
1873 gk — 1 2 1250 [EE ! RN Z 2
1874 RS -y 2 860 R AR L RIEMN T
1875 £ — A 2 780 E X R CERINESS
1876 B — 2 921 E R X MR T2
1877 TR — Y 1 531 E R R 5 RMER 22
1878 oE4E — A 2 1015 xR CERINETS
1879 DIl — Y 1 390 = KB CERIINETS
1880 gk — Y 3 1311 EX R LR MR T2
1881 BEx kY 1 571 R R 5 RMER 22
1882 e — Y 2 1062 X R X MR T2
1883 I 4k — 1 1 531 [EE ! LR MER 22
1884 BN — Y 1 531 R R MER 22




1885 mEAE =AY 1 390 ER R B RMER 22
1886 ks —14 2 1316 E X R CERINESS
1887 HRE =AY 1 625 E R X MR T2
1888 ORiE =AY 1 531 E R 5 RMER 22
1889 T R -y 1 571 xR CERINETS
1890 % -y 2 1001 R B CERINESS
1891 i 12 e 2 860 EX R LR MR T2
1892 TR A 1 430 R R 5 RMER 22
1893 T B -y 1 430 e CERINESS
1894 JiE =K Y 4 2096 ER R L RMER 22
1895 OAH =AY 2 1250 EX R R MER 22
1896 K& -y 1 430 E xR CERIESS
1897 )iy A 1 665 E R X MR T2
1898 L =AY 1 531 E R 5 RMER 22
1899 N -y 5 2761 E xR RN TS
1900 S/ — Y 1 625 SR CERINETS
1901 U — 1 1 390 [EES R LR MER T2
1902 I Y 3 1666 R R O RMER T2
1903 Bk — Y 3 1405 X R DX MR T2
1904 LT —Y 2 1015 R R L RMER 22
1905 K /NF -y 4 1861 R R MER 22
1906 Ll — A 1 625 E R R CERINESS
1907 EE — 2 780 E xR X MR T2
1908 R A — 2 1015 E R 5 RMER 22
1909 X755 — A 1 625 xR CERINETS
1910 X% — Y 2 1250 E X R CERIINETS
1911 XIARAE — Y 1 390 EX R LR MR T2
1912 fE512% — 1 1 625 [RE ! 5 RMER 22
1913 K EZE — Y 3 1546 [EE& R X MR T2
1914 A =4 1 625 ER R LR MER 22
1915 K R — Y 2 1015 R R MER 22
1916 A — A 2 1062 E xR CERINESS
1917 AF I A — 1 625 E xR X MR T2
1918 2= R =AY 1 625 E R 5 RMER 22
1919 Rt — A 1 390 R R CERINETS
1920 5L — Y 1 390 SR CERINETS
1921 EELL =AY 1 390 EX R LR MER 22
1922 BEFI TS — 14 2 921 R AR EENETS
1923 EBAR M — Y 2 1015 E X R X MR T2
1924 EEIEN =AY 6 2763 ER R L RMER 22
1925 G -y 2 860 EE S BERENT S
1926 XA — 1 1 390 E X R BERIENZES
1927 T — 1 390 E R BERENES
1928 X fifr == — Y 1 531 E R R BERIEMNZ S
1929 B — 1 531 xR BERIENZE S
1930 A B —Y 2 1175 e BERENZES
1931 BRI — 1Y 2 921 e BERENTS
1932 X A A —Y 2 1062 R R BRIEMN S
1933 A A — Y 2 780 R B BRENZ2
1934 =EiS v 2 921 ER R BRIEMNZS
1935 XI& Y 1 430 R BERIEMZ S




1936 X &4 -y 2 1142 ER R BERIEMNZ S
1937 T — A 1 531 E X R BxIEMN S
1938 A — Y 1 531 E R BERENZES
1939 SRR — Y 1 531 E R BERIEMNZ S
1940 XL -y 4 2378 xR BxIEMN 2
1941 X S — Y 1 531 E X R BxIEM 2
1942 X E — Y 4 1701 R AR BRIEMNZES
1943 ik Rk Y 1 571 [RE ! BRIEMN S
1944 RS -y 4 2472 X R B IEMN 2
1945 [ DS — Y 2 1015 i R AR BRIEMNZES
1946 TG4 — Y 2 1015 EX R BERIEMNZ S
1947 X — A 1 531 E xR BxIEMN S
1948 BT — 2 1156 E R BERENZES
1949 R — k4 1 390 e BERIEMNZ S
1950 FLEE — A 3 1452 E xR BxIEM 2
1951 i — Y 4 1701 SR BxIEM 22
1952 X1 4 ] -y 1 665 R AR BRIEMNZS
1953 FET5 1 — 14 1 390 R AR BRENT S
1954 CE 2 — Y 2 780 X R BxIEMN 2
1955 X1 Z5 fi —Y 1 531 R R BRIEMNZS
1956 BEE — Y 4 1701 R AR BERIEMNZ S
1957 AR E =Y 1 625 R BRIEMNZTS
1958 XIHiES — 3 1311 E xR BERENZES
1959 N — Y 2 1250 E R BERIEMNZ S
1960 FRiE S — A 1 625 xR BxIEMN 2
1961 PR/ — Y 1 625 E X R BxIEM 2
1962 FERE — Y 1 625 EX R BRIEMNZES
1963 X v 1 625 R R BRIEMN S
1964 XAk — Y 1 625 e B IEMN 2
1965 X1 — Y 1 625 ER R BRIEMNZES
1966 SRE — Y 1 625 R AR BERIEMNZ S
1967 X EIR =Y 2 921 E xR BxIEMN S
1968 X 2 — 1 625 E xR BERENZES
1969 XL — Y 1 625 R AR BRIEMNZS
1970 AR — A 1 390 R R BxIEM 2
1971 =R — Y 2 780 SR BxIEM 22
1972 X & F — 2 921 R AR BRIEMNZS
1973 T — Y 1 625 R R BRIEMN S
1974 RS — Y 1 625 E X R BHxIEMN 2
1975 XIS —Y 1 531 i R AR BRBENT S
1976 ARl I — Y 1 531 EX R BRIEMNZ S
1977 FEHL -y 1 430 e BRIEMNZTS
1978 IR A — 3 1452 E R BERENES
1979 plf — Y 1 390 R AR BERIEMNZ S
1980 =k A 1 430 xR EC R RS
1981 Bt el ddk — Y 1 531 EE& R S NN
1982 o A — Y 1 531 R AR SN
1983 J 5 =AY 2 780 R R EAEMMNES
1984 X524 — Y 1 531 X R S NN
1985 At — Y 1 531 i R AR SN
1986 59| Bk — Y 2 780 R AR EC R RS




1987 Jit i —1Y 1 531 e EEMNES
1988 S0 — Y 2 1062 SR AR RS
1989 eIl — 2 1062 E R EAH A RS
1990 B =AY 1 531 E R EAEmNES
1991 25| 5 =AY 1 625 SR EC R RS
1992 A — Y 2 1062 e R A B A
1993 A =Y 2 1062 R AR AR RS
1994 e — Y 3 1170 R R EAEMMNES
1995 X A — Y 1 531 X R S NN
1996 HEZ =4 1 531 ER R EHEMMNES
1997 = AR — Y 2 1062 EX R EEMNES
1998 Tk E 55 =Y 1 531 E xR AR RS
1999 s -y 1 430 e ST
2000 1 S =AY 3 1170 E R EAEmMNES
2001 K =Y 3 1170 E xR EC R RS
2002 43R — Y 1 390 SR S NN
2003 TRE =AY 2 1015 EX R EHEMNES
2004 51 5 — Y 3 1405 R R EAEMMNES
2005 oEE — Y 1 625 R ST
2006 e A =AY 2 780 R R EHEMMNES
2007 T 7k =AY 3 1311 R EEMNES
2008 5 B =AY 2 780 E R R AR RS
2009 KEEE — 3 1546 E xR EACH A RS
2010 SR =AY 2 780 E R EAEMNES
2011 i — A 1 390 xR EC R RS
2012 e — Y 2 1062 R B B A
2013 51 =AY 1 390 EX R EHEMNES
2014 [T — 1 390 i R SN
2015 Y — Y 2 780 X R S NN
2016 g =4 1 390 ER R EHEMMNES
2017 AR =Y 2 780 R EEMNES
2018 Bk =Y 1 390 E xR AR RS
2019 i R — Y4 2 921 =R AR ST
2020 AR =Y 2 1062 R AR EC R RS
2021 E kA =Y 2 1015 R R EC R RS
2022 B =14 4 1936 SR S NN
2023 i A =AY 4 1936 EX R EHEMNES
2024 K e — 4 1 390 R R SN
2025 = g — Y 2 1015 E X R A A RS
2026 SR =AY 2 1015 ER R EHEMMNES
2027 = fE T =AY 2 1015 EX R EEMNES
2028 i — Y 3 1311 E X R AR RS
2029 =2 — 2 1015 E R A H A RS
2030 kA5 =AY 3 1170 E R R EAEMNES
2031 = 5] A =Y 2 780 xR EC R RS
2032 [ e =Y 1 531 R B B A
2033 B =AY 5 2373 EX R EHEMNES
2034 LAk AR — 4 3 1170 R R SN
2035 e — Y 2 921 R B A R S
2036 EAKCE kY 1 571 ER R EHEMMNES
2037 EAE =AY 1 531 R EEMNES




2038 JE Ak | 1 571 EE&t! AR NES
2039 KL kY 2 921 [EE&R! A EENES
2040 U R 2 1001 [EE&R BN ES
2041 EEE =Y 1 531 EER! A N RS
2042 HEE =1 1 531 [EE&R! PR s o
2043 2 =Y 1 390 [EE&R! A s R
2044 7K I P =14 1 531 R AR WA N ERS
2045 R 5] gk =Y 1 531 EER! A N RS
2046 A =Y 1 531 [EE&R! PR s o
2047 MEE — Y 1 665 AR WA N RS
2048 B E =Y 1 531 EESt! AN RS
2049 JEEZ =1 3 1311 [EE&ER! A s R
2050 Mok il =Y 1 531 [EE&R PRI ES
2051 A 2% =Y 1 625 EER! AN RS
2052 75 =1 1 390 [EE&R! PR s o
2053 XU =Y 1 531 [EE&R! TN
2054 =t =4 1 531 EE&t! AN ERS
2055 o =Y 2 1062 EER! AN RS
2056 1 KA =Y 2 1062 [EE&R! PR s & o
2057 1T F 18 =Y 1 531 et WA N RS
2058 7Kk 5] — 1 470 R WRMNES
2059 =R =1 1 625 1o X PR A s R
2060 JEA Y =Y 2 1062 [EE&R PRI ES
2061 A =Y 2 1156 [EE WRMNES
2062 JEAR A =1 2 921 [EE&R! PR s o
2063 WERR =Y 2 1015 [EE&R! A s R
2064 L= =4 1 531 EER! WA N ERS
2065 AL =Y 1 531 EER! A N RS
2066 WEZE R 3 1666 S PR s o
2067 M E — Y 4 2002 AR WA N RS
2068 H 3L SE = kY 1 390 EE&t! PN RS
2069 H L& =1 1 390 [EE&ER! PR MNES
2070 MAZ =Y 1 390 [EE&R PRI RS
2071 AR AN =4 5 2373 EER! A N RS
2072 KA | 1 430 o K B PR s o
2073 S =Y 3 1311 [EE&R! TN
2074 I =4 2 921 EE&R! WA N RS
2075 AT 751k =Y 1 390 EER! AN RS
2076 s =Y 1 531 [EE&R! PR s o
2077 EAKEK =14 2 1015 R AR WA N RS
2078 kv = 1 625 EE&t! AN RS
2079 JEEHAL =1 1 625 [EE&ER! A s R
2080 PE K =Y 1 531 [EE&R PRI RS
2081 T =Y 1 625 EE&R! A N RS
2082 W E =1 1 531 [EE&R! PR s o
2083 PR =Y 2 780 [EE&R! A s R
2084 JARIEL; =4 1 531 EER! WA N ERS
2085 KT =Y 1 531 EER! A N RS
2086 H ¥z =Y 1 531 [EE&R! PR s o
2087 R =4 2 1062 AR WA N RS
2088 A = kY 2 780 EE&t! PN RS




2089 At — Y 1 531 ER R P b 22
2090 5175 — A 1 531 E X R PR iR &2
2091 Tk — Y 1 531 e PR SR ZE o
2092 o B =14 1 531 E R RTINS
2093 I ) A b — Y 1 531 xR P A o
2094 JEITE — Y 1 390 E X R P A o
2095 ) — Y 2 780 EX R P b 2
2096 25 /N EE =Y 4 1936 R R RTINS
2097 EE A — Y 2 780 X R P bR A 2 o
2098 SR kY 1 430 ER R P oA 22
2099 kY =AY 2 780 EX R P b 22
2100 = A =4 1 531 E xR Ve AN
2101 K de — 1 531 E R AN
2102 ZN — Y 5 2932 E R Ve AN
2103 A — A 2 1015 E xR Ve AN
2104 7K I i — Y 2 921 SR AN
2105 =T — Y 2 780 R AR YA AN
2106 HiE=R — Y 1 390 R R AL N
2107 TRt Hh — Y 2 921 X R AN
2108 Tk & — Y 1 531 R R IR 2
2109 TriEA — Y 2 1015 R AL AN
2110 BEHE — A 3 1452 E R R Ve AN
2111 5 Bl — 2 921 E xR AN
2112 7K FE AR — Y 3 1452 E R YA AN
2113 = =14 4 1936 xR Ve AN
2114 T — Y 3 1781 E X R VAN
2115 Hok A — Y 1 625 EX R AICWR T2
2116 JEA2Z — Y 1 625 R R YA AN
2117 NS — Y 1 625 SR AN
2118 T dun — Y 1 625 ER R AIE R 2
2119 X e — Y 1 625 R YA AN
2120 A =4 1 625 E xR Ve AN
2121 i — 2 780 E xR AN
2122 PR — Y 2 921 E R Ve AN
2123 e 1 Uk — A 1 390 R R Ve AN
2124 T =Ml — Y 5 2608 SR AN
2125 JEFEH — 1 625 R AR YA AN
2126 TR — Y 4 2171 R R AL N
2127 Trith %z — Y 3 1311 E X R AN
2128 e AN — Y 1 531 ER R IR 2
2129 Tr 3K — k4 1 390 e AWk T o
2130 TR — A 2 921 E X R TXIENZS
2131 TAEIT — 2 780 E R TGN Z 2
2132 i £ — Y 1 390 [EE ! TGN Z2
2133 R3S — A 2 1015 xR TXIENZS
2134 B AN — Y 4 1842 EE& R TR Z 2
2135 AEARAR —1Y 1 531 EX R TR Z2
2136 KGR — 1 1 531 [RE ! TR Z2
2137 TR =14 2 1062 X R TGN Z 2
2138 52 55 — 1 1 625 [EE ! TGN Z2
2139 KR — k4 1 531 [EE ! TR Z2




2140 Eoy= — Y 1 531 ER R TR Z2
2141 XI5 — A 1 531 E X R TR ZE 2
2142 TR — Y 4 1701 E R THIENZS
2143 XA =AY 2 1015 E R PORIN 22>
2144 R — A 1 531 xR PRI T2
2145 PIEA — Y 1 531 E X R PRI T2
2146 BUERE — 2 1250 EX R PORIR 22
2147 X% ZE — 4 4 1936 R R PRIN 22
2148 X [a] % — Y 4 2077 X R PRI &2
2149 KES =4 1 625 ER R PUORIN 22
2150 XRAE — Y 1 390 EX R PURIR 22
2151 JETE — A 1 531 E xR PRI T2
2152 X E2 — 1 531 E R PRI &2
2153 s =AY 1 531 E R PORIN 22>
2154 Y — A 1 531 E xR PRI T2
2155 TR — Y 1 390 SR PRI 2
2156 T&HEE =AY 1 531 EX R PORIR 22
2157 BkAE — 4 1 531 R R PRIAN 22
2158 TR 75 — Y 1 390 X R PRI 2
2159 PRIEHL =AY 1 531 R R PORIN 22
2160 XA =AY 1 531 R PORIR 22
2161 AT =4 1 531 E R R PRI T2
2162 B H — 1 625 E xR PRI 2
2163 K R — Y 1 531 E R PORIN 22
2164 HEK& — A 1 531 xR PRI T2
2165 MRk 75 — Y 1 625 E X R PRI T2
2166 PIE 77 =AY 2 1062 EX R PORIR 22
2167 =3/ =Y 1 390 R R PRIN 22
2168 X = A7 — Y 2 1015 e PRI 2
2169 FE =4 4 1842 ER R PUORIN 22
2170 Tk e — k4 1 625 R AR BARAR T 2
2171 EEIN — A 1 625 E xR PRI T2
2172 BERIF — 2 1015 E xR PRI &2
2173 ISP IER =AY 1 390 E R PORIN 22>
2174 =/ =AY 1 390 R R PRI T 25
2175 X oy 2 1095 SR PRI 2
2176 PR — 2 1015 EX R HKHRZ 2
2177 EFEE — Y 2 921 R R KR T2
2178 o R — Y 1 531 E X R KA 2
2179 2515 =AY 2 780 ER R UK T2
2180 [ =AY 1 531 EX R HOKHR T2
2181 X3 T — A 1 390 E X R KA 2
2182 X454 =AY 2 1015 E R HOKHAT 2
2183 kK4 — Y 1 531 [EE ! KIER 22
2184 i — A 3 1405 xR KA o
2185 X1 5 Bt — Y 2 1156 EE& R KA Z 2
2186 b5 =AY 2 780 EX R HUKHRZ 2
2187 Tt =AY 2 1062 R R IR T2
2188 7K BE 3 — Y 1 625 X R KA Z 2
2189 KEE =4 1 531 ER R KR T2
2190 KM =AY 1 531 R HOKHRZ




2191 HEA — Y 1 531 ER R HOKHRZ 2
2192 X &% — A 2 921 E X R KA 2
2193 FE N =AY 1 531 E R KA 2
2194 ] — k4 1 390 e KIER 22
2195 EkAE =AY 1 531 xR KA 2
2196 Tk Xt X — Y 1 531 E X R KA Z 2
2197 K 2 | — Y 1 531 EX R HUKHRZ 2
2198 e IR =14 1 531 R R HOKHR T2
2199 B kY 1 430 X R KA 2
2200 X kY 5 2573 ER R UK HR T2
2201 =T — Y 4 2237 EX R HOKHRZ
2202 X & =AY 4 1701 E xR KA 2
2203 X 2L =AY 1 531 E R HOKHA 2
2204 SR A 4 2002 E R HOKHR T2
2205 TR =AY 2 921 E xR KA 2
2206 K S — kY 4 1861 SR KA 2
2207 K fiE — Y 2 780 EX R HUKHRZ 2
2208 ThiE R =AY 2 780 R R KR T2
2209 HEL kY 4 2002 X R KA 2
2210 [ E=REz =AY 3 1452 R R UK HR T2
2211 T 75 =Y 2 1062 R HOKHRE
2212 X — A 2 1015 E R R KA 2
2213 PR EE — 2 921 E xR HOKHA 2
2214 ki =AY 2 921 E R KR T2
2215 AN kY 1 430 xR KA o
2216 g =Y 1 531 E X R KA Z 2
2217 KX =AY 2 1015 EX R HUKHRZ 2
2218 itk =AY 1 531 R R HOKHR T2
2219 XK - — Y 1 531 e KA Z 2
2220 75 B T =4 2 921 ER R UK HR T2
2221 [l away =AY 2 1156 R HOKHRZ 2
2222 I JiTk =AY 1 531 E xR KA 2
2223 P =AY 2 921 E xR HOKHA 2
2224 75 [FI AL =AY 2 1062 E R HOKHR T2
2225 2= A =AY 1 625 R R KA 2
2226 P — Y 2 780 SR KA 2
2227 Tr b5 ik A 2 1142 EX R HKHRZ 2
2228 KR AR — Y 2 1015 R R KR T2
2229 iy tas =AY 2 1062 E X R KA 2
2230 s =AY 1 390 ER R UK T2
2231 e E)| — Y 2 780 EX R HOKHR T2
2232 PEKE =Y 2 1015 E X R KA 2
2233 BT =AY 2 1015 E R HOKHAT 2
2234 KR =AY 2 921 E R R KR T2
2235 i =AY 2 921 xR KA o
2236 2=1e ] -y 3 1290 e YA AN v
2937 HEARR — 14 1 531 [EE& R AN
2238 B — 1 1 390 [RE ! AN
2239 KR4 — Y 2 780 X R AN
2240 ZEHER -y 4 2237 [EE ! AN
2241 =5 =AY 1 531 R AN




2242 S — Y 2 1062 ER R AN
2243 2 VA8 — A 2 780 E X R AN
2244 ZR T =AY 3 1311 E R YA S
2245 ik B4 — kY 1 430 E R AN
2246 XK K =AY 1 531 EEN AN
2247 25 4 /) =Y 3 1311 E X R AN
2248 25 SLHE =Y 2 1062 EX R AN
2249 Ay — Y 1 531 R R AN
2250 Eoisan =Y 4 2265 X R AN
2251 K AF =4 2 1015 ER R AN
2252 B OE =AY 1 531 EX R AN
2253 Tk — A 1 390 E xR AN
2254 KBTIV — 2 1156 e A N
2255 HHELE —4 1 531 [EE ! AN
2256 KSR — A 1 531 E xR AN
2257 5| % — Y 1 625 e KA AN
2258 I =AY 1 531 EX R AN
2259 AR =AY 1 625 R R AN
2260 ik A — Y 1 625 X R AN
2261 2518 =AY 1 390 R R AN
2262 FER — Y 2 921 R AN
2263 K I X — A 2 780 e XA AN
2264 ZiET A 1 430 HEARE! YAV S
2265 EolE — k4 1 390 e AN
2266 SR — A 1 390 xR AN
2267 B 4 Mg =Y 3 1452 E X R AN
2268 ZRIR — 14 4 2171 [EE& R AN
2269 SHFE — Y 2 1015 R R AN
2270 AR — Y 2 780 EEARE! BRAIVA AT 2 2
2971 MRk — 1 4 2077 [EE ! BRAIA A 252
2272 M 5% -y 2 1142 R BRAIIVA A 25 2
2273 MR =AY 2 1015 E xR BRAIIVA A 25 2
2274 = fELE -y 1 571 E xR NV N
2275 X X — Y 1 390 E R BRAIA A 252
2276 kAR — A 1 531 HEAR! BhAIIVA A 25 2
2277 [k A — Y 2 1062 SR BRAIVA AT 25 2
2278 MRiE % — 1 531 EX R BRAIIVA A 252
2279 PR AR 4 — Y 4 2077 R R BRAIA A 252
2280 B 3 pK =AY 2 1062 E X R BRAIVA A 2 2
2281 AR —1Y 2 1316 ER R BRAIA A 252
2282 5 AUk — 1 1 611 EX R BRAIIA A 252
2283 SN =AY 1 625 E X R BRAIIVA A 25 2
2284 Kok E — 2 1156 E R BRAIVA AT 25 2
2285 Tef % — Y 3 1452 E R R BRAIA A 252
2286 KT — A 2 780 xR BEAIIVA A 25 2
2287 A8 1) — Y 1 390 EE&R: BRAIVA A 2 2
2288 ik ER — Y 1 390 EX R BRAIIVA A 252
2289 K PEA — 1 2 921 [RE ! BRAIA A 252
2290 EILIPAN -y 1 571 X R BRAIVA A 2 2
2291 KEZE A 2 1001 ER R BRAIA A 252
2292 0 ) — Y 2 1015 R BRAIIA A 252




2293 MRER A =AY 2 1015 ER R BRAIIA A 252
2294 ER R e 1 430 E X R BRAIIVA A 25 2
2295 X EF& — Y 1 390 E R NV N
2296 KEZE =AY 3 1452 E R BRAIIA A 252
2297 Ik = HE =AY 1 531 SN BEAIIVA A 25 2
2298 (T -y 2 1001 R B BRATIYA A 25 2
2299 K g — Y 1 390 EX R BRAIIVA A 252
2300 Min s =AY 4 1701 R R BRAIA A 252
2301 el ] — Y 2 921 X R BRAIVA AT 2 2
2302 15/ — Y 1 625 ER R BRAIA A 252
2303 = =AY 2 1015 EX R BRAIIVA A 25 2
2304 A IMAE — A 1 625 E xR BRAIIVA A 25 2
2305 ISES — 1 625 E R NV N
2306 TR = =AY 2 1015 E R BRAIIA A 252
2307 MJiA — A 1 531 E xR BEAIIVA A 25 2
2308 B o — Y 2 780 e KA BRAIVA AT 25 2
2309 ME2 =Y 2 1062 R AR BEANVA A 25 2
2310 ok = =AY 1 531 R R BRAIA A 252
2311 KRF — Y 1 665 X R NV N
2312 Tk — Y 2 1015 R R BRAIA A 252
2313 K i AR — Y 1 390 R BRAIIVA A 25 2
2314 YR — A 2 780 e XA BRAIIVA A 25 2
2315 ¥ EKiE — 1 625 HEARE! NV N
2316 5 A =AY 2 1062 E R BRAIIA A 252
2317 TR 5 — A 2 1062 xR BEAIIVA A 25 2
2318 K555 =AY 2 1015 E X R BRAIVA A 2 2
2319 XIFK AR =Y 4 1842 R AR BERNVA A 25 2
2320 5 A0 =AY 2 1062 R R BRAIA A 252
2321 E AL — Y 2 780 EEARE! BRAIVA AT 2 2
2322 T i — Y 2 1015 ER R BRAIA A 252
2323 R — k4 1 625 R AR BEAINVA A 25 2
2324 ERIES -y 1 430 E xR BRAIIVA A 25 2
2325 LD — 2 1015 E xR NV N
2326 B 3 Il =AY 2 1062 E R BRAIA A 252
2327 (A — A 1 390 HEAR! BhAIIVA A 25 2
2328 FRAH I — Y 1 531 SR BRAIVA AT 25 2
2329 ik 43% — 1 1 390 [EE& R MHERNZS
2330 = /DA — 4 2 921 R R MHENZS
2331 gk ] — Y 1 531 E X R MHENES
2332 PR AR =AY 2 780 ER R MHENZS
2333 AR =AY 2 921 EX R MHENZS
2334 S — A 1 390 E X R MRS
2335 AR Y 3 1431 e MEMZES
2336 it =AY 1 390 E R R MHENZS
2337 JE TR — A 1 531 xR MR
2338 i — Y 1 531 EE&R: MERZE
2339 JeE TR — 14 1 390 [EE& R MHENZS
2340 HMT 75 =AY 1 390 R R MHENZS
2341 I — Y 1 390 X R MHENZES
2342 JeE b 5 — 1 2 921 [EE ! MHENZS
2343 J AL = 1 390 R MHENZS




2344 SR -y 1 665 ER R MHENZS
2345 e 51 e 1 430 E X R MRS
2346 JE R — Y 2 1015 E R MRS
2347 EUR — 1 390 E R MHENZS
2348 Ji {25 ] — A 2 1015 EEN MHENZES
2349 I 25 5 — Y 4 1795 E X R MHENZS
2350 IR A8 — Y 1 531 EX R MHENZS
2351 I ] 7. — 4 1 625 R R MHENZS
2352 B — Y 2 780 X R MHENZES
2353 TRt =4 3 1405 ER R MHENZS
2354 I 48 By — 3 1311 EX R MHENZS
2355 XI — A 2 1015 E xR MER S
2356 IR — 1 625 E R MER S
2357 JiET5 v 1 390 E R KN Z 2
2358 BER — A 2 1062 e IKEERN 22>
2359 Eril — Y 1 531 m X R IKENZ 2
2360 e b — Y 4 1842 R AR KN Z 2
2361 RIS -y 2 1095 R AR KN Z 2
2362 R P kY 2 1236 R IKEEN 2
2363 K [ —Y 2 1062 R R KN Z 2
2364 b — Y 1 390 R AR IKEE R 25 25
2365 S — A 3 1452 S IKEN 2
2366 TS — 1 390 EER: IKEER 2
2367 G — 1 625 E R KN Z 2
2368 Bk 2 — A 1 625 e IKEEN 22>
2369 BTG — Y 2 921 R B IKENZ 2
2370 KR Y 5 2932 EX R KN Z 2
2371 KEZE v 1 390 o R AR KN Z 2
2372 k5| =R — Y 1 390 m X R IKEERN 2>
2373 S /N — Y 5 2326 i R AR KN Z 2
2374 fEAE T Y 1 531 R KN Z 2
2375 5 B — A 2 780 R IKEEN 2
2376 L] — Y4 1 625 =R AR IKEER 222>
2377 7k ok — Y 2 780 E R KN Z 2
2378 ANE — A 2 780 m X R IKEEN 2
2379 K ik ] — Y 1 531 JE B JEEN 2
2380 [5h-91 — 2 1015 A JEENZ S
2381 Z R ik — Y 1 390 JE AR JEEN 2
2382 115 — Y 1 531 JE B JEEN Z 2
2383 = — Y 3 1452 Ji P JEENZ 2
2384 EEIER Y 2 780 J P A JEENZ S
2385 X4 =Y 1 390 JE B JE B A
2386 B} — 2 921 Jii 54 JEEN Z 2
2387 AR — Y 2 780 Jih PR EAKBLR T2
2388 I ALl U] — A 1 531 JE B EAKBL R 2
2389 TR — Y 1 625 JE A EAKEA T 2
2390 KES — Y 1 531 Ji P EAKBR R
2391 T4 5 — 4 2 1015 5 P4 AR B R F 4
2392 K — Y 2 1015 JE B FAKFAT T 2>
2393 PR — Y 2 780 Ji P KB T2
2394 WEH — Y 4 2077 JE AR SEAK A T 2




2395 Zheasl — k4 1 390 JE B EAKEA T2
2396 0N — A 1 625 ) Y AR 2
2397 E1 75 A — Y 1 625 Jh BE AR AT T 2>
2398 SA7 7 — k4 2 1015 JE B EAKEA T2
2399 ER — A 1 625 JE B AR 2
2400 Pk — Y 1 625 Jh EAKBLR R 2
2401 mEE — 14 1 625 JE B S N
2402 XI| i v —Y 1 625 Jih B FkEMZ
2403 15 =AY 1 625 Jh Y EARBLR 2
2404 3 | — 1 2 1015 JE B EAKEA T2
2405 MR E =AY 3 1311 J P A 2N S
2406 HEX HH: I =Y 1 390 Jh Y RN
2407 okt =Y 2 780 JE A ARAR TS
2408 ZEo — k4 3 1452 Ji BE A JEEOR LN
2409 JH S =AY 3 1452 Jh Y ARAR TS
2410 S HH A — Y 3 1640 Jih B VSRR TS
2411 FRy6 — 2 1015 J R B r sk 252
2412 X 5% bk — 4 1 625 J P RN
2413 15 ] — Y 2 780 Ji P WE S IER 2
2414 BN — 14 1 531 A B r sk 252
2415 1 SEHb — Y 2 780 J R W A 252
2416 E4kE — A 1 531 JE B it & 2
2417 F ik — 2 921 JE B Mt & 2
2418 LT I — Y 1 531 Ji P i &2
2419 ] — A 1 531 JE B it & 2
2420 KA — Y 2 780 Jh it &2
2421 S L R — 2 1062 JE A Ay
2429 BKLE i — 1 1 625 JhE B Bt &2
2423 EiaE — A 1 390 Jh Y Mt & 2
2424 ERE v 3 1311 A Vi &2
2425 BLER — Y 1 625 Ji B A i &2
2426 EE =Y 1 625 Ji 5 it & 2
2427 K FIR — 1 625 Ji 5 Mt & 2
2428 S — 4 2171 JE P4 bt 24
2429 e — A 1 625 JiE B Mt & 2
2430 HAZE — Y 1 625 JE B Mt &2
2431 K FiE — 1 625 Ji P B &2
2432 X I — Y 1 625 JhE B Wi &2
2433 ERES — Y 1 625 Jh Y Mitt & 2
2434 g — Y 1 625 Ji P i &2
2435 157 E — 2 780 J P A i &2
2436 %)L — A 2 921 JE B RENZES
2437 Tk — 1 531 Jii 54 RENES
2438 NS — k4 1 531 JE B PENZS
2439 K55 =AY 2 780 JE B RENES
2440 X4 15 =Y 1 531 JE B RENZES
2441 M=%« — Y 2 921 Ji P PENZS
2442 P — Y 2 1156 JhE B PENZS
2443 RAEAR =AY 1 390 Jh Y RENES
2444 K — 1 1 531 JiE B PENZS
2445 7o K — Y 4 1842 JE B EENZS




2446 it — k4 6 3139 JE B EENZS
2447 K F 75 — A 1 625 ) Y RENZES
2448 TS — Y 1 531 JiE B RENES
2449 ZEmEES — k4 4 1842 JE B PENZS
2450 142 — A 3 1170 Jh Y RENES
2451 2= )5/ — Y 2 1156 JE B RENZES
2452 IR — Y 4 1701 Ji P PENZS
2453 F2EAR — 1 2 780 JE AR PENZS
2454 AL — Y 2 1062 JE B RENES
2455 RNE — 4 3 1311 ) 24 P B s
2456 25 ¥ — Y 1 625 Jih B PENZS
2457 e — A 1 625 JE B RENZES
2458 ZTE — 1 625 Ji P RENES
2459 AEAE —Y 1 625 JE B PENZS
2460 K 5 ] — A 2 921 JE B AEIENZES
2461 Ty — Y 1 531 Ji P AEE
2462 KRB — 2 1156 J R AEENES
2463 T2 — 4 1 531 J P AEIENZE 2
2464 EJL — Y 1 531 Ji P A EE
2465 2K —Y 2 1062 A AEIERNTS
2466 % E — 1 625 J P A A EIER 22
2467 B3 — Y 1 390 Ji B R AEIENZES
2468 LA — 1 625 Ji 5 AEIENES
2469 KA — Y 3 1452 Ji P A2
2470 IRIEt — A 2 780 Ji 5 AEIENZES
2471 DA — Y 1 625 JE B AEE s
2472 KZHE Y 1 390 Ji R RN
2473 FA — 1 1 390 JhE B KN Z 2
2474 gp kA — Y 2 1015 AR K Z 2
2475 pabell — Y 2 1062 Ji P KN Z 2
2476 A — k4 3 1452 JE B KN Z 2
2477 T [H g =AY 3 1546 Jih B KN ZE 2
2478 X I 15 — Y4 2 1156 Jh B UGN
2479 ZERRIER —4 2 780 Jih PR KA ZE 2
2480 FES — A 2 1062 PO 7oA INF T2
2481 HA — Y 1 625 PhEK Z A IF T2
2482 JRE D) — 1 625 PN F0 4 KT
2483 R = =AY 1 625 INE I IEEM 2
2484 G — Y 1 625 PN T A INF T2
2485 TN —Y 1 625 INE I JEVA R 22
2486 AR — k4 1 531 PNE JRVA R 2S5
2487 I — A 2 921 PNEK Z0 A JEAR 22
2488 BB — Y4 1 625 K JEVA 2
2489 k—F =Y 1 390 INF I JEVE R 22
2490 = N — Y 1 531 PN Z0 A VAR 2
2491 HEE — Y 1 625 PN 74 AR 22
2492 AR =AY 1 625 INE A VAR &2
2493 ARE] — 1 2 1015 PV Z 4 JEVA R 22
2494 2K — Y 1 625 PN 70 A AR 22
2495 TN =Y 1 625 INE I JVA R 22
2496 ot =AY 1 625 INF I JEVE R &2




2497 ki ) —1Y 1 531 S A AR o A 2 2
2498 HE — A 1 531 FNEK Z0 A MR b A 2 o
2499 R — Y 1 531 FNF I AR s A 2
2500 X1 5 ) — Y 1 390 VIR A AR s A 2 2
2501 E g A — A 1 531 PN Z0 A AR s A 2 o
2502 THZE — Y 1 625 PN 74 AR o A 2 o
2503 A b - Y 1 571 LI A AR o A 25 2
2504 ER — 1 1 625 S A AR 5 A 2 2
2505 RN — Y 1 625 PN T A AR s A 2 o
2506 =i — 1 1 625 VI A AR o A 2 2
2507 tHEE =Y 2 1015 LI A HEANZ S
2508 AL — A 2 780 VKA AR ZE S
2509 7K E =AY 1 531 VK I AR ZE 2
2510 AR =Y 2 780 S A HEANZ 2
2511 EF4E — Y 2 1250 PN T A i N
2512 X E =Y 1 625 VKL AR ZE S
2513 NS —1Y 1 531 LI A — PR S
2514 F g — 14 1 390 S A — M S
2515 AR — Y 2 1015 PN T A — bW
2516 2R3 — Y 1 625 VI A — P S
2517 ¥R~ — k4 1 625 LI A — MR ES
2518 ZEVE — A 1 625 PNEK Z0 A — bR ES
2519 2= 5 — 1 390 VK I — MRS
2520 ik —Y 1 625 VIR A — MRz
2521 TEF — A 1 531 PN Z0 A — bW ES
2522 AEALK — Y 1 625 PN 74 NS
2523 =2y — 14 2 780 LI A — PR S
2524 &% — 4 2 1015 PR 7 X BERT 2 2
2525 X — Y 2 1250 PN T A XA BERT 22
2526 X ¥ — 4 1 625 INE I X BERT 2 2
2527 kK B Uk —1Y 1 625 INF I X BER 2 2
2528 XI| SCAH =4 2 921 PO Z0 A xRN 2
2529 HI54E — 1 390 FNK I xR 22
2530 kit = —Y 1 625 S A TR IEM 22
2531 TAl kK — A 1 390 PO 7oA xR
2532 XX 4 — Y 1 625 PhEK Z A XM 2o
2533 X1 i -y 1 571 LI A TR IEM 2
2534 EFH v 1 625 S A TR IEM TS
2535 X5 — Y 1 625 PN T A XM 2o
2536 51 55 ] — Y 1 625 VI A TR IEMN 2
2537 957 — Y 1 625 S A TR IEM S
2538 FEE — A 1 625 PNEK Z0 A xR 2
2539 EI15175 — 1 625 FNK I xR 2
2540 Ehint] — k4 1 625 VIR A TR IEM 2
2541 o E — A 1 625 PN Z0 A xR
2542 10 — Y 1 625 PN 74 xR 22
2543 /N — Y 3 1546 LI A Fra&Em s
2544 Tk R — 4 2077 IhVF G Fr ok 2o
2545 JER /N5 — Y 4 2077 PN 70 A FrokdEmt 2o
2546 FEx — Y 1 625 INE I TiEEEN TS
2547 JE A Y 1 625 INF I TEEENZS




2548 KB — k4 1 625 IhVFK G TiEEENZS
2549 e — Y 1 625 INF A JE EIE 22
2550 fEEM — Y 1 625 VK F EEE A 2o
2551 X [ 2 — k4 2 1015 IhVE G EEL ERE N
2552 75 B — A 1 625 FNF I PR IE AT 2
2553 IRk — Y 3 1405 INFK PR IR 2 2
2554 2 NF — Y 3 1546 LI A PR IR 252
2555 Ui — 4 2218 IhVE G PP PSS Z2 2
2556 A — Y 2 1015 PN T A PR IE AT 2 o
2557 Tk — Y 1 390 VI A MERIEMN S
2558 XIS — Y 4 2077 LI A MERIEMN S
2559 ZHK — A 2 1062 PO T A PN ZES
2560 2RI — 2 780 KA RIS A 25 22
2561 =R —t4 1 625 A HARBER 22
2562 PG — A 1 625 KA eI TS
2563 i FAR — Y 1 625 KA s bt
2564 A — Y 1 625 PN B —HENZES
2565 Rk L — 1 625 i B —FNZES
2566 AIGHIE — Y 1 625 KA —RES
2567 ke — 1 1 625 A —FNZES
2568 XIB PR — 2 1015 KA NSNS
2569 B =y 1 625 PN B BRIER Z 2
2570 EIER — 1 625 KA FRBEN T2
2571 T 52 #K — 3 1311 1A e EM 2o
2572 K5It —Y 1 390 iy Tef A o
2573 XK 5 Y 1 571 iy e M o
2574 E&I Y 3 1311 1A R e EM
2575 e — 4 2 921 1A e Mo
2576 AR5 i — Y 1 531 iy e A o
2577 W= -y 2 1236 1A R e EM 2o
2578 LR — Y 1 390 1A e EM
2579 gk 5] A — A 2 1156 iy TeA M o
2580 XA — 1 531 oA B e RS
2581 B R =AY 1 390 1A e EM 2o
2582 PHEE -y 1 571 1A A Tef A o
2583 FKIGHE — Y 3 1452 iy e Mo
2584 pAIRES — 1 531 1A R e EM 2o
2585 EHIE =AY 3 1311 1A e Mo
2586 X4k — Y 2 1062 iy e A o
2587 XA — Y 2 780 1A R e EM 2o
2588 B 5] F — Y 2 1015 1A e EM 2o
2589 T3EAS — A 2 921 1A A TeA M o
2590 FHEHE =Y 3 1311 oA B e RS
2591 A5 =AY 1 625 1A e M 2o
2592 X ik — A 1 531 oA B K ZE2
2593 XI5 4 — Y 2 1062 oA A K ZE2
2594 XA 4R — Y 2 1062 A0 AR KN Z 2
2595 PG Ry 1 571 1A KN Z2
2596 51 7E — Y 2 780 e A K ZE2
2597 palfiimea — 1 1 390 oAl R KN Z2
2598 2 bR — Y 1 390 1A R KN Z 2




2599 MR A — k4 1 390 1A R KN Z 2
2600 X Hi A — A 2 1062 oA B KN ZE2
2601 Blx L Y 1 430 e A K ZE2
2602 XIHE PR — 1 390 1A R KN Z 2
2603 A — 2 1236 oA B K ZE2
2604 XI| — Y 1 531 oA A K ZE2
2605 K e ] Y 1 571 1Al R KN Z 2
2606 XIJAE — 1 1 531 1A KN Z2
2607 2= 6] — Y 1 531 e A K Z2
2608 PAHEF -y 2 1095 1A AR KN Z2
2609 AR A -y 1 571 1A R KIEMZE 2
2610 xS — A 1 531 oA B KN ZE2
2611 Fiis — Y4 1 390 e A K &2
2612 LA — Y 3 1452 1A AR KN Z2
2613 RN — A 3 1311 oA B K ZE2
2614 ZRNIE — Y 1 390 oA R K ZES
2615 XA Ak —1Y 2 921 1Al R KN Z 2
2616 X4t — 2 921 1A KN Z2
2617 AT — Y4 1 531 e A K Z2
2618 XI|Z5 i — 1 2 921 oAl R KN Z2
2619 X AR — k4 1 531 1A R KN Z 2
2620 X FF= — Y 1 390 oA B KN ZE2
2621 2= 5| PR — Y 2 1062 e A K &2
2622 B LA — k4 2 1062 140 AR KN Z 2
2623 e — A 2 780 oA B K ZE2
2624 RE — Y 1 390 oA A K ZE2
2625 XIEAE — 14 1 625 1Al R KN Z 2
2626 ik = — 1 1 390 oA R KIFMZE 2
2627 X8 ZE — 1Y 2 780 e A K ZE2
2628 WEL v 5 2373 1A AR KN Z2
2629 PRI — k4 4 2077 A0 AR KN Z 2
2630 250t =AY 2 1015 oA B KN ZES
2631 XI5 HE — 2 921 iy EXR LA ZE 2
2632 X & It — 2 1015 1ef 2 EXR UM ZE S
2633 T UE — Y 2 780 1A A EXR LM ZE2
2634 5|2 — Y 1 531 iy EXR IR ZE 2
2635 ESS — 2 1062 oA B2 eI S
2636 X 8 — 4 4 2171 Tef ER UM TS
2637 X X Tt — Y 2 780 iy EXR IR ZE 2
2638 XN AEAF Y 1 571 Tef 2 EXR LM ZE S
2639 XIHG /N — Y 1 531 oA B2 EXR IS
2640 AT — A 3 1170 1A A EXR LA ZE 2
2641 X4 — 2 921 iy EXR LA ZE 2
2642 XI| REBE: — Y 1 625 1Tef 2 EXR UM S
2643 X ZE PR -y 1 571 iy EXR LA ZE 2
2644 XA =4 1 531 iy EXR IR ZE 2
2645 XIS —1Y 2 780 Tef B2 EXR LM ZE S
2646 X2 — 4 2 780 Tef 2 EXR IR TS
2647 X 4= 5 — Y 2 1062 iy EXR LA ZE 2
2648 HHUR — Y 2 780 Tef 2 EXR IR ZE S
2649 X Fi R — Y 1 390 et B2 EXR IS




2650 X 24 — Y 1 531 et B2 EXR IS
2651 X JE 2 — A 3 1405 iy EXR IR ZE 2
2652 X B — Y 2 1062 iy EFR LA ZE 2
2653 Tk =AY 1 390 1ef 2 EXR LM ZE S
2654 XIEIT — A 1 625 1A A EXR LA ZE 2
2655 B oae — Y 1 390 iy EXR IR ZE 2
2656 7K 51 pk — 14 1 625 1A R HHEEN RS
2657 B =AY 1 390 Tef 2 SRR
2658 AN — Y 2 921 iy SR 2
2659 X =Y 2 780 1A R SN RS
2660 BLEAR | 4 1861 1A HHEN RS
2661 R %Y — A 4 2312 iy RSN TS
2662 TeI5ES — 4 1842 iy SR 2
2663 X =Y 2 921 1A BN RS
2664 = — A 2 780 iy RSN
2665 TKoE =2 oy 1 430 iy SR R 2
2666 K EH =Y 1 390 1A R BN RS
2667 AR — Y 3 1452 Tef SRR
2668 FRE -y 1 571 iy SR 2
2669 X £ — 1 2 921 1A R SN RS
2670 PG =Y 3 1405 1A HHEN RS
2671 EVie — A 3 1452 iy RSN TS
2672 R — 1 625 iy SR 2
2673 25X — kY 1 571 1A BN RS
2674 R i — A 1 390 iy SN
2675 AR IR — Y 2 1015 iy SR R
2676 e kY 1 571 1A R HHEEN RS
2677 il =AY 2 780 Tef 2 SRR
2678 BLEM — Y 2 921 iy SR 2
2679 AR =Y 2 1015 1A R SN RS
2680 ik FAE =Y 1 531 1A HHENES
2681 ERINES — A 2 921 iy RSN TS
2682 X EI5 — 2 921 iy SR 2
2683 AR =Y 2 780 1A BN RS
2684 Kz — A 5 2608 1A A SN TS
2685 ZEEEL — Y 2 780 iy SR R 2
2686 X %I =Y 2 1015 1A R HHEN RS
2687 ERINE. =AY 3 1546 Tef SRR
2688 Tk Ao — Y 1 531 iy ES A T2
2689 875 =Y 1 531 oAl R E R T2
2690 B3R =Y 1 390 1A R E R 2
2691 i A — A 3 1546 1A A ES N ZE 2
2692 FE= — 1 531 oA B E R T2
2693 X PR AR =Y 2 1015 140 AR EEA T2
2694 e T — A 3 1546 iy ES AT 2
2695 =117t — Y 1 531 iy EHEN T2
2696 X e =Y 1 531 1Al R B ER T 2
2697 B 55 i — 1 1 531 oA R EEA 2
2698 Xy — Y 1 531 iy ES A T2
2699 SRR ik =Y 1 390 oAl R EER T2
2700 IR | 2 1142 A0 AR EER T2




2701 X 4k S — k4 1 390 1A R B ER 2
2702 ERAGE — A 1 390 iy ESHENZ 2
2703 e A 1 571 oA B E A 2
2704 o B = =Y 1 625 1A R EEA T2
2705 = B — A 2 921 1A A ES AT 2
2706 XEFEE — Y 1 390 iy EHEN T2
2707 X T — 14 2 780 1Al R B ER T 2
2708 =K 4L — 1 4 1842 140 AR EEA T2
2709 iGisti] — Y 3 1546 iy ES A T2
2710 HEE =Y 3 1311 1A AR E R T2
2711 X 5 — k4 1 390 1A R B T2
2712 EEA — A 2 780 iy ES N ZE 2
2713 AR Ak — 2 780 iy (E&IIR 2
2714 XI| i 4 E — Y 2 921 1ef 2 AN
2715 ARANYS — A 2 780 iy AN
2716 A UL — Y 3 1405 iy (BT 22
2717 L5 & — Y 2 780 oA B2 AN
2718 (TR AE — Y 2 921 Tef AN
2719 TR — Y 1 390 iy (E&ITIR 22
2720 EAE =AY 1 531 Tef 2 AN
2721 AEFIF — Y 4 1842 et B2 AN
2722 =R — A 1 531 iy TN TS
2723 F£E5E =AY 1 390 iy (E&IIR 2
2724 AR — Y 2 921 1ef 2 AN
2725 f£E B — A 2 921 iy IS
2726 {EEEAR — Y 2 780 iy (EIIR 2
2727 ZE — Y 3 1311 Tef B2 AN
2728 X & — Y 1 531 Tef 2 AN
2729 X HERE — Y 1 531 iy (E&ITIR 22
2730 {E51%6 — Y 2 780 Tef 2 AN
2731 XI5 — Y 2 1062 et B2 AN
2732 PSR — A 2 1015 iy T TS
2733 1 72 | — 1 531 iy (E&IIR 2
2734 LKk =AY 5 2373 1ef 2 AN
2735 £EF — A 2 780 1A A AN
2736 B8 — Y 2 1062 iy (BT 22
2737 ki — 3 1311 oA B2 AN
2738 A — Y 1 390 Tef AN
2739 AR M — Y 1 390 iy (E&IIR 22
2740 {LEZ =AY 6 2622 Tef 2 AN
2741 {Euni&E =AY 1 531 oA B2 AN
2742 iK1 — A 1 531 1A A TS
2743 S =AY 2 1015 iy (E&IIR 2
2744 L% — Y 2 780 1Tef 2 AN
2745 {EDLHE —Y 3 1170 iy IS
2746 PG| He — Y 1 531 iy (B IIR 22
2747 {E3CE =AY 1 390 Tef B2 AN
2748 X% B =AY 1 390 Tef 2 AN
2749 T35 B — Y 3 1546 iy (E&ITIR 22
2750 T4 — Y 2 1015 1A R AN
2751 {ERKAE =AY 3 1170 et B2 AN




2752 AR — Y 2 780 et B2 AN
2753 X% — A 4 1842 iy Ee TS
2754 I RiE! — Y 3 1311 iy o R &2
2755 (TS — Y 1 531 1A E A 22
2756 OE%E — 5 2808 1A A E A2
2757 EET — Y 3 1170 iy o R &2
2758 X & — Y 1 390 1A R E A2
2759 =T E) A 1 571 1A E A2
2760 R — Y 1 390 1A R E A2
2761 AR ER — 4 2 1062 1A R E A2
2762 X Hi /)N — Y 1 531 1A E A 22
2763 g -y 3 1760 iy E TS
2764 ZRHH -y 2 1330 iy o R &2
2765 S fEE — Y 2 1015 1A E A ZE 2
2766 R — A 2 1015 iy Ee A2
2767 XIFJES — Y 3 1452 iy o R &2
2768 #5135 — Y 2 1015 1A R E A 2
2769 R A — Y 2 1062 1A E A2
2770 22 1) -y 2 1142 iy o R &2
2771 EAUE A 1 665 1A R E A2
2772 EiEE =AY 1 390 1A E A 22
2773 XA FL — A 1 531 iy Ee TS
2774 /N5 =AY 1 390 iy o R &2
2775 Iy — Y 1 390 1A E A 22
2776 THRE — A 2 780 iy Ee A2
2777 =5 — Y 3 1170 iy o R &2
2778 AR =AY 1 390 1A R E A2
2779 R LI — Y 1 531 1A E A2
2780 20 ) — Y 1 531 iy o R &2
2781 THEE — Y 1 531 1A R E A ZE 2
2782 R =AY 1 531 1A E A 22
2783 KL — A 5 2467 iy E TS
2784 ik e — 2 1015 iy o R &2
2785 2 — Y 1 531 1A E A ZE 2
2786 =gk — A 2 1062 1A A Ee A2
2787 S — Y 2 1015 iy o R &2
2788 SNl — 4 2077 1A R E A2
2789 XI/NE — 14 4 1842 1A IR 22

2790 X4 — Y 2 1062 iy A2

2791 L% — 1 1 390 oAl R IR 22

2792 X1 S Ry 2 1095 A0 AR IR 22

2793 TR HE — Y 1 531 1A A A

2794 iy — 1 531 oA B DN N

2795 X [E % — kY 3 1431 140 AR IR 22

2796 X P B — A 4 1795 iy TR

2797 BEIE — Y 1 531 iy A2

2798 X E Ry 2 1236 A0 AR IR 22

2799 X1 5 — 1 3 1781 1A TR 2

2800 X B PR —t 3 1760 iy T2

2801 X1 52 ik Ry 1 430 oAl R IR 22

2802 752458 —Y 1 611 1A R IR 22




2803 75 okAT — k4 1 531 1A R IR 22
2804 kXt B — A 2 921 iy DN
2805 I E -y 1 430 e A DN RE
2806 X EF5 — k4 1 625 1A R IR 22
2807 R — A 1 531 1A A DN R
2808 X4 — Y 1 531 iy A2
2809 X e — 14 1 390 1Al R IR 22
2810 A2 A =Y 3 1546 1A TR 2
2811 P I B — Y 1 625 1A R IR ZE 2
2812 X 5] HE — Y 2 921 oAl R IR 22
2813 X e — k4 1 390 1A R IR 22
2814 XI) e i — A 2 780 iy A2
2815 X F K — 2 780 oA B DN RE
2816 X {5 = — k4 1 390 1A R IR 22
2817 XA — Y 2 1156 iy DN R
2818 X4 — Y 2 1156 iy A2
2819 e — 1 1 531 1Al R IR ZE 2
2820 X =4 — 14 2 1062 1A IR 22
2821 ik A — Y 1 390 iy A2
2822 X 1) — 1 1 531 oAl R TR 22
2823 7551 % — k4 2 780 1A R IR 22
2824 X HE — A 2 1156 iy A
2825 XIS — 1 390 oA B ISR
2826 TR — k4 3 1311 140 AR IR 22
2827 X {5 — A 2 1062 iy TR
2828 A — Y 2 780 iy A2
2829 ZRAEHR — 14 1 531 1Al R IR 22
2830 XK I3 — 1 1 531 1A TR 2
2831 X IR — Y 4 1560 iy T2
2832 1T 51k — 1 1 390 oAl R IR 22
2833 XI AR — k4 3 1405 A0 AR IR 22
2834 Xk EL — A 1 531 iy DN
2835 5 Bk T — 3 1170 oA B ISR
2836 Fifik =Y 2 1156 1A AR IR 22
2837 A — A 3 1781 1A A DN R
2838 e — Y 1 390 iy A2
2839 2R — 1 1 625 oAl R IR 22
2840 (EE AN — Y 1 390 Tef FHEEVAR Z2 2
2841 XI| e ik — Y 1 531 iy FH VA 22
2842 ik 4% — Y 1 531 Tef 2 FH VAR Z 2
2843 fa[ 3 PR — k4 1 390 1A R PHERVAM Z 2
2844 fi] SRR — A 2 1015 1A A FHEEVAR T2
2845 iR = =AY 1 390 iy FH VA 2
2846 fA[ 5k = — Y 2 780 1Tef 2 FHEEVAR Z 2
2847 {4 2E — A 2 780 iy FH VA 22
2848 e oy 1 665 iy FH VA 22
2849 ER3%] A 1 571 Tef B2 FH VAR Z 2
2850 PV =AY 1 625 Tef 2 FH VAR Z2 2
2851 AME — Y 3 1170 iy FH VA 2
2852 A HE =Y 3 1546 Tef 2 FH VAR Z 2
2853 B U — Y 1 531 et B2 FHEEVAR Z 2




2854 =512 — Y 1 531 1A FHEEVAR Z 2
2855 KE e e 1 571 iy FH VA 2
2856 AR — Y 3 1311 iy FH VA 22
2857 Bt bk -y 1 571 1A PHEEVAM ZE 2>
2858 KRR — 1Y 1 531 e A R PHEEVAM 2
2859 iK1 =Y 2 1062 iy FH VA 22
2860 MlEE — Y 3 1452 Tef B2 FH VAR Z 2
2861 FARAT =AY 3 1170 Tef 2 FH VAR Z2 2
2862 TR ALE Y 1 430 iy FH VA 2
2863 Eieds = 1 531 Tef 2 FH VAR Z 2
2864 XEHE =AY 3 1170 et B2 FH VAR Z 2
2865 kiR — A 1 531 iy FH VA 2
2866 QIR — 1 531 iy FH VA &
2867 K PRA — Y 2 780 1ef 2 FHEEVAR Z 2
2868 A1 XK — A 2 780 iy FHEEVAR &2
2869 X T — Y 1 531 iy FH VA 22
2870 XIE —1Y 1 531 oA B2 FH VAR Z 2
2871 fA] 5] Hb =14 2 1062 Tef FHEEVAR Z2 2
2872 PR — Y 2 1062 iy FH VA 2
2873 F b — Y 2 1062 Tef 2 FH VAR Z 2
2874 K {5 — Y 3 1311 1A FHEEVAR Z 2
2875 KA 4 — Y 2 780 iy FH VA 22
2876 ZRHELE — 1 390 iy FH VA &
2877 ik 4 K =AY 1 390 1ef 2 FHEEVAR Z 2
2878 2 — A 1 390 iy FH VA 22
2879 (DB — Y 1 390 iy FH VA 22
2880 X & 5 — Y 2 1250 1A R FH VAR Z 2
2881 TS —Y 1 531 Tef 2 FH VAR Z2 2
2882 XIFF] — Y 3 1452 iy FH VA 2
2883 K FR — Y 1 625 1A R FH VAR Z 2
2884 KA — Y 2 921 et B2 FHEEVAR Z 2
2885 fr[ 5K S — A 2 780 iy FHEEVAR &2
2886 Al 4R 3 — 2 1062 iy FH VA &
2887 FRAR o — 1 625 1ef 2 FHEEVAR Z 2
2888 = =14 2 780 1A A FH VA 2
2889 A B4R — Y 1 531 iy FH VA 22
2890 ] S5 — 2 1062 oA B2 FH VAR Z 2
2891 A A — Y 2 1062 Tef FHEEVAR Z2 2
2892 fA] 7K 38 — Y 3 1781 iy FH VA 22
2893 X3 — 14 1 531 Tef 2 AN ZS

2894 EizE =14 1 390 oA B2 FANZS

2895 Harie — A 1 531 1A A VAR 2o

2896 ERNM — 2 780 iy AN ZES

2897 JEMR TS =AY 1 390 1Tef 2 FANZS

2898 Ji &/ -y 2 1142 iy VAR 2o

2899 Ji 3 2 oy 2 1236 iy VAR 2o

2900 H i3 Y 4 1842 Tef B2 AN ZS

2901 XI55 -y 1 571 1A FANZS

2902 HE# — Y 2 780 iy VAR 2o

2903 HRT =4 4 1701 Tef 2 AN ZS

2904 RZE =AY 2 921 et B2 AN ZS




2905 X 75K — Y 4 1842 et B2 AN ZS
2906 TKAEHR — A 1 531 iy RVAR 22
2907 TR A — Y 1 390 iy PN ZES
2908 Ji 5P —t4 2 1015 1ef 2 FANZS
2909 Tt — Y 1 390 1A A FVAR 2o
2910 =M — Y 1 390 iy VAR 2o
2911 K i — Y 2 1156 Tef B2 AN ZS
2912 i [ 1 =Y 4 1936 1A MVAMNZE 2
2913 L=k — Y 2 921 iy VAR 2o
2914 514 — 4 2 780 Tef 2 AN ZS
2915 =2 — 2 1015 et B2 AN ZS
2916 HEF — A 1 625 iy RVAR 2o
2917 JEAEHR — 1 531 iy PN ZES
2918 kX HE — Y 2 1062 1ef 2 FANZS
2919 T AR — A 1 390 iy RVAR 2o
2920 IR — Y 3 1405 1A R RIVAR
2921 il — Y 1 531 1Al R BT &2
2922 WHEE — 14 2 1062 oA R HI R 22
2923 X — Y 1 531 iy BB A &2
2924 ik [m] 5 — Y 1 531 oAl R BT 22
2925 X fg £ — Y 3 1311 et B2 AT A 22
2926 IR I — Y 1 625 iy BB AT 252
2927 T8 -y 4 2237 iy HI B AT 252
2928 G 1 2 -y 2 1142 140 AR HI A 22
2929 5| —Y 1 390 iy BB A &2
2930 gk AR — Y 1 531 iy BB A &2
2931 IR — Y 1 625 1Al R B &2
2932 =Y —Y 3 1311 1A BT 22
2933 W — Y 1 390 iy BB A Z2
2934 b -y 1 571 Tef 2 HI A 22
2935 ik — 1Y 4 2312 A0 AR HI R 22
2936 W% — A 3 1311 iy HI B AT 252
2937 A2 Y — 3 1452 iy HI B AT 252
2938 WES — Y 3 1546 1A AR HI A 22
2939 N — Y 1 390 1A A BB AT 252
2940 = R — Y 1 531 iy RN
2941 WA — 14 2 1015 1A AR B &2
2942 GHE R — 2 1015 oA R BT 22
2943 XI5 — Y 3 1687 iy BB A &2
2944 K JIE AR v 1 531 Tef 2 HI AT 22
2945 Tk — Y 2 1250 A0 AR HI R 22
2946 X% 75 — A 3 1546 1A A BB AT 252
2947 BT — 1 3 1311 oA B BB &2
2948 W — Y 1 531 1A R HI A 22
2949 G2 — 1Y 2 921 oA A HIdA 22
2950 G B — Y 4 1936 oA A HIGIA 22
2951 B — Y 2 780 1Al R B &2
2952 TR IR T v 1 390 1A BT 22
2953 £FH K — Y 1 390 iy BB A Z2
2954 X R A — Y 1 390 oAl R B 22
2955 TKk2EE Y 2 780 1A R HI R 22




2956 TEE — Y 1 390 1A R HUBIA 22

2957 e — A 2 780 iy RN

2958 g — Y 2 1015 oA B BB A &2

2959 IS =AY 4 1936 1ef 2 KIE G b 22
2960 Ep= — A 1 531 1A A KIE Ao
2961 eI — Y 2 780 iy KIE Ao
2962 PR =AY 2 1250 Tef B2 KOE IR ZE o
2963 ik =Y 2 1062 1A KIE IR T2
2964 i E — Y 1 531 iy KIE Ao
2965 Tk — Y 2 921 Tef 2 KIE A o
2966 E954n =AY 2 1062 et B2 KIE G b 22
2967 EE — A 2 921 iy KIE Ao
2968 kA — 4 1842 iy KIEGIRT 2
2969 SEiii — Y 1 531 1ef 2 KIE G b 22
2970 B -y 1 430 iy KIE Ao
2971 BN — Y 1 531 iy KIE Ao
2972 AR =AY 1 531 oA B2 KIE R ZE o
2973 FF2 =14 1 390 Tef KIE G b 22
2974 XI5 4 — Y 1 390 iy KIE Ao
2975 X = =AY 1 531 Tef 2 KOE SR ZE o
2976 BHEZE =AY 1 531 et B2 KIE G P22
2977 EEF — A 1 531 iy KIE Ao
2978 GE — 4 1560 iy KIEGIRT 2
2979 G =AY 2 780 1ef 2 KIE G b 22
2980 WHE(S — A 2 1062 iy KIE Ao
2981 G B HE =Y 1 390 iy KIE Ao
2982 ik — Y 2 1062 Tef B2 KOE IR ZE o
2983 i =Y 2 780 1A KIE IR T2
2984 il — Y 1 625 iy KIE Ao
2985 ZEHE S5 =4 1 531 Tef 2 KIE A o
2986 20T — Y 1 531 et B2 KIE G b 22
2987 HHANME — A 1 531 iy KIE Ao
2988 =4 — 2 921 iy KIEGIRT 2
2989 Z s — k4 3 1311 1A AR KIE G b 22
2990 WA — A 2 780 1A A KIE Ao
2991 WAFHE =Y 2 780 iy KIE Ao
2992 A E =AY 1 390 oA B2 KIE GRS
2993 WA =Y 2 780 1A KIE IR ZE 2
2994 [ IEArEE — Y 2 921 iy KIE Ao
2995 Pk=E =AY 1 625 Tef 2 KOE SR ZE o
2996 25 =AY 2 1062 oA B2 KIE G P22
2997 EFHE — A 1 531 1A A KIE Ao
2998 PhFEAR — 1 390 iy KIEGIRT 2
2999 S — Y 2 780 1Tef 2 RN

3000 X 2% /N — A 2 1062 iy RO

3001 EME — Y 1 625 iy RIAR 2o

3002 TKZEZE — 14 4 1842 A0 AR RN

3003 £ — 1 2 780 1A RIAMZE 2

3004 EEINS — Y 1 531 iy RIR 2o

3005 WL A 1 571 Tef 2 RN

3006 Z A — Y 2 1015 et B2 RN




3007 BT — Y 2 780 et B2 Ik 25
3008 514 — A 2 780 iy RIARZE o
3009 KB — Y 2 921 iy RN
3010 HiE )2 —Y 2 780 1A Rl
3011 palans — 1Y 2 780 e A R Kk &2
3012 i — Y 2 780 iy RIAR 2o
3013 e =AY 2 1062 Tef B2 RN
3014 £ e — 1 1 531 1A RIAMZE 2
3015 TR — Y 1 390 iy RO
3016 ZEl —1Y 2 921 Tef 2 RN
3017 KRR — Y 2 1062 et B2 Ik 25
3018 HES — A 2 780 iy RIAMZEos
3019 SR — 2 921 iy KIF 2o
3020 R — k4 2 1062 1A Rl
3021 LS — A 2 1062 iy RO
3022 RATH — Y 2 921 iy RIAR 2o
3023 ENS —1Y 1 390 oA B2 Ik 24
3024 V75N B 3 1431 1A RIAMZE 2
3025 I Y 1 571 iy RIR 2o
3026 A — Y 1 531 Tef 2 RN
3027 =57 =Y 1 390 1A RIAMZE S
3028 F 5]k — Y 1 531 iy RIARZEo
3029 2= I ik — Y 3 1311 iy RN
3030 25 I 5 — Y 2 780 1ef 2 RN
3031 ZEE -y 1 430 iy RO
3032 EEAR oy 1 430 iy RIAR 2o
3033 155 ik — Y 1 390 Tef B2 RN
3034 EHE2 v 1 531 1A RIAMZE 2
3035 ZE — Y 1 531 iy RIR 2o
3036 21K — Y 1 531 Tef 2 RN
3037 ZERR — k4 1 531 1A RIAMZE S
3038 E3i — A 1 531 iy RIARZE o
3039 2/ — 3 1687 iy RN
3040 3 — 1 625 1ef 2 RN
3041 Z5| K — Y 2 1062 1A A RIAMZE2
3042 s — Y 1 390 iy RIAR 2o
3043 T2 — 1 390 oA B2 FKIk 22
3044 A4 =Y 2 1062 1A RIAMZE 2
3045 AR — Y 1 531 iy RIAR 22
3046 X1 SE ] — 14 2 1062 Tef 2 RN
3047 X — Y 1 531 oA B2 RN
3048 L — A 3 1311 1A A RIAMZEo
3049 5K I — 2 1015 iy RiIF 2o
3050 S Fh — Y 2 780 1Tef 2 RN
3051 Tkl — A 1 625 iy RO
3052 S — Y 1 531 rh R0 4 HXSA &2
3053 0 B — Y 1 531 HS HER &2
3054 2= 2 ] — Y 1 531 WS HOE R 22
3055 HET — Y 1 531 rh R0 4 HXSA &S
3056 B 4k U] — Y 1 531 WS HXS MRS
3057 wrHI — Y 1 531 XS4 HXOMN RS




3058 ES g 1 531 XS4 HXOMN RS
3059 K754 1 390 rh R0 4 PSR &2
3060 1= e 3HE 1 390 XS 45 HOE 22
3061 Tef 1 1 531 XS 4 TN
3062 W 1 571 HAS R N
3063 X% 1 531 rh R0 4 HXSA &2
3064 E 52N 2 1062 WS HXOMN RS
3065 B 4 1 531 WS HOE R 22
3066 FRIEN 1 531 rh R0 4 HXSA &S
3067 XA 1 625 WS HXS MRS
3068 L= 2 921 XS4 HXOMN RS
3069 SR 2 1062 rh R0 4 PSR &2
3070 LS in 2 780 WS PSR 2
3071 {5 4% 1 531 XS 4 TN
3072 5 4 Bl 1 625 HAS RN
3073 B 1 625 rh R0 4 HXSA &S
3074 7 1 625 HS HXOMN RS
3075 K 1 531 WS HOE R 22
3076 K e 2 1062 XS 4 HOE &2
3077 PRI 2 780 HOS HXO MRS
3078 R IE 2 1062 XS4 HXOMN RS
3079 vl 3 1452 HS IR UM TS
3080 EEA 3 1452 HS PIRR UM T2
3081 e 1 531 S PIMR RN Z S
3082 i ~1E 1 531 rh R0 4 IR AU E 2
3083 £ G 1 531 rh R0 4 IR U S
3084 B2 1 390 WS IR IR Z S
3085 {A] BH 4 2 780 WS PIMR RN TS
3086 o EME 2 1062 rh R0 4 IR AU 2
3087 AR ] 1 531 HS PRI Z S
3088 ZEVR AN 1 390 HS PIMRR AN Z S
3089 P B 2 1015 rh R0 4 IR AU S
3090 Lk 2 1015 XS 4 IR AU T2
3091 AL 1 531 WS PIMRR UM Z 2
3092 fAl K b 1 531 rh R0 4 IR AU E 2
3093 o] (5 1 2 1250 rh R0 4 IR U E S
3094 Bt 1 390 WS PIMRR IR Z S
3095 IR 75 1 531 WS IR Z S
3096 KK 2 1015 rh R0 4 MR AU E 2
3097 2 R EE 1 390 HOS IR I Z 2
3098 WEE 2 1156 WS PIMRR AN Z S
3099 LN 2 1015 rh R0 4 IR AN S
3100 A % 2 1062 XS 4T IR AU 2
3101 b 3 1546 S PIMRR UM Z S
3102 EHAE 1 625 rh R0 4 IR AU E 2
3103 X I 1 625 rh R0 4 IR U S
3104 EEZNI 4 1795 HS IR IR Z S
3105 25 58 1 531 WS PIMR RN TS
3106 I 3 1452 rh R0 4 IR AU 2
3107 [DEHE] 1 531 WS IR Z S
3108 AR 1 531 WS PIMRR AN Z S




3109 S it ¥ — Y 3 1311 HS PIMRR IR Z S
3110 2R | — A 1 531 rh R0 4 PIMRE YR Z 2
3111 MTEE — Y 2 921 WS IR U T2
3112 FB I — k4 2 780 HS PIMRR UM Z S
3113 mE= =AY 1 625 rh R0 4 PIMRE YR 2
3114 P ik — Y 1 625 rh R0 4 IR U S
3115 XA T —1Y 1 625 XS4 IR IR Z S
3116 2 — 1 1 531 WS FERIFN TS
3117 75 B/ — Y 2 1156 rh R0 4 REIGHM TS
3118 E Tk — Y 1 625 X 4 ERICEN TS
3119 75 JiE U] — k4 1 531 WS FERIFN TS
3120 W =14 1 390 HXS B ERICWN TS
3121 e gl — 1 531 WS REZWNES
3122 %l — Y 2 1062 S FERIGN TS
3123 LB — 1Y 2 780 HS ZERIGEN TS
3124 el — Y 1 531 rh R0 4 RHFRIGHM TS
3125 AR — 2 1062 XS4 ERICEN TS
3126 R EA —Y 1 531 WS BRI Z S
3127 HEE — Y 4 2171 rh R0 4 REIGHM TS
3128 XK 25 — 1 1 531 WS FERIFN TS
3129 FE —1Y 3 1546 XS4 ERICEM TS
3130 KALLR — A 1 390 rh R0 4 REIGHM TS
3131 XIJE A =4 2 780 WS REZWNES
3132 ZEF — 1 625 XS 4 ERICEM TS
3133 £ KAk —Y 3 1311 HX B ERIZWN TS
3134 EEERN — Y 6 3374 rh R0 4 RHFRIGHN TS
3135 kA — Y 4 1842 HS FERIZN TS
3136 SEEE: — Y 1 625 WS BRI Z S
3137 R — Y 1 625 rh R0 4 REIGHM TS
3138 S — Y 1 625 XS4 ERICEN TS
3139 i A A — Y 1 531 WS BRI TS
3140 FE AR — A 1 390 rh R0 4 REIGHMN TS
3141 B g 15 — 2 780 HRS R ERIZWN TS
3142 Tkt — k4 2 780 WS ERICWNZS
3143 R — A 3 1546 HX B ERIZWN TS
3144 TK DR — Y 2 1015 rh R0 4 RHFRIGHM TS
3145 SN — 1 390 k! BRI TS
3146 2= Wi — 4 2 780 WS BRI Z S
3147 e — Y 2 780 rh R0 4 BT 252

3148 BER — 1 1 531 HS4H RIS A ZE 2

3149 B — k4 1 625 WS SR &2

3150 N — A 1 531 rh R0 4 BT 22

3151 wBREZ — 1 531 HR RS 4 B AT 22

3152 Eeayl — k4 1 531 HS SR Z 2

3153 Fage -y 1 571 rh R0 4 BT 22

3154 7K > ] — Y 1 531 rh R0 4 B AT 252

3155 2% ik — Y 1 531 XS 4 HDER &2

3156 15 1k — 1 1 531 WS RIS A ZE 2

3157 I ) — Y 1 531 rh R0 4 BT 252

3158 ZEAE — Y 1 531 XS4 HIXS A 2o

3159 Fxfik — Y 2 1062 XS4 HIXSA 22




3160 151 2R X — Y 1 531 XS4 RS2 2
3161 275 M — A 2 1062 rh R0 4 BT 22
3162 TrE — Y 2 1062 RS 4 BT 22
3163 PR v 2 780 XS 4 HIXS A 22
3164 AR AN =Y 2 1062 rh R0 4 BT 22
3165 Rl — Y 2 1062 rh R0 4 B AT 22
3166 A O — Y 1 531 XS 4 HDER &2
3167 TBE — 1 1 625 WS DR 22
3168 FIEH) — Y 1 625 rh R0 4 BT 252
3169 (RN — Y 2 780 X 4 B Z 2
3170 + 2 — k4 1 531 HS SR Z 2
3171 A5 — A 4 1795 rh R0 4 BT 22
3172 T £ — 3 1405 WS B AT 22
3173 &= — Y 2 1062 XS 4 HIXS A 2o
3174 T hH%E — A 2 921 rh R0 4 BT 22
3175 EEE — Y 3 1452 rh R0 4 B AT 252
3176 BEER — Y 2 780 HS HIXS A 2o
3177 IR — 14 2 921 WS B Z 2
3178 THEE — Y 2 780 rh R0 4 BT 252
3179 FEik =AY 2 1015 HOS HIXS A 2o
3180 W2 — Y 2 780 HS SR Z 2
3181 I NI =Y 5 2232 rh R0 4 BT 22
3182 el = — 2 921 WS B AT 22
3183 1 8 0] — Y 1 531 XS 4 MR 22
3184 KA ] — A 1 531 XS 45 MR IER &2
3185 T — Y 2 921 XS4 MR IEN T2
3186 e A =AY 1 531 WS IR T2
3187 FE — Y 1 390 XS 4 MR T2
3188 E&KTE — Y 2 1156 XS 4 MRS T2
3189 K2 — Y 4 1701 WS IR T2
3190 A — k4 1 531 WS M RIER T2
3191 XI 24 ik — A 2 1156 XS 4 IR IER &2
3192 FEF — 3 1405 XS 4 MRS T2
3193 Fe B ) — k4 1 625 AR MR s
3194 i ik — Y 1 531 HAS IR EMN T2
3195 ki — Y 1 531 XS4 MR IEN T2
3196 XK 5 — 1 625 WS IR T2
3197 A — Y 1 531 XS 4 MR T2
3198 hEA =14 1 531 P XS 4 MRS T2
3199 T£EIL — Y 1 531 HOS IR T2
3200 7K R — Y 1 625 XS4 IR T2
3201 K] — A 1 531 XS 4 IR IER &2
3202 X Tk — 2 780 XS 4T MR IER &2
3203 iR — k4 1 625 HS MR 22
3204 Eits — A 2 1062 XS 45 MR IER &2
3205 X — Y 3 1405 XS4 MR IEN T2
3206 XN ZHl — Y 2 1062 HS IR T2
3207 A=A 5 — Y 2 921 XS 4 MR T2
3208 T — Y 2 1156 XS 4 MRS T2
3209 Z= KNI —1Y 2 1015 XS 4 IR T2
3210 AR — 2 1062 XS4 WFIAR 2




3211 RN — Y 1 625 XS4 RN
3212 =8 — A 3 1452 rh R0 4 RN
3213 ERT — 2 1156 HXS R W IaR 22
3214 Bt — Y 1 531 XS 4 RN
3215 BEN — A 1 625 rh R0 4 PRI 2
3216 FT — Y 1 625 rh R0 4 IR T 2
3217 FEEEN — 14 1 531 HS PIMRIEAR 22
3218 B oR — Y 1 531 WS PIMRIAR 2
3219 PR -y 1 571 HS PRI T 2
3220 XI5 K — Y 2 780 WS IR Z 2
3221 KEE — Y 1 531 WS PRI R 22
3222 TJREE =AY 2 1062 rh R0 4 IR T 2
3223 i =AY 3 1170 WS PRI Z 2
3224 FRAT — k4 2 921 WS PRI A ZE 2
3225 2=k — A 2 780 rh R0 4 PRI 2
3226 B2 — Y 1 625 rh R0 4 IR T 2
3227 B Y — Y 2 1062 HS IR 22
3228 X & R — Y 2 1062 WS PIMRIAR 2
3229 L L2 — Y 3 1170 rh R0 4 PRI TS 25
3230 ZERZ =AY 2 921 HOS IR Z 2
3231 e — Y 1 531 WS PRI R 22
3232 R — A 1 390 rh R0 4 IR 2
3233 B ] — 1 531 WS PRI Z 2
3234 B — k4 1 390 AR IR T 2
3235 XI5k — A 2 780 rh R0 4 PRI F 2
3236 ESE — Y 1 390 XS4 BHEARNES
3237 HE — Y 2 780 WS BHEARNZS
3238 JHE XU — Y 1 531 WS EEARNES
3239 EZS — Y 1 531 XS 4 BHEARNES
3240 L 25 W1 — Y 1 390 WS BHEARNZS
3241 Pr T =AY 1 531 WS EEARNZS
3242 14 A =Y 1 390 HH XS BEARNZ 2
3243 2 B it — 2 921 XS 4 BHEARNES
3244 PRIER — Y 3 1640 S EEARNZS
3245 Rl — 4 2 921 HH XS BEARNZ 2
3246 AR — Y 2 1062 XS4 BHEARNES
3247 R4 — 1 531 WS BHEARNZS
3248 SR =Y 3 1405 HS g BEARINES
3249 KEE — Y 3 1170 P XS 4 BHEARNES
3250 iKn — Y 2 1015 HOS BHEARNZS
3251 S EEN — Y 1 531 WS EEARNZS
3252 X555 — Y 1 390 HH XS HEARNZ 2
3253 /N F — 3 1311 XS 4T BEARNES
3254 Sk — Y 1 390 S BEARNZS
3255 TG AR — Y 1 390 HH XS BEARNZ 2
3256 FTR — Y 3 1781 XS4 BHEARNES
3257 HEAS — Y 2 780 HS BHEARNZS
3258 W75 g =Y 1 390 WS SV ZE 2
3259 SEZNES — Y 1 531 rh R0 4 BT 222
3260 2RO — Y 2 1156 WS N2 eSS
3261 I i ] =4 1 531 XS GNP AT 225




3262 EEL — Y 1 625 XS4 N2 TS
3263 X F13: — Y 2 1156 rh Y R NS
3264 XIJHH ) — Y 1 625 RS 4 BDLAT 22
3265 ERR — Y 1 531 XS 4 N2 TS
3266 P g — A 2 1062 rh R0 4 BDEAT 22
3267 pJISEH — Y 1 390 rh R0 4 NS
3268 7Kt — 2 1062 WS N2 eSS
3269 LR AR — 1 1 390 WS SV ZE 2
3270 3 55 U — Y 1 531 rh R0 4 NS
3271 = — Y 1 531 HS NN TN
3272 A — Y 1 531 XS4 N2 TS
3273 AR — A 2 1062 rh R0 4 BNV 22
3274 =1 — 1 531 HH RS 4 BDEAT 22
3275 B4 — Y 4 1842 XS 4 N2 S
3276 EEN — Y 1 625 rh Y 4R BV 22
3277 K 1 — Y 1 390 rh R0 4 NS
3278 fif I, — 3 1405 HS N2 eSS
3279 LA — 14 1 625 WS BV ZE 2
3280 A — Y 1 625 rh R0 4 NS
3281 s — Y 2 780 HOS N2 eSS
3282 EISPRI — Y 2 1062 XS4 N2 TS
3283 HH/NES — A 4 2077 rh R0 4 NS
3284 24/ — 1 531 HH RS 4 A RN T2
3285 KR AE v 1 531 XS 4 AR T2
3286 X 75 5 — A 1 531 rh R0 4 AMAFIN Z 2
3287 Xe5 — Y 1 531 rh R0 4 A RN Z 2
3288 B . =AY 1 531 WS AMA TN T2
3289 HE R =Y 2 1015 WS KA RN F 2
3290 AR L — Y 1 390 rh R0 4 AMA RN Z 2
3291 46 L — Y 1 531 WS A TN T2
3292 ZRARHE =AY 1 531 XS4 AMA TN L
3293 ) — A 1 531 rh R0 4 A RN Z 2
3294 I — 1 531 HH RS 4 A RN Z 2
3295 PrF ] — Y 1 531 S A AFN T2
3296 B AE — A 1 531 rh R0 4 A FIN Z 2
3297 e R — Y 1 531 rh R0 4 A FIN T2
3298 el — 1 531 WS AMA RN TS
3299 R =AY 1 531 XS 4 A AR T2
3300 =1 — Y 1 625 rh R0 4 A FIN Z 2
3301 T =Y 2 921 HOS A RN T2
3302 A =AY 1 531 XS4 AMA TN TS
3303 fif TN — A 1 531 rh R0 4 A FIN Z 2
3304 Py — 3 1170 HR RS 4 A RN Z 2
3305 A E T =AY 2 921 XS 4 AR T2
3306 251 — A 2 1062 rh R0 4 AMAFIN Z 2
3307 =175 5 — Y 1 390 rh R0 4 A RN Z 2
3308 MG — Y 1 531 HS AMA RN T2
3309 70 75 ] — 4 1 531 XS 4 AR T2
3310 R — Y 1 625 rh R0 4 AMA RN Z 2
3311 2R A =4 1 531 WS AMA TN T2
3312 B =AY 2 1062 XS4 AMA TN TS




3313 HEE =AY 5 2232 XS4 AMA TN L
3314 TR ] — A 1 531 XS 4 BN
3315 S — Y 2 1062 XS 45 G YN
3316 ans =l — 3 1640 XS 4 AREE. YN
3317 K ] — A 1 531 XS 45 R N
3318 ZEIR | — Y 1 531 XS4 gz
3319 X STk =AY 1 531 WS ARt YN
3320 TR 5 — Y 2 780 XS 4 AL YN
3321 EiiSun;sA — Y 2 1062 XS 4 L. N
3322 EAEN =4 1 531 WS ARt YN
3323 X SCRI —1Y 2 921 XS4 AR UM
3324 EFES — A 1 531 XS 4 BN
3325 e — 2 1062 XS 4 G YN
3326 ) — 2 1062 XS 4 ARIEE. YN
3327 A5 — A 2 1015 XS 4 R N
3328 i R — Y 3 1452 XS4 gz
3329 e =14 1 390 HS ARt YN
3330 e PR — 14 2 1062 WS AL UM
3331 Xk 1L — Y 1 531 XS 4 R N
3332 o] PR % — 1 2 780 WS GREE. YN
3333 fA] 5 — Y 2 780 WS BN
3334 XK K — A 1 390 XS 4 BNz
3335 3N — 1 531 XS 4 G YN
3336 EFELE — k4 1 390 HS AREE. YN
3337 XI5 — A 1 625 XS 45 R N
3338 s — Y 1 531 XS4 gz
3339 fa[ PR 22 — 14 1 390 HS ARt YN
3340 XIfZ 1 — 1 2 1062 WS AR UM
3341 fi] 7M1 — Y 1 625 XS 4 L. N
3342 T =4 2 780 WS ARt YN
3343 N | —1Y 3 1311 XS4 AR YN
3344 Xk it — A 2 1156 XS 4 BN
3345 FIES — 1 625 XS 4 G YN
3346 R —Y 1 531 XS 4 ARIEE. YN
3347 Xl 7k J& — A 3 1311 XS 45 R N
3348 sl — Y 4 1560 XS4 gz
3349 LSR5 =14 1 625 WS ARt YN
3350 KRz — 4 1 531 XS 4 AL YN
3351 i PR 5 — Y4 2 780 HAS AR YN
3352 X SCAR =AY 1 531 HOS ARt YN
3353 BN E — Y 1 625 WS BN
3354 Wi — A 1 625 XS 4 BN ZEe
3355 i B 2R — 1 531 XS 4T G YN
3356 XI| 3 ¥ —Y 2 1062 XS 4 AREE. YN
3357 Pk ] — A 2 780 XS 45 R N
3358 Tk — Y 1 531 XS4 gz
3359 FHE — Y 2 1062 HS ARt YN
3360 X 75 = — Y 1 390 XS 4 AR UM
3361 i B4 — Y 2 1062 XS 4 L. N
3362 X &8 — 1 2 780 WS ARt YN
3363 sk i — Y 2 1062 XS4 AR YN




3364 DAL — k4 1 625 HS ARt YN
3365 {5 A — A 2 780 XS 4 BN
3366 g — Y 1 531 WS EVALSE N
3367 ZERKIU — Y 1 531 S EIARMNES
3368 0 i — A 1 531 HX B EIARNZES
3369 TR Tt — Y 1 531 HS ETARNES
3370 M EAE — Y 1 531 WS ENARMNEZS
3371 MR =AY 2 1062 WS EIARMNES
3372 E AL — Y 1 531 HS ETARNES
3373 fEE A U =4 1 531 WS EIARMNES
3374 8 1 — Y 3 1546 WS ENARMNES
3375 K A — A 1 390 rh R0 4 EIARNZES
3376 E X — 1 2 1062 HRS R EVALSE N
3377 2% =AY 2 1250 S EIARMNES
3378 2= 5] — A 2 780 rh R0 4 EIARNZES
3379 gk — Y 4 1842 rh R0 4 EIARNES
3380 8 & K =AY 1 625 HS ENARMNEZS
3381 2= 2L BT =AY 1 531 WS EIARMNES
3382 ik — Y 1 531 rh R0 4 EIARNES
3383 T =14 3 1311 HOS EIARMNES
3384 ERAE =AY 1 531 WS ENARMNES
3385 ke )L — A 1 531 rh R0 4 EVALSE Y
3386 Fin — 1 625 WS EVALSE N
3387 TS — Y 1 531 S EIARMNES
3388 BE — A 1 625 rh R0 4 EVALSE YN
3389 555 1 — Y 2 1156 rh R0 4 EIARNES
3390 XI] 06 =AY 2 1062 WS ENARMNES
3391 X 4k o —Y 2 1015 eIk HARIEM 22
3392 %52 — Y 1 625 e LIk RN T2
3393 HHEE — 1 2 1062 ek BRI
3394 X1 [ 5 — 2 1062 e Ik HARIP ZE2
3395 AT —Y 1 625 eIk PR T2
3396 A 5] ik — Y 1 390 eIk RIS
3397 R —4 1 625 ek e RIS
3398 H=4 — A 1 531 e Mk RN T2
3399 XI5 — Y 1 531 eIk eI TS
3400 WEY — 1 531 ek RIS
3401 BT — Y 1 531 ek BE RIS
3402 PRE — Y 2 1062 eIk RIS
3403 ok v 1 531 e SlIk:! HARM 22
3404 X =% — Y 1 531 e Ik HARIP 22
3405 ¥R =AY 1 390 e Mk RN T2
3406 S — 1 531 P )4 GRS
3407 BEST — Y 4 1842 e Sk AR 22
3408 BE /IR — A 1 390 e LIk RN T2
3409 B0 — Y 2 1015 ek eI TS
3410 BEE L — 14 1 390 ek HARIPZ2
3411 WA — 1 3 1405 BRI 4A AR 22
3412 i — Y 4 1795 eIl RIS
3413 TIMRE — 1 4 1842 eIk HARM 22
3414 ESE S — Y 1 390 e Ik HARIP ZE2




3115 | Bad | =M __
T 0 N TS 311 TN W 1T 72
3417 S| =14 3 14592 Z"%“I%’E\ ,—i:‘;?{@*jé%
3418 | AR | =Y 2 1015 AT S LiE Shub s
3419 | BibecE | R 1 625 O i SOLak S
3120 | BEgA | b 1 625 o
3421 TE& = A ™ ﬁﬁ)lléﬁ ié{@ﬁé%
3422 | BASIF =Y 6 3139 ﬁ?)llﬁé iéwﬁéé\
3423 | Bz =y . D ﬁﬁjll’{é _ﬁ?‘{@ﬁé%
3424 | BT — 3 o ﬁﬁ)lléﬁ ié{@ﬁé%
3425 | BORE | —pY 2 780 AZNS biESUIE S
3426 | XIEF | =#Y 2 780 T L6 Sclupes
3427 TR =y 1 290 ﬁ%)”% ié/gﬁlé/ﬁ\
3428 | BAGIPE | =Y 2 780 AalIE HAINZ S
3429 | X =Y 5 01 ;ﬁﬁm'ﬁa iiﬁ‘{@ﬁéé
3430 AL — 1 o ;mﬁmaa i@@ﬁé%
3431 | wousl | 4y 4 2077 ALl HANHE S
3432 | FREE | Y 3 1311 ﬁ?m%‘ iE Sukubie
3433 | Tk | = 1 390 DN | DI R
3434 | FIKil —t4 2 1062 Zﬁ‘?)”%‘ @gj%ﬁ%é‘f
3435 | RS — I or ;m;?}ll’éé 1 b I T
3436 | FIE | b 2 01 T JITT W TP E E
3437 | ZERAUAT | Y 1 605 CESIUTI WETTTEREE £
3438 | Fig | =Y . o AL UEENE A
3439 | Fyatk | Ry ] oo iE Sl b b M 7 2
3440 FAb2 =Y 1 5077 ﬁ?}llﬁﬁ\ @gj%ﬁéé
3441 | pmnE | =44 3 1546 A A E
3442 | W§4E5 | b 1 = TSI W TTEN SEE
3443 | TS =Y 3 it ﬁﬁjll’ﬁé DYERIETS
3444 I =Y 1 o 1ESLL b IR 7 2
3445 i — A 2106 ﬁ?)llﬁé 1 b I T
3446 | VroME | —#Y 2 1015 padlil | ekl
3447 | it | — 2 T T JITL T W TP AE ES
3448 | mmsnth | Y I TS
51T v 2 1062 EEANL o
3449 e K R =Y o 062 ;jﬁ it Eiﬁiﬁﬁéé\
3450 | mZLM | =Y 1 531 Bl L
351 | mgik | = | o 1250 AZIE | s sHAS
3452 A = 2 1062 ﬁ?m%‘ ﬁ?iﬁﬁéé
3155 | Xt | b | 531 16 QUL ST S R
34510 | BT | b | 390 BEIIE | EEUENES
3455 | mibeld | b : 921 CEIT M2
3456 | mKE | A% 2 1062 BEIE | BFENTS
3457 | R | = 2 1015 BRI | B Ee
3458 | BCE | — 44 2 780 P aIRT R 2k S
3459 | matk | A% 2 1015 BRI | BRENTS
3460 | moEtE | Ay 2 1062 BFNE | BN ES
3461 | kg | f I = CE NI W
3462 YA — 1 eI ERIEN TS
ots | 3 1311 g SRS
3463 | /bl | —pY 5 -~ iE Sl ST
3464 = — 0 méﬁ}ll% %%ﬁi§$ﬁ§A
TS 2 1250 e E RS 2
3465 | mifEE | b ] = CE 1T W P
BRI RN TS




3466 X AL — Y 1 625 BRI 4A SIS
3467 = (A — A 2 1062 e LIk RN 2
3468 [SIE 2 — kY4 1 470 eIk B FIER o
3469 bl Es — Y 1 390 eIk eSS
3470 R — A 1 390 e LIk RN E 2
3471 2075 1k — Y 1 625 ek & Ao
3472 F 51k — 1 1 625 eIk WEE A RS
3473 bR — Y 2 780 eIk W& oA 2o
3474 5|5 — 1Y 2 1015 eIk it & At 2o
3475 e8/d32; v 3 1781 e SlIE:! W& oA 2o
3476 KR IE — Y 1 390 e Ik W& oA 252
3477 B 5| 4 —Y 2 1062 eIk iR N
3478 BEAD Bt — Y 2 1156 eIk WA A 22
3479 PR — Y 1 531 e Sk W& oA 252
3480 FfELE — A 1 531 e LIk iR N
3481 S50 =Y 1 390 e LIk W& o 22
3482 L& — 1 1 531 ek W& oA 2o
3483 X =3 — Y 1 531 e Ik iR
3484 1 OE — Y 1 390 eIk it & At 2o
3485 A Bk — Y 1 390 e SlIk:! W& oA 2o
3486 TR — Y 2 780 e Ik W& oA 252
3487 X EE — Y 1 625 e LIk iR N
3488 AL — 1 390 BRI W& iAo
3489 X 42 — 2 780 e Sk W& oA 252
3490 EXE —Y 2 1015 e LIk iR N
3491 SR — Y 1 531 ek & Ao
3492 WG — Y 2 780 e Sk W& oA 2o
3493 VLTS — 4 2 1062 eIk W& oA 2o
3494 PR fi — Y 3 1546 eIk it & A2 o
3495 ke — Y 2 1015 e SlIE:! W& oA 2o
3496 S 3 . — 1 625 e Ik W& oA 252
3497 FENRE —Y 3 1405 eIk iR N
3498 PR ES — 1 625 BRI W& iAo
3499 foAR 5] — Y 4 1983 e Sllk:! P EREIN
3500 Bh 20 pk — A 1 625 e Mk eI
3501 X5 )L — Y 2 921 eIk XNFIBR 2
3502 ERE Y 1 625 e Sllk:! RIS
3503 FOE — 14 1 531 e Sllk:! MEREIN S
3504 TR — Y 1 625 eIk XNFIBR 22
3505 X g & — 14 2 1015 e Sllk:! P EREN
3506 X R — 2 780 e Sllk:! EREIN S
3507 X E1E —14 1 611 e Mk eI S
3508 X Bk £ — 1 390 P )4 XNFIBR 2
3509 R 4 — Y 2 780 ek P EREUN
3510 PR B =14 2 1156 eIk MEREINE SN
3511 =K% — Y 2 1156 ek XNFIBR 2
3512 [ — Y 1 625 e Sllk:! EREIN S
3513 15 — Y 1 625 e Sllk:! P EREIN
3514 ik — Y 1 625 eIl RN N
3515 T« r v 1 531 e SlIE:! MmN Z2

3516 AT —1Y 1 531 e Ik MmN ZE




3517 H 7Bk — 1 390 e Ik MmN ZE
3518 ETL =1 1 531 ek B 22
3519 A B =14 1 531 BRI M ZE2
3520 Eih# —Y 1 531 e Sk MmN Z2
3521 AL — Y 1 531 eIk MM 22
3522 i E % — Y 1 531 eIk MM 22
3523 THH —1Y 2 780 e Ik MmN ZE
3524 TF# —Y 3 1311 eIk MmN ZE
3525 TRF — Y 2 780 e LIk Mt ZE2
3526 E5°F — 4 2 780 e SlIE:! MmN Z2
3527 EME — Y 4 1795 e Ik MmN ZE
3528 pign — A 3 1546 eIk M ZES
3529 PR AR — Y4 3 1405 eIk A ZE 2
3530 22X -y 2 860 e Sk MmN Z2
3531 B2t — 1Y 1 390 eIk A 22
3532 RN — Y 1 625 e LIk M ZES
3533 F b — 2 1156 e Ik MmN ZE
3534 RSl — 4 2 1015 e Ik MmN ZL
3535 PET — Y 2 1015 eIk Mt ZE2
3536 B2l —Y 1 625 e SlIk:! MmN Z2
3537 AR — k4 1 625 ek B ZE 2
3538 pint — A 2 780 e LIk M ZE2
3539 EYN)A =14 1 531 BRI Bt ZE2
3540 ik —Y 1 531 e Sk MmN Z2
3541 TR —Y 1 625 e LIk M ZE2
3542 TR =14 1 625 eIk M ZE2
3543 51 25 B — Y 2 921 eIk ERITA 22
3544 T4 Uk —Y 1 531 eIk R 22
3545 g — Y 2 1062 eIk PRI 22>
3546 AL — 1 2 1062 eIk BRI e 2s
3547 e — Y 2 1156 ek ERITA 22
3548 K % ] — A 2 780 eIk R 22
3549 AL — 2 1250 BRI PRI 22>
3550 E K B — Y 2 921 eIk R ITA 22
3551 5T — A 2 1062 e Mk PR 22>
3552 0E — Y 2 1015 eIk R 22
3553 RIS — 1 2 1015 B ) 4A R ITA 22
3554 ik 25 HE — Y 1 625 BRI 4A ERITA 22
3555 Kb — Y 1 390 PR g2
3556 K 3kt — 14 2 1156 e SlIk:! NS
3557 %Y JT — 1 531 e Ik LRSS
3558 ERE — Y 1 531 e Mk s 2
3559 2R — 1 390 B SRS
3560 X P4 — 1 390 e Sk RS
3561 Cedis! — 1Y 1 390 eIk se)IA 22
3562 FKANF — Y 1 390 eIk s A 2
3563 KK E — Y 1 390 e Sk LRSS
3564 2 ik — Y 2 1015 ek s A 22
3565 IS — Y 2 780 e LIk s 2
3566 XU —1Y 1 625 ek NS
3567 K —1Y 2 1015 e Ik LRSS




3568 KiRA — Y 2 1062 e Ik LRSS
3569 KIRE — A 1 531 e LIk SRS
3570 e — Y 2 1062 BRI SRS
3571 B —Y 2 1062 e Sk RS
3572 B — A 2 780 e LIk s 2
3573 KE % — Y 1 625 eIk s A 2
3574 KER — Y 3 1311 e Ik LRSS
3575 BIEE =Y 3 1311 eIk s A 22
3576 Tk R E — Y 2 780 e LIk s A2
3577 2% 33k ek —1Y 2 921 ek RS
3578 RN — 4 1701 e Ik LRSS
3579 A =Y 2 780 eIk s 2
3580 ik 51 — 1 390 BRI SRS
3581 A /NF — Y 2 921 e Sk RS
3582 EEE =AY 6 2998 e LIk s 2
3583 X KA — Y 1 531 e LIk s A2
3584 EEE =AY 3 1546 e Ik LRSS
3585 5K — Y 5 2326 e Ik SRS
3586 2 — Y 1 390 eIk s A2
3587 FEi — Y 1 390 e SlIk:! RS
3588 7K i R — Y 1 531 e Ik LRSS
3589 ERE =Y 2 1156 e LIk s A2
3590 HE — 2 1015 BRI SRS
3591 ik 5 — Y 1 390 e Sk NS
3592 A =AY 5 2326 e LIk s 2
3593 PEZ % =14 3 1311 eIk s A 2
3594 ZHE — 2 780 e Sk LRSS
3595 22 R — Y 1 390 eIk s A 22
3596 FERIE — Y 2 1062 eIk RFNFER Z o
3597 PIRZE — Y 3 1546 e SlIE:! RFNEM Z5 o
3598 S — Y 2 1250 e Ik TN Z5 o
3599 K —Y 2 1062 eIk RFNFEA Z o
3600 Eiimmyl — 2 1015 BRI RN ER 2
3601 T\ — 2 1156 e Sk RFNFEM Z5 o
3602 T3k — A 2 780 e Mk RN Z o
3603 JaniEan — 1Y 1 625 eIk RFNFER Z o
3604 KA S — 2 1015 PR RFNZEM Z5 o
3605 T0H — Y 2 780 e Ik RFNFEM o
3606 Al S — 1Y 4 1842 eIk RFNFER Z o
3607 7k kK — Y 1 531 BRI 4A FOUENZ 2
3608 Tk 2L — k4 1 531 B )I4A FOUERZ 2
3609 Mg — Y 3 1311 e Mk POENZ 2
3610 A TRk — 1 531 B FOEN Z 2
3611 TG — k4 2 1062 eIk FOUEMZ 2
3612 e T — A 2 780 e LIk FOENZ 2
3613 IR — Y 3 1546 ek PR Z 2
3614 e — Y 3 1452 eIk PR R
3615 ] — 2 921 eIk FOENZ 2
3616 K — Y 2 1015 e LIk PR ZE
3617 7R — 1 1 625 eIk FOUENZ 2
3618 R E — k4 1 531 eIk FOUERZ 2




3619 patinhae — k4 1 390 eIk FOUERZ 2
3620 7K 5] — 1Y 1 625 e LIk POENZ 2
3621 GeZL — Y 1 625 BRI FOEN Z 2
3622 P — k4 2 780 ek FOUEMZ 2
3623 k== =14 2 780 e LIk PN Z 2
3624 7K Ik 7K — Y 2 780 ek PR Z 2
3625 PBRE — 1Y 4 1842 eIk PR
3626 T — 1 1 390 eIk FOENZ S
3627 XY =2 — Y 1 625 e LIk WZERBINE S
3628 )& BR —1Y 2 1015 e SlIE:! IZERIN TS
3629 B =t 2 921 e Ik ERIN TS
3630 AT — Y 1 531 eIk ERCINE oS
3631 ) 58 — 1 390 BRI RIS
3632 EESZ —Y 1 625 e Sk IERIN
3633 HRKE — Y 5 2467 e LIk IZERBINE S
3634 [ ZRi=RAN =4 1 625 e LIk W ERLINE SN
3635 Bttt — Y 2 780 ek ERCINE S
3636 XI| el — 4 1 531 e Ik WERIN S
3637 B — Y4 2 1015 eIk IZERINE S
3638 15X — Y 1 625 e SlIk:! IZERIN oS
3639 A — Y 2 1156 e Ik ERIN TS
3640 pa — Y 2 1062 e LIk ZERBINE TS
3641 AN — Y 2 780 BRI RIS
3642 5 JIEHE v 2 780 e Sk ERIN
3643 X —Y 1 390 e LIk ZERBINE S
3644 (KN — Y 4 2030 eIk W ERLINE SN
3645 iR — Y 3 1170 e Sk ZERINE TS
3646 ME% — Y 1 390 ek IERCINE o
3647 Mas — Y 3 1170 e LIk W ERLINE S
3648 TRk v 1 531 e SlIE:! IZERIN oS
3649 ML — k4 1 390 ek ERIN TS
3650 15 AER =14 1 531 eIk ERCINE TS
3651 15— By — 1 390 BRI RIS
3652 el —4 1 390 ek IERCINE oS
3653 Bl — 1Y 1 625 eIk ERCINE o
3654 BRI — 1Y 1 625 e LIk W ERLINE SN
3655 FaE — 1 625 PR ERIN TS
3656 AR — 14 2 1015 BRI 4A WERIN S
3657 WA =14 1 625 PR WERLINE SN
3658 A — Y 1 625 e SlIk:! IZERIN oS
3659 M — k4 1 625 ek ERCINE oS
3660 ] — Y 3 1452 e Mk ERBINE TS
3661 MR — Y4 2 780 eIk IERCINE
3662 MF%E — Y 5 2373 ek IERCINE oS
3663 Boifa — 1Y 2 780 eIk ERCINE o
3664 o — Y 1 390 eIk W ERLINE SN
3665 M itHE — Y 2 780 e Sk ZERINE TS
3666 X E — 1 4 1936 BRI 4A eSS
3667 X4 L — Y 1 531 eIl eSS
3668 RS — 1 4 2030 ek eSS
3669 T — k4 2 1156 B )I4A eSS




3670 XK — Y 2 780 eIk eSS
3671 AR — 1Y 4 1936 e LIk NERESS
3672 PR % — 1Y 5 2608 B4 XE A ZE 2
3673 BE — Y 4 1701 e Sllk:! eSS
3674 X — Y 2 780 e LIk NERESS
3675 XI| — Y 1 390 ek NERESS
3676 AR — 2 1015 e Sllk:! NWERESS
3677 X g o — 1 3 1781 BRI 4A eSS
3678 P9 — Y 2 780 eIk eSS
3679 X B — 4 2 921 e Sllk:! eSS
3680 B BT — Y 2 780 e Sllk:! eSS
3681 VRS =Y 4 2077 eIk NERESS
3682 I 4 55 — Y 1 625 eIk XNE A ZE 2
3683 Bt — k4 1 531 eIk NEINESS
3684 /NS — 1Y 1 625 eIk NERESS
3685 T B % — Y 1 625 e LIk EINESS
3686 SRE =1 1 625 e Sllk:! eSS
3687 PR — 14 1 625 e Sllk:! NS
3688 X KES — Y 2 1015 eIk eSS
3689 5 — Y 3 1452 e SlIk:! eSS
3690 X SR — 1 390 e Sllk:! eSS
3691 X — — Y 2 1062 e LIk NERESS
3692 KL — Y 2 921 eIk XNE A ZE 2
3693 X1 & B — k4 2 1015 ek eSS
3694 R 35 0t —Y 2 780 e LIk NERESS
3695 e e — Y 2 921 ek NERESS
3696 Kb A — 1 531 e Sk TRRHE R 22
3697 KR —Y 1 625 eIk TR RHE R 22
3698 XIRilf — Y 1 531 eIk TRRHE R 22
3699 PG — Y 1 390 ek TRRHE R 22
3700 [SEAA — Y 1 531 e Ik TRRHE R 22
3701 Kt — A 2 1062 eIk TRRHE N 22
3702 A2 DB — 1 390 BRI KRB Z 2
3703 HERZE — 4 2077 e Sk TRRHE R 22
3704 KT — A 1 625 e Mk TRRHE N 22
3705 XY — Y 1 531 eIk TRRHE N 22
3706 BI5 75 — 1 531 ek TRRHE R 22
3707 KIRF — 14 1 531 ek TR RHE R 22
3708 g4 i — Y 1 531 eIk TRRHE N 22>
3709 BT — 1 2 1015 eIk TRRHE R 22
3710 PR o — Y 3 1311 e Ik TRRHE R 22
3711 151 AR — A 3 1311 e Mk TRRHE N 22
3712 K g — 4 2077 B KRB Z 2
3713 PR — Y 1 390 e Sk TRRHE R 22
3714 A BRI — A 3 1405 e LIk TRRHE R 22>
3715 Bk AL — Y 4 2312 ek TRRHE N 22
3716 BUR — Y 4 2171 e Sk TRRHE R 22
3717 K& — 4 1 625 eIk TR RHE R 22
3718 FEE M — Y 1 625 eIl TRRHE R 22
3719 Y% — Y 1 625 ek TRRHE R 22
3720 BEER — Y 1 531 ek TRRHE R 22




3721 2ES; — Y 1 531 e Ik TRRHE R 22
3722 PR — A 4 1701 e LIk TRRHE N 22
3723 K 7 — Y 3 1311 BRI KRB Z 2
3724 AR — Y 2 780 e Sk TRRHE R 22
3725 B — A 2 780 e LIk TRRHE N 22
3726 BUNE — Y 3 1311 ek TRRHE N 22
3727 Ho kb4 — 1 531 e Ik P FEN TS
3728 EER v 1 531 eIk e N
3729 P — Y 2 780 eIk Pl FAZE 2
3730 2 —1Y 1 390 eIk P FN 2
3731 B — 1Y 5 2843 ek P FEN 2
3732 BH A — A 2 921 ek Pl FAZE 2
3733 A B — 1 390 eIk BN TS
3734 BLRE — Y 1 531 e Sk P FN T2
3735 PR — A 1 390 e LIk Pl A ZE o
3736 B — Y 2 921 eIk Pl FAZE 2
3737 b5 — 1Y 4 2077 eIk X 2o
3738 PUEE — 14 2 1015 eIk P X 2 os
3739 pretl] — Y 1 625 eIk Pl FAZE o
3740 B ke — 14 3 1781 e SlIk:! P FN 2
3741 Ha /K ik — Y 4 2312 ek P FEN TS
3742 Ao — A 2 780 ek Pl A ZE 2
3743 T — 3 1452 BRI Pl FAZE 2
3744 BB R — Y 3 1405 ek IR
3745 R — A 1 625 eIk Pl A ZE 2
3746 B — Y 1 625 ek Pl FAZE 2
3747 wme2 — Y 1 531 e Sk e N
3748 1R v 2 921 eIk i N
3749 XIJ i o — Y 4 1983 e LIk i N
3750 M =Y 1 390 e SlIE:! i N
3751 W= —1Y 2 780 e Ik BB EN TS
3752 i) [ Sk — A 2 1062 eIk I F A 22
3753 15 7R — 1 531 BRI i e N
3754 I ER L — 2 780 e Sk i N
3755 FEME — A 1 531 e Mk i e N
3756 5% — Y 3 1405 e LIk w2
3757 H&Y — 1 625 PR i N
3758 =RELS v 1 625 e Ik i N
3759 g [X 1 — Y 2 1015 PR i N R
3760 KLY — Y 1 531 e SlIk:! i N
3761 v B — Y 1 625 e Ik R
3762 J7BEAK — A 2 921 e Mk g A 2
3763 S Pawsi — 4 1983 B i e N
3764 i) 5 ) — Y 2 780 e Sk i N
3765 TR — A 2 780 e LIk i N
3766 Pl ic — Y 1 625 eIk i N
3767 T — Y 1 390 e Sk e N
3768 itk — Y 2 1156 ek TEZNZS

3769 IR — Y 1 531 e LIk RN ES

3770 it — 1 2 1156 eIk TEZNZS

3771 Trfi5 = — Y 1 531 eIk TR 22




3772 K= — k4 4 2077 BRI 4A TEZNZS
3773 [v o it — 1Y 1 531 ek XM ZE2
3774 T* Y] — A 2 1062 BRI RN ES
3775 IR — k4 1 531 ek TEZNZS
3776 TR X =14 1 531 eIk TR ZE2
3777 SEAL — Y 1 531 eIk TENES
3778 FEIED) — 14 3 1546 ek TEZNZES
3779 T/ — 1 1 625 eIk TR ZE 2
3780 TrIE o — Y 1 531 eIk TR 22
3781 7 B B — 1 2 1015 eIk TEZNZS
3782 TR 3R — k4 1 625 eIk TR 22
3783 TR =14 3 1405 eIk TR ZE2
3784 Trld =1 1 625 eIk TR ZE2
3785 R — Y 2 780 ek TEZNZS
3786 THA — A 2 780 e LIk RN ES
3787 TR — Y 2 780 eIk XM 22
3788 I E — 1 2 780 PR WENES
3789 EHIL — 14 4 1701 ek WENES
3790 E R — Y4 1 625 eIk WENEE
3791 15 =% — 1 1 531 PR WEMNES
3792 EER — k4 1 390 eIk WEMNES
3793 FiEm e 1 571 ek WENEE
3794 F 0w — Y4 2 780 BRI WENEZ
3795 EE R — k4 3 1170 ek WENES
3796 pall| —Y 1 625 eIk WENEE
3797 IR S — Y 2 921 eIk WENEE
3798 IR — 14 4 2077 ek WENES
3799 E5Z v 2 1062 ek WENES
3800 EEE — 1Y 3 1311 e LIk WENEE
3801 EEF — 1 2 780 ek WENES
3802 E ik — k4 2 1015 ek WENES
3803 TEZE — A 1 390 ek WENEE
3804 IR E — Y4 1 625 BRI WENEZ
3805 T FI B — 1 2 1015 eIk WEMNES
3806 BAR — Y 2 1015 ek WENEE
3807 F K — Y 4 1936 e LIk MENEE
3808 5K AR — 1 2 1015 ek WENES
3809 s — 14 2 921 eIk WEMNES
3810 EEE — Y 1 531 eIk TEHRKEANES
3811 iKiEE2 — Y 1 390 e Sllk:! ENSERIINESS
3812 52 — 1 531 e Sllk:! ENSE IS
3813 A AT — A 1 531 e Mk FAFEANES
3814 HiER — 5 2091 P )4 THKEANZS
3815 EENE] — Y 3 1405 ek ENSE RIS
3816 KB — A 2 1062 e LIk FEREANES
3817 =5 Bk — Y 1 390 ek THXKEANES
3818 ZRIE — Y 4 1795 e Sllk:! ENSERINESS
3819 EEAE — 4 2 921 e Sllk:! ENSE RIS
3820 SE — Y 1 531 eIl THRKEANES
3821 7K B BB — Y 2 780 e Sllk:! ENSERIINESS
3822 T — k4 1 390 eIk TAFKENES




3823 A2 — Y 5 2467 eIk ENSE IS
3824 K [ 5 — A 3 1311 e LIk FAFEANES
3825 77K 5 — A 4 1560 B4 THKENZS
3826 E -y 1 571 e Sllk:! ENSE RIS
3827 H72 — A 1 390 e LIk FEFEANES
3828 2RE =Y 4 1936 ek THXKANES
3829 L — Y 2 780 e Sllk:! ENSERINESS
3830 ENE — 1 1 390 BRI 4A TEHRANZS
3831 £ U] — Y 1 531 eIk TEHRKANES
3832 FE{E — Y 4 1842 e Sllk:! ENSERIINESS
3833 Pl — k4 2 780 eIk TAFKENES
3834 EEES — A 1 390 eIk FAFEANES
3835 K — 2 1015 eIk THKENZS
3836 PSR — Y 2 780 e Sk PENZS
3837 = B | — A 2 1156 e LIk PENES
3838 ENTE =AY 2 1156 e LIk PENES
3839 KT % — Y 1 625 e Ik PN ES
3840 B Bt — 14 2 1062 ek PENTS
3841 g ik — Y 2 1156 eIk PENES
3842 SES — Y 1 531 e SlIk:! PENES
3843 A — Y 2 1062 e Ik PENZS
3844 BEIG S — A 1 390 e LIk PENES
3845 [ X~ =AY 2 921 BRI PN ES
3846 B LR — 2 1156 eI STt Al
3847 B 75 — A 1 390 e LIk PENES
3848 94 =1 2 1015 B )| 4E SR e
3849 A —1Y 2 780 e Sk PN ES
3850 % £ — 4 2 921 eIk PENES
3851 PR = — Y 2 1015 e LIk PENES
3852 A E —1Y 3 1546 e SlIE:! PENES
3853 IERANGE — Y 3 1452 e Ik PENZS
3854 v — A 2 780 eIk PENES
3855 KX =% — 1 531 BRI PN ES
3856 B St 2. — 5 2373 e Sk PENZS
3857 #5]F — A 1 390 e Mk PENES
3858 B HE =Y 1 531 e LIk PENES
3859 A — 1 2 780 ek PN ES
3860 FE SR — Y 2 921 e Ik PENZS
3861 BRI 2 — Y 5 2232 PR PENES
3862 TR AR % —Y 2 1015 eIk PENZES
3863 i /N> — Y 2 921 e Ik PENES
3864 PRI 56 — A 2 921 e Mk PENES
3865 A2 — 1 531 B PN TS
3866 AR — 3 1405 e Sk PENZS
3867 A — A 4 1936 e LIk PENES
3868 B =Y 3 1405 eIk PENES
3869 AR 5 — Y 5 2561 e Sk PN ES
3870 TKIE 7 — Y 1 531 eIk PENES
3871 pakiS — Y 1 531 eIk Pk s
3872 KPR — Y 1 625 e Sllk:! EHENZS
3873 ZHE — 2 921 e Ik EHENZS




3874 kA PR =Y —
3875 | A4k EE é 1642552 %?j ::i i%ﬁé%
3876 | fffEsE — 1 Sor ’J’mﬁﬂléé ZEEN%%
3877 | MREE | M 1 oo ;j;%}”%é T%ﬁé%
3878 | FERP =1 3 1405 ’Tﬁ} I i%ﬁé%
3879 | Ta4k3y | 3 1311 ,’Tﬁ”:é LA
3880 B = 1 =51 ’J’m“é)lléé EEEN%%
3881 | Wt | =Y 5 2373 o TR e SRS
3882 | TAEMF | =AY N =51 ’J’mﬁﬂléé fiﬂgﬁﬁé%
3883 | EEEML | kY 1 390 ijm“é)lléé i KU 5 5
3884 e = ] - ﬁ?m@é fi“ﬁ“é%
3885 | WilibE | b 1 531 TR AN % 2
3886 A = 2 1062 ,T;? T i USRS
3887 | Fbfam | Y 1 531 e i A&
3888 | WL — 5 - ;jﬁ“ o fiﬂgﬁﬁé%
3889 | Bi=JL B 5 1063 ’J’Q%}I:% ‘{iﬂ({)ﬁﬁéé
3890 | XIEEEE | Y 1 531 > 2 T A 7 22
3891 | BET |k 2 780 S i AU 2
3892 | HiFHk — 1 290 ;jﬁ” o fiﬂgﬁﬁé%
3803 | L | =% 5 e ;’Q?)ll@’é i K U 5 52
3894 | WAE | kY 5 e fﬁ)l:@é IR 2
3895 | EALE | pY 3 1311 s i TERTIEA
3896 | BUHHF =4 3 1170 rE T i USRS
3807 | Bash | Y 2 1062 el AU B
3898 | Hath =Y 4 1936 e i ORI
3899 | WA | =Y 4 1842 T AN 2
3900 | B KK Y 3 1901 S il i5 ST
3001 | WUl | Y 3 1311 el TV 2
3902 | mUBME | Y 2 1001 e I I 2
3903 | BAE | 1 390 LE T A 2 22
3904 | WEAtE k4 2 921 L L “: o i SISV
3905 | AR | 1 571 s T KU & 2
3006 | M | Y 1 390 2 i KR 2
3007 | sk | Y 2 780 el A&
3908 | kKMl — 1 Sor ;jﬁ“ o fiﬂgﬁﬁé%
3909 W% B 1 G ﬁé}llég\ {iﬂ(ﬁﬁléé
3910 | BWJL | —# 1 625 fﬁ“:%’é A 7 22
39011 | BEM | Ay 2 921 ;“;?“ - AU 2
3912 | BB | Y 2 780 = ),Iég‘ AR Z 2
3913 | HEk | 1 531 fﬁ“:%’é A 2 22
3914 | B¥A = 5 1063 ﬁ?m@é fi“ﬁ“é%
3915 | BME |k 4 1842 s i IR
3916 | BEE | b 3 1546 s I IR 2 2
3917 | Wi = 1 So ’J’m‘\é)lléé fi7k{)ﬁ$ﬂ‘§%
3918 | WMIE | Y ) 1015 e i AR 7 2
3919 | skifigk | —pY 1 625 AR “'é A B 2
3920 | AR | Ay 1 = ﬁﬁ)l{@é EHSTITEES
3921 | ERM | —#Y 1 531 ﬁ?)lléé HAHER
3922 | bR — 5 780 ’J’mﬁﬂléé WM ER
3923 LR — 5 1062 ’J’m“é)lléé ﬁﬁﬁéé
3924 | IR [ =Y 1 390 T hithZ e
B H AN ZEE




3925 AR EL — Y 3 1640 e Ik hBNZES
3926 KOs — A 3 1170 e LIk iRz
3927 o & — Y 2 1062 BRI hBh e
3928 EEH=] — Y 2 780 e Sk hBENZES
3929 T — A 1 531 e LIk Bk ZEe
3930 BN — Y 2 780 ek hBR e
3931 EENG — Y 4 1842 e Ik AR ZES
3932 SRR — kY4 2 1081 ek NS
3933 XX PR — Y 2 1062 e LIk iRz
3934 X FZE — Y 1 625 e SlIE:! hBR %S
3935 X 4 — Y 1 625 e Ik hBNZES
3936 TKES — A 4 1983 eIk TRz
3937 HHE =14 2 780 eIk hBh e
3938 B — Y 2 921 e Sk hBNZES
3939 7K 7k 7k — A 4 1842 e LIk Bk ZEe
3940 B — 1Y 4 1842 e LIk iRz
3941 RSO — 2 780 e Ik RS
3942 =N — 14 2 780 ek hBNZES
3943 ES 9 — Y4 1 531 eIk MRS
3944 S —Y 2 1015 eIk HEMES
3945 X — Y 1 390 e Ik F7 N ES
3946 TE% — A 2 921 e LIk E AN
3947 X [X 1k — 1 531 BRI EX AN TS
3948 THE — Y 1 390 e Sk Fo7 M ES
3949 Y —Y 1 390 e LIk F5 R Z 2
3950 ESAiELis — Y 1 531 eIk EX AN oS
3951 XEEF — Y 1 531 e Sk F7 TS
3952 Mt — 1 1 625 ek FEHINES
3953 PR — Y 1 531 e LIk F5 k2
3954 %2 = 1 531 e SlIE:! EAII S
3955 i B8 == — Y 1 390 ek EFHIINES
3956 EHXK —Y 3 1311 eIk EX AN
3957 FREA — 1 390 BRI EX AN TS
3958 BEAE — Y 2 1062 e Sk Fo7RES
3959 FLEE — Y 1 390 e Mk F5 R Z 2
3960 R — Y 3 1546 e LIk F5 R ZE2
3961 BET5 Ik — 1 1 390 ek EFHINES
3962 ik F R — 14 1 625 ek E N
3963 EHFE — Y 2 1015 PR F5 k2
3964 JRE TR Y — 1 2 780 eIk FEFHIINES
3965 X K — 1 390 e Ik FIF M 252
3966 i =AY 2 1015 e Mk MR ERZE S
3967 W 3Lk — 1 625 B MEER 22
3968 S P4 U — Y 1 531 e Sk e
3969 B — A 1 390 e LIk MEEM 22
3970 KHIL — Y 2 780 ek MEEM 22
3971 7 A — Y 1 531 e Sk FFEM 22
3972 LA — 4 1 531 eIk e
3973 w2 — Y 2 780 eIl ME R 22
3974 R0 — Y 1 625 e SlIE:! e
3975 BMIEA — 1 1 611 e Ik e




3976 A — Y 1 390 e Ik FE M 22
3977 20 ik ik — A 1 625 e LIk MEEMZ 2
3978 GURKZE — Y 3 1311 BRI MEER 22
3979 E/hoi — Y 3 1781 e Sk e
3980 F e — Y 4 1842 e LIk MEEMZ 2
3981 X B PR =14 2 1015 ek MEEM 22
3982 ER2 Y 1 625 e Ik FFEM 22
3983 PR —Y 1 625 eIk e
3984 T — Y 3 1405 eIk ME R 22
3985 Wi fa — Y 1 625 PR MEEN TS
3986 XU/ — Y 1 531 ek MEEMNTS
3987 EEE —Y 1 531 eIk MEEMZ 2
3988 L5410 — 2 780 BRI ME R Z 2
3989 [B i — k4 1 625 ek e
3990 S — A 1 625 eIk IKIGEN T2
3991 patinles — Y 2 921 eIk KRR &2
3992 S — 1 531 e Sllk:! KIEGFERN T2
3993 VHEZE —Y 1 390 e Sllk:! KIFER T2
3994 KA — Y 2 921 eIk IR 22
3995 & — 14 2 1015 e Sllk:! KRR T2
3996 2 — Y 3 1452 e Sllk:! KIEFERN T2
3997 ik [ 55 — Y 5 2373 e LIk IKIGEMN T2
3998 B3 — 1 390 BRI KRR &2
3999 K — k4 1 531 ek IKIGER 22
4000 FR A — A 2 780 eIk IKIGEN T2
4001 [ 2R — Y 1 390 ek IR 22
4002 F — 14 1 531 PR IKIEER TS 2
4003 i & — Y 1 531 e Sllk:! KIFER T2
4004 7K {1 ) — Y 1 531 eIk IKIEFEN 22>
4005 KB — Y 1 531 e Sllk:! KRR T2
4006 HEE — 3 1405 e Ik EKIEA 2o
4007 MER — A 2 1250 eIk BKIEA 2
4008 55 — 2 1062 BRI BRI 22
4009 AR — Y 2 1062 e Sk BKIEA 2o
4010 KA — A 2 921 e Mk BRI o
4011 AR — Y 2 1156 e LIk BAKIEA Z2
4012 2 —1Y 1 531 ek RN S
4013 35 — 14 1 390 ek BEKIPA 22
4014 TF — Y 2 780 PR BAKIEA Z o
4015 PRTS — Y 6 2998 e SlIk:! EKIEA Z o
4016 EE A — Y 2 1062 e Ik EKIEA 2o
4017 XI| 58 — A 1 390 e Mk BRI 2
4018 Fh A — 2 1250 P )4 BRI 22
4019 X 75 —Y 2 780 e Sk EKIPA 2o
4020 iK% 75 — A 1 390 e LIk BKIEA o
4021 TigiE — 1Y 3 1452 ek BAKIEA Z2
4022 PR TS | 1 705 ek EKIEA 2o
4023 JARANYZS — 4 4 1795 eIk BRI 2
4024 FLAE AR — Y 3 1781 eIl BAKIEA Z o
4025 X — Y 2 1015 e SlIE:! EKIEA Z o
4026 AWy — 2 1156 e Ik BRI 2




4027 B ER — 2 1156 e Ik BRI 2
4028 FEAE L — A 2 780 e LIk BRI 2
4029 L ¥ — Y 2 921 BRI BKIPATZ 2
4030 BRI — Y 2 1156 e Sk BRI ZE 2
4031 B\ — A 2 780 e LIk BKIEA o
4032 T E =14 2 1015 eIk BAKIEA o
4033 TiE — Y 1 390 e Ik RN 2
4034 TR —Y 1 625 ek RN TS
4035 e — Y 1 531 eIk TR ZE 2
4036 fift 5k -y 2 1001 e SlIE:! RN 2
4037 A I — 1 625 e Ik RN 2
4038 i 20 3K — A 2 1062 eIk TR o
4039 FEAME =1 1 390 eIk KM ZE 2
4040 TR — Y 2 1062 e Sk AN
4041 FKZE — A 2 1015 e LIk TR o
4042 TR — Y 1 390 eIk RN E 2
4043 B2 =1 4 1842 e Ik RN 2
4044 MLELE — 14 1 531 ek RN 2
4045 Tk A A8 — Y 4 1701 eIk RN E 2
4046 k5% — Y 1 625 e SlIk:! RN 2
4047 Hz=)L — Y 2 1015 e Ik RN 2
4048 AL % — A 2 1015 e LIk TR o
4049 T — 1 390 eIk RN E 2
4050 g 3K —Y 1 390 e Sk RN 2
4051 4k — A 1 531 e LIk TR o
4052 A — Y 1 390 ek RN E 2
4053 RS — Y 2 1015 e Sk RN 2
4054 MuE — 1 1 531 ek RN TS
4055 fiF T 3L — Y 1 625 eIk RN E 2
4056 X A2 1 —1Y 1 625 e SlIE:! RN 2
4057 HEA — Y 2 780 eIk TR T2
4058 ik 51 1k — A 4 1842 eIk TR o
4059 X575 — 1 625 BRI TR o
4060 HE v 1 531 IR G HIR Rt Z 2
4061 EEE — A 1 531 IR G A BIZR MRk
4062 XA — Y 2 921 IR AR S HI R AR b 22 4
4063 XI i A — 1 531 IR G BRI &2
4064 REFE =Y 1 531 IR G HIRMR b &2
4065 TERE — Y4 1 531 JRAR G R R AR b 22 2
4066 EAE — 1 2 1062 IR G HIUR Rt &2
4067 XA — k4 2 1062 IR G A HIUR Rt &2
4068 Y =AY 1 531 IR G A BIUZR MRk &
4069 X T-A47 — 2 1015 IR G HUZR MR A &2
4070 S| — k4 2 1062 IR AR G HIZR AR S dt 222
4071 XIAf = — A 2 921 IR G A BIZR MRk 5
4072 A — Y 4 1983 IR AR S HI R MR b 22 4
4073 XI| G2 4 — 14 2 780 IR G HIURMR b &2
4074 HEF — Y 2 1015 IR AR G IR SR
4075 HEKA — Y 2 921 JRAR G HI R AR b 22 2
4076 T — 1 1 531 IR G HIURMR b &2
4077 ¥ 75 8 — k4 1 625 IR AR G HIUR R &2




4078 BT — k4 1 531 IR AR G HIRMR b &2
4079 TKAME =y 2 1156 IR G R R AR A 2
4080 XI5 — Y 1 531 IR AR A HUZR MR A &2
4081 £ v 1 531 IR G HIR Rt 2
4082 HHALHR — Y 1 390 IR G A BIZR MRk
4083 ANl — Y 1 625 IR G HI R MR b 22 4
4084 X3 ¥ — Y 2 780 IR A HIURM b T2
4085 2= Al — Y 1 390 IR A HIRM b 2
4086 X =T =4 2 1015 IR G HI R AR d 22 2
4087 X — 4 3 1170 IR A HIURM b 2
4088 TBE )L — k4 1 531 IR JE RGBT TS
4089 Y1 M7 5t —Y 3 1452 IR G A JE IR B2
4090 A — 2 1156 IR G JE IRt 225
4091 4L — k4 2 921 IR G Ja IR b 2
4092 e I — A 2 1062 IR A A JE IR B 2
4093 BRAEE — Y 2 1062 IR AR S EOIS TS
4094 N — 1Y 3 1452 IR G Ja IR b &2
4095 A 1 v 1 390 IR G JE IR b &2
4096 Fh -1 — Y4 3 1546 IR AR G JE SRR AT 22 2
4097 P1 HEAE — Y 3 1593 IR G Ja IR b 2
4098 FEikL — k4 1 531 IR G Ja IR b &2
4099 AR — Y 2 1062 IR G A JE IR B2
4100 = ke — Y4 1 531 IR AR G B JE SRR AT 22 2
4101 =1 — k4 1 531 IR AR G JE IR AT T S
4102 X1 T — A 2 1015 IR G A JE IR T 2
4103 Tk R — Y 1 531 IR AR S ERIS NS
4104 B4 B — 1Y 2 1015 IR AR G IE ISR S
4105 FIRA — 2 1156 IR AR G JE IR MR AT Ze 2
4106 AR — Y 3 1311 JRAR G JRiER 2o
4107 R — 1 2 780 IR AR G SR Z 2
4108 EENAL — k4 1 390 IR G IR Z 2
4109 EIE! — A 1 625 IR G A SN 2
4110 SRS — 2 1062 IR G JREA 2
4111 MkAE — k4 1 531 IR AR G JIER 22
4112 A =14 2 921 IR G A JEA Z 2
4113 [7159Y — Y 1 531 IR G JREA 2
4114 BN — 1 2 1156 IR AR G JRiER 2o
4115 R — 14 2 1062 IR AR G IR Z 2
4116 3% {5 Uk — Y 1 390 IR G A JRiEA &2
4117 THEL — Y 1 390 IR G ISR 2
4118 T AT — k4 2 780 IR MR G IR Z 2
4119 AR — A 2 1015 IR G A N 2
4120 IR 5 — 4 1560 IR G JREA 2
4121 /NI — Y 1 390 IR G JIER 22
4122 KRR —Y 1 531 IR G A JIEA Z 2
4123 X ZEAL — Y 2 1156 IR G JRIEA 2
4124 HEER — 14 1 531 IR AR G RN 2
4125 K o D] — Y 1 531 IR G ISR Z 2
4126 % ik — Y 2 780 JRAR G JRiER 2o
4127 SR — 1 2 780 IR G SR Z 2
4128 = — k4 1 390 IR G IR Z 2




4129 EIEES — 14 2 1062 IR AR G JRiER 2 ox
4130 ENITF =Y 4 1701 IR G JER 2o
4131 M KAE — Y 2 1062 IR G JREA 2
4132 EF 58 — Y 4 1701 IR G JIER 22
4133 Bl AE — A 1 390 IR G A JIEA Z 2
4134 X E % — Y 1 625 IR G JREA 2
4135 XIELE — 14 1 390 IR G RN 2
4136 ik & — 1 1 531 IR G ISR Z 2
4137 B L M1 — Y 2 780 IR G JRiEA &2
4138 KEA — 1 1 625 IR AR G SR Z 2
4139 75/ — Y 1 625 IR R G IR Z 2
4140 EEE — A 1 625 IR G A SN 2
4141 IR E — 2 780 IR G JREA 2
4142 FHEFI] —4 1 390 IR G JIER 22
4143 XI| 36 Ak — A 1 625 IR A A JRIEA Z 2
4144 Ao AR — Y 1 531 IR G W RN ZE2
4145 T — 1 1 531 IR G AR RN
4146 BB — 14 2 1062 IR G AR Z2
4147 AR — Y 1 531 IR G AR RN Z 2
4148 B — Y 1 531 IR AR G AR
4149 K Y 1 531 IR G AR Z2
4150 oz — A 1 531 IR G A W RN ZE 2
4151 A= 25X — 1 390 IR G AR RN ZE 2
4152 TR — Y 1 625 IR G AR Z2
4153 E — A 1 531 IR G A AR RN Z 2
4154 B IR — Y 1 531 IR G W RN ZE2
4155 PR — 14 1 531 IR AR G AR RN
4156 KT — 1 1 531 IR G AR
4157 B RAEE — Y 1 390 IR G AR RN Z 2
4158 TILE X — 1 1 390 IR G AR
4159 JE AR 2% — k4 1 390 IR G ARz
4160 2= 1n) X — A 2 921 IR G A AR RN ZE 2
4161 R R — 2 1156 IR G AR RN ZE 2
4162 MER —4 2 780 IR AR G AR Z2
4163 BN X — A 1 390 IR G A AR RN Z 2
4164 A — Y 1 531 IR G W RN ZE2
4165 ¥ kE — 1 1 625 IR G AR
4166 5 3HE — 1 625 IR G AR
4167 FOLE — Y 2 1015 IR G A AR RN Z 2
4168 BN — Y 2 780 IR AR G AR Z2
4169 Bk K — 1Y 2 1062 IR MR G AR o
4170 &R — A 2 1156 IR G A AR RN ZE 2
4171 B 0] — 1 625 IR AR RN Z 2
4172 pali — k4 1 625 IR AR G AR Z2
4173 2558 Uk — A 1 625 IR G A AR RN Z 2
4174 AR — Y 1 531 IR G L=
4175 e — Y 2 1062 IR A L e YN
4176 E UL — Y 1 531 IR G P P A S
4177 e =AY 1 531 IR G VH i PR A o
4178 Bk — 1 1 531 IR AR G P BH P m A &
4179 KATAT — Y 1 531 IR A PP =R &




4180 AT — 14 1 531 IR G PP =R
4181 AR — A 1 531 IR G A L=
4182 A — Y 2 1156 IR G Ph i PR A & o
4183 XA — Y 2 1015 IR A P BH P A &
4184 [ peall — A 2 1062 IR G A L =N
4185 3] — Y 1 531 IR G L=
4186 EEZ =1 1 531 IR A PP m R &
4187 I — Y 2 780 IR A P P A S
4188 el — Y 2 780 IR G L =N
4189 XS — Y 2 780 IR A P BH P m A &
4190 KJAGE — Y 2 780 IR A PP =R &
4191 an gl — A 1 390 IR G A Ph i P w2
4192 JEX R — 2 780 IR G PE i PR A & o
4193 X M1 55 — Y 2 780 IR A P P A Z
4194 F=M — A 2 921 IR A A Ph i P R & o
4195 S — Y 2 1062 IR G L=
4196 XA — Y 2 1015 IR A PO P m R
4197 a1 — Y 1 625 IR A P P A S
4198 KBS — Y 1 390 IR G VH i P R A o
4199 == =14 2 921 IR A P BH P m A &S
4200 ATEEE —1Y 2 1015 IR G PP =R &
4201 diAE — A 1 625 IR G A L=
4202 HEX 5 5 — 1 390 IR G PE i PR A & o
4203 T A+ — Y 2 1015 IR A P BH P A &
4204 e T — A 1 531 IR G A B B At 25 2
4205 HEE — Y 1 531 IR AR A B £, G e 22 2
4206 TG — Y 2 1062 IR A B £ B bt 25 2
4207 X 2 AE — Y 1 531 IR A B £ B At 25 2
4208 Mm% — Y 1 531 IR AR A B £, G e 22 2
4209 M =Y 3 1311 IR AR G Bo] 0, S 25 2
4210 R iU — k4 1 531 IR G Bl 0, S 25 2
4211 B =4 1 531 IR G A B A At 25 2
4212 X & — 2 921 IR AR A B £, G e 25 2
4213 AR —4 2 780 IR AR G Bl 0, S 25 2
4214 X — A 1 531 IR G A B B At 25 2
4215 X =AY — Y 2 780 IR AR A B £, G e 22 2
4216 ZEAH AR — 1 531 IR MR A B £ B bt 25 2
4217 2= i — Y 4 2312 IR A B £ B At 25 2
4218 X = — Y 1 625 IR AR A B £, G e 22 2
4219 PR =14 6 2340 IR A B £ B At 25 2
4220 KD ik — k4 1 531 IR G B 0, S 25 2
4221 FEF — A 2 1015 IR G A Bl A At 25 2
4222 = R — 2 1062 IR AR A A AT 2
4923 ik e =AY 2 1062 IR A A 252
4224 TR AR — A 2 1062 IR G A A 2
4225 KA — Y 1 390 IR G AT 2
4226 bR =AY 4 1701 IR A AR 22
4927 A =AY 2 780 IR A A b ot 25 2
4228 X % — Y 1 625 IR G AT ZE 2
4229 KA — 4 2 1062 IR A AR 2
4230 KA ZE =AY 4 2077 IR A A 2o




4231 LA — Y 1 531 IR G ARG T 2

4232 EEEVRAN — A 1 625 IR G A A b o

4233 B4 — Y 1 390 IR AR A AM AT 2

4234 X & it — Y 2 1062 IR A AR 252

4235 T — A 1 531 IR G A e RS
4236 BME>= — Y 1 531 IR AR A KE R RS
4937 RN Y 1 625 IR A WKE R LS
4938 KRk — Y 1 531 IR A WE R A T2
4239 ZIRAE — Y 2 1015 IR AR A e RS
4240 T A ik — Y 1 531 IR A WE R RS
4241 EH1l — Y 3 1546 IR A WKE R RS
4242 WHEE — A 1 390 IR G A e R E S
4243 E¥k — 1 390 IR AR A WKE R RS
4244 TEE — Y 3 1452 IR A WE R A TS
4245 HH= — A 1 531 IR A A e R &S
4246 XA — Y 1 625 IR AR A KE R RS
4247 5 i — 2 1156 IR A WKE R LS
4248 X 3K —Y 1 625 IR A WE R A RS
4249 DR — Y4 1 531 IR G KRN RS
4250 H ER — Y 2 1062 IR A WE R A TS
4251 TBRKEK — k4 1 531 IR G KRN RS
4252 XI5 — 1Y 1 625 IR G A e R &S
4253 EAEAL — 1 531 IR AR A WKE R RS
4254 HRA — Y 1 531 IR G KSR R 2
4255 XIIE K — A 4 1701 IR G A e RS
4256 s — Y 1 625 IR AR A KE R RS
4257 TAELL — 14 1 531 IR G KE RPN RS
4958 2 — Y 1 390 IR A WE R A T2
4259 ML — Y 2 1062 IR AR A e RS
4260 AR -y 4 2002 IR AR G KSR R 2
4261 KRk EK — Y 1 531 IR A REICHMNET S
4262 KI5 15 — Y 1 531 IR AR G BRIZHEN TS
4263 RAK — 1 625 IR AR A BRIZEN TS
4264 wE — k4 2 1062 IR AR G BRIZEN TS
4265 FEY — A 1 531 IR G A BRIZEN TS
4266 FBIE L — Y 2 1062 IR G BRIZEN TS
4267 ERE Y 2 1062 IR MR A BRI TS
4268 AR 5 — Y 2 1062 IR AR G ERIZHEN TS
4269 i & — Y 1 531 IR AR A ERIZEN TS
4270 KT & — Y 2 780 IR A REICHMN TS
4271 B AR — k4 2 1062 IR G ERIZEN TS
4272 X7 — Y 4 1842 IR G A BRIZEN TS
4273 TARE — 2 1062 IR AR A BRI RS
4274 55 — k4 1 531 IR G BRIZEN TS
4275 Wl — A 1 531 IR G A BRIZEN TS
4276 KEE — Y 3 1170 IR AR S BRICEN TS
4277 BAEAR — Y 3 1452 IR A BRI TS
4278 S — 1 1 531 IR G ERIZHEN TS
4279 [ Ak — Y 2 1062 IR G BRIZEN TS
4280 K — Y 1 531 IR A REICHMN TS
4281 BREIR X — k4 2 1062 IR G BERIZEN TS




4282 R S 2 1156 IR A REICHMNET S
4283 4 — A 4 1842 IR G A BRIZEN TS
4284 Tk & — Y 1 390 IR AR A BRIZEN TS
4285 S 35 5 — k4 2 921 IR G BRIZEN TS
4286 it — A 2 921 IR G A BERIZEN TS
4287 FEE — Y 3 1311 IR G ERIZEN TS
4288 WAL — Y 2 1062 IR A BRI TS
4289 I AR — 4 2 780 IR A HBRICENZ S
4290 L% — Y 5 2608 IR G BRIZEN TS
4291 2R )L — Y 1 625 IR AR G BRIZEN TS
4292 K i i — Y 1 390 IR A REICHMNET S
4293 FAERE — A 2 1156 IR G A BRIZEN TS
4294 THE — 5 2373 IR AR A BRIZEN TS
4295 LRk —Y 1 390 IR G BRIZEN TS
4296 Takig =AY 1 625 IR A A BRIZEN TS
4297 AR — Y 2 1062 IR G ERIZEN TS
4298 E R =1 1 625 IR A BRI TS
4299 wE — 2 1015 IR AR G HBRICENZ S
4300 EiSVUiNRE — Y 1 625 IR AR A ERIZEN TS
4301 F=3% — Y 1 625 IR A REICHMN TS
4302 E it Y 2 1015 IR A REICHMNET S
4303 F&ER — A 1 625 IR G A BRIZEN TS
4304 = — 1 390 IR AR A BRIZEN TS
4305 EEE v 1 390 IR A BRI TS
4306 A —Y 1 625 IR G A BRIZHEN TS
4307 & — Y 1 625 IR AR A ERIZEN TS
4308 X Hran — Y 3 1405 IR A BRI TS
4309 ik —Y 4 2077 IR G HBRICENZ S
4310 BN itas — Y 3 1405 IR G BRIZEN TS
4311 EEE —1Y 2 1015 IR A REICHMN TS
4312 =L — Y 1 531 IR A AP ZE 2
4313 B — A 1 625 IR G A el NN
4314 XIHR 2 — 1 531 IR G el N
4315 A7 K — Y 2 1062 IR AR G AP 22
4316 h—Z — A 1 531 IR G A el NN
4317 Bk — Y 1 531 IR AR S AR Z 2
4318 SRS =AY 1 531 IR MR A AP ZE 2
4319 KRB A5 =AY 2 780 IR A AP 22
4320 BiRE — Y 1 531 IR G A el N
4321 ik R —Y 2 1062 IR AR G AP 22
4322 EMFE — Y 1 531 IR A AP ZE 2
4323 M=% — A 1 531 IR G A el NN N
4324 T — 1 531 IR G el N
4325 MXA — Y 1 531 IR G AP 22
4326 T 44k — A 1 531 IR G A el NN
4327 X PR — Y 1 390 IR G el N N
4328 FH 2 0l — Y 1 531 IR A AP ZE 2
4329 EER — Y 2 1062 IR A Sl O
4330 ok — Y 2 1062 IR G el NN
4331 HE = — Y 2 780 IR AR G AP 22
4332 T — k4 1 531 IR G AP ZE 2




4333 pakn)iks 1 390 IR A AP ZE 2
4334 R i 3 1311 IR G A el NN N
4335 TR IR 2 780 IR G el NN
4336 THRZ) 1 390 IR A AP 22
4337 ESER 1 390 IR G A el NN
4338 FER 1 531 IR G el N
4339 rEE 1 390 IR A AP ZE 2
4340 E XU 2 1156 IR A AP ZE 2
4341 ikt 2 1062 IR G el NN
4342 KiGF 3 1170 IR A AP ZE 2
4343 LT ik 1 390 IR A AP ZE 2
4344 mEs 2 1156 IR G A el NN
4345 K== 2 780 IR G el N
4346 [ ki) 2 1062 IR A AP 22
4347 ik F4R 1 625 IR A A el NN
4348 Bttt 1 531 IR G el N
4349 XAME 2 1062 IR A AP ZE 2
4350 AR 2 1156 IR A AP 22
4351 FEE 1 625 IR G el N
4352 X EH 2 780 IR A AP 22
4353 55 5 1 531 IR A AP ZE 2
4354 E=HH 1 531 IR G A el NN N
4355 ke 1 625 IR G el N
4356 + R4 2 780 IR A AP 22
4357 L300 2 780 IR G A el NN
4358 2= 1 390 IR G el N N
4359 gk 3 1311 IR A AP ZE 2
4360 = n 1 625 IR A Sl O
4361 KB ¥ 2 1062 IR G el NN
4362 M7 1 531 IR A AP 22
4363 mFE 1 531 IR A AP ZE 2
4364 22| 2 1156 IR G A el NN
4365 KR A 1 390 IR G el N
4366 PR 2 780 IR AR T2
4367 X1 2 921 IR G A el NN
4368 sk 1 531 IR G el NN
4369 AR 3 1405 IR MR A AP ZE 2
4370 B=H 3 1546 IR A AP 22
4371 g i i 1 531 IR G A el N
4372 JeE R ik 1 390 IR A AP 22
4373 i ival 1 390 IR A AP ZE 2
4374 XA 2 780 IR G A el NN N
4375 MiEE 1 390 IR G el N
4376 I — %E 2 921 IR G AP 22
4377 T 3 1452 IR G A el NN
4378 % 5 2373 IR G el N N
4379 K 3 1 625 IR AR A P S
4380 PiRyiE o 1 531 IR MR G IR R AN RS
4381 Bt 1 531 IR G NE IR R A 2o
4382 Hid it 2 1156 IR A A IS
4383 DiNiiikas 2 1062 IR AR G A MEIE R YA 2o




4384 fie AR — Y 1 531 SR MEIE R YA 2o
4385 Tk — Y 1 625 IR AR S NEIR R M e os
4386 T B A =14 3 1546 NS NI R M e os
4387 ZERE —Y 4 1842 IR AR S MEIE R YA 2o
4388 ) i 2 =Y 2 1062 IR G A NEIR R A e o
4389 DaEiiEil — Y 2 780 IR G NEIR R A 2o
4390 PINEAE =Y 3 1546 IR A NELITR SR A 2 o
4391 Edl v 1 531 IR AR S MEIR SR A 2o
4392 B =Y 2 780 IR G NEIR R A 2o
4393 [ EAL —1Y 2 1062 IR AR S MEIE R YA 2o
4394 X137 kY4 1 390 IR AR S NE IR R M b 2o
4395 T =Y 2 780 IR G A IEIR R A 2o
4396 FEA =1 2 780 IR AR S NI R M e os
4397 B E —4 2 780 IR MR R M 25 2
4398 A =Y 1 531 IR AR S NEIR R A e os
4399 i B —F4 1 390 IR ARG NELITR SR A e 2
4400 R — 1 1 531 IR AR S NE IR R M b o
4401 AT v 1 531 IR AR S ME IR R A 2o
4402 R =Y 1 531 IR G NEIR R A 2o os
4403 Ey20 =Y 3 1311 IR AR A NEIE R YA 2o
4404 EYE —14 1 625 IR MR R MR 25 2
4405 TP =Y 1 625 IR G A IEIR R A 2o
4406 =R =Y 1 625 IR AR SR NI R M e os
4407 R =Y 1 625 IR AR AR A MEIE R YA 2o
4408 DK Bk =Y 1 390 IR G A NEIR R A e o
4409 B R =Y 1 531 IR S NI R M e ox
4410 ¥ o5 =Y 4 2077 IR AR A MEIR R YA 2o
4411 XIS 75 =Y 1 531 IR AR G il N
4412 K =Y 2 1062 IR G B EAN 2
4413 X e B =Y 1 531 IR G iR Y e
4414 fi] 5% =4 1 390 IR AR BT R
4415 EE ) — kY 1 531 IR AR G il N e
4416 ¥ 1 4 =Y 1 531 IR G BT R RSy
4417 YAt =R 2 1156 IR AR BT R
4418 T =Ry 2 780 IR G B R R
4419 TR — kY 2 921 IR MR S B A R oy
4420 T nHE — 14 2 780 IR AR G Uil Y e
4421 F&% =Y 2 1062 IR G il
4422 TR —1 2 1062 IR AR S i Tl N e
4423 YL I — 14 2 780 IR AR G Dilah N e
4424 T =Y 1 531 IR MR G Dilmh Y e
4425 e — kY 2 1015 IR AR G il N e
4426 PR — 2 780 IR AR S BT R Ry
4427 ESUR — kY 3 1405 IR AR G il N
4428 i s e 3 1311 IR G B EAN
4429 EHHE =Y 2 1062 IR G B EN T
4430 ME & =Y 1 531 IR G DiTaE Ve
4431 ¥ E X =Y 2 780 IR AR G Uil VN
4432 Tk =Y 2 780 IR il N e
4433 X3 =Ry 2 921 IR PR P RN R
4434 AR =R 4 1842 IR AR BT R




4435 TR =Y 2 1015 IR G DRk Vv
4436 B — A 1 390 IR G A B BN T
4437 L E — Y 4 2077 IR G B EN
4438 WS =Y 2 1015 IR G TRl i e
4439 ¥ B — A 2 921 IR G A B EN
4440 A ) — Y 1 625 IR G B EN T
4441 TR =Y 2 1156 IR G DiTaE Vv
4442 PN — 1 3 1640 IR G iR v
4443 EES — Y 1 625 IR G B EAN 2
4444 2R I — Y 1 390 IR A IR A

4445 X1/ =Y 2 921 JIHEAE FENZS

4446 ZR 4] — A 1 531 JIEEH JIENZES

4447 ik il — 1 531 JIEEA JIER S

4448 X un g =Y 2 1062 JIEAE FENZS

4449 X514k — A 2 780 JIEEH WAk VN

4450 EAI%E — Y 1 531 JIEER FERN S

4451 X FE AR =AY 5 2373 JIHEE JIENZS

4459 X1 K — 14 2 780 J R FENZS

4453 X B HE =Y 2 1015 JIEEH FER S

4454 AT — Y 1 531 JI R A2
4455 et — Y 1 531 J B AR 2
4456 P E — A 2 921 JIEEH A MRS
4457 X1 2% ] — 1 531 JIEEA A BN
4458 FiR%& — Y 1 625 J R AT 2
4459 B — A 2 780 JIEEH AT
4460 PR ZE — Y 1 390 JIEER AR S
4461 Rk =Y 1 531 J B AN TS
4462 I HE =AY 1 390 J R A
4463 H KB — Y 1 531 JIEEHR AR
4464 TIHZE — Y 3 1546 JI AT
4465 X EE — Y 1 531 J B AT 2
4466 XI| i 3 — A 2 921 JIEEH A MRS
4467 B B — 2 1062 JIEEA A BN
4468 K i g =AY 1 531 J R A TER 2
4469 TR — A 1 531 JIEEH AT
4470 XI5 ) — Y 1 531 JIEER AR
4471 o — 1 531 JIHEE A
4472 TilFE =AY 2 1062 J R A
4473 82 — Y 2 921 JIEEHR AR
4474 GRalER)S — Y 3 1452 JI A
4475 =SS =AY 1 531 J R AR 2
4476 K e 3 — A 1 390 JIEEH A MRS
4477 B F 4 — 1 625 JIEEA AR
4478 B — Y 4 2030 J R AT 2
4479 BUBRTER — A 2 780 JIEEH AT
4480 XA =4 1 531 JIEER AR S
4481 X% B — Y 3 1546 J B AT
4482 X EH — Y 2 921 J R A
4483 X4k 55 — Y 3 1452 JIEEHR AR
4484 THEE =4 2 1156 JI AT
4485 TR — Y 4 1560 J B AT 2




4486 Bk — Y 2 921 B AT 2
4487 B gk — A 2 1062 JIEEH A NS
4488 I — Y 4 2077 JI AR
4489 puESN — Y 2 1015 J R A TER 2
4490 XIHt 7 — A 3 1781 JIEEH AT
4491 XI55 F — Y 1 390 JIEER AR
4492 BARTE — Y 2 780 J B AT
4493 PEAE — Y 2 1062 J R A
4494 Tk — Y 1 625 JIEEHR AR
4495 THEE — Y 3 1405 JI AT
4496 BIERR — Y 1 625 J B AR 2
4497 PR — A 5 2702 JIEEH A MRS
4498 HEE — 1 625 JI AR
4499 it — Y 1 625 J R A TEM 2
4500 WEL — A 1 625 JIEEH A M
4501 PIEF — Y 3 1640 JIEER AR
4502 HCFRE — Y 1 390 JIHEE A
4503 X 2 =AY 1 531 J R A
4504 B — Y 1 531 JIEEH AR
4505 P EE — 1 1 531 JIEAE A2
4506 PR — Y 1 390 J B AR 2
4507 PR 24 — A 1 625 JIEEH A MRS
4508 XNk — 1 390 JI A BN
4509 By 2% — Y 1 390 J R AT 2
4510 PR — A 2 1062 JIEEH AT
4511 BB — Y 4 1842 JIEER AR S
4512 TR R — Y 4 1842 JIHEE AT
4513 A R — Y 2 780 J R A
4514 BXGE — Y 3 1170 JIEEHR AR
4515 X452 — Y 4 1842 JI R AT
4516 T =14 2 1015 J B AT 2
4517 B IX HE — A 2 1062 JIEEH A MRS
4518 BT HE =Y 2 1015 JIEEA A BN
4519 XA =AY 1 625 J R A TER 2
4520 B — A 1 390 JIEEH AT
4521 X 5 5% — Y 1 390 JIEER EEIILEFS
4522 KX ZE =AY 2 780 JIHEE SEIILESRS
4523 K —Y 2 1062 JIEAE EEII TS
4524 JimEE =AY 1 531 JIEEHR EEIEFS
4525 Tk 4 =14 2 921 JI SEIIEFS
4526 WS — Y 1 390 JIEAHE EESILESS
4527 NS — A 1 625 JIEEH EEIIEFS
4528 e — 1 531 JIEEA eSS
4529 B R — Y 2 1015 JiEAE EEIIEFS
4530 ikFlk — A 2 1156 JIEEH EEIE S
4531 BiAEAE =AY 1 531 JIEER EEIILEFS
4532 FEE — Y 2 1062 JIHEE SEIILESTS
4533 K AUk — Y 1 625 JIEAE EEIIEFS
4534 =EA — Y 2 1062 JIEEHR eSS
4535 Pk 22 =4 2 780 JI EEIILEFS
4536 2200 —1Y 1 531 JIHEAE SEIIILESS




4537 LR — Y 2 780 JIEAHE EEIILESS
4538 ik it — A 1 390 JIEEH EEIIEFS
4539 A ik =AY 1 625 JIEER eI S
4540 iR — Y 1 625 JiEAE SEIIEFS
4541 A — A 1 390 JIEEH EEIE S
4542 PR =AY 2 780 JIEER EEIILEFS
4543 KR =AY 2 1156 JIHEE SEIIESRS
4544 Tk e ZE — 1 3 1311 JIEAE EEIIEFS
4545 EE =AY 1 625 JIEEHR EEIEFS
4546 e — Y 2 1015 JI EEIILETS
4547 =3 A — Y 1 625 JIHEAE EEIIILESS
4548 X ESUpR —Y 1 625 JIEEH EEIIEFS
4549 BT A — 1 625 JIEEA eSS
4550 K v 3 1546 JIEAE EEIIEFS
4551 BN — Y 1 390 JIEEH EEIIE S
4552 A — Y 2 780 JIEER EEIILEFS
4553 KT — Y 1 531 J B SEIILESS
4554 JTE W — 14 1 531 JIEAE EEIIEFS
4555 Ak =14 2 921 JIEEH EEIEFS
4556 ik =AY 1 390 JI SEIIEFS
4557 IS — Y 4 1936 JIHEAE SEIIILESS
4558 sk Ah — A 1 625 JIEEH EEIIEFS
4559 o fl — 2 1062 JIEEA eSS
4560 ZERAT — Y 2 921 JiEAE SEIIEFS
4561 TiE — A 4 1936 JIEEH EEI S
4562 K E — Y 1 531 JIEER EEIILEFS
4563 B =14 1 625 JIHEE SEIIILESS
4564 KRR — Y 1 625 JIEAE EEIIEFS
4565 gk g — Y 2 1015 JIEEHR EEIEFS
4566 HiRE =4 2 1015 JI EEIILEFS
4567 i Zalba =t 2 921 JIHEAE SEIIILESS
4568 P — A 1 531 JIEEH EEIIEFS
4569 X R — 2 780 JIEEA eSS
4570 P T iR —4 4 1842 JiEAE SEIIEFS
4571 KOl — A 2 1015 JIEEH EEIIE S
4572 22 — Y 1 531 JIEER Tl o
4573 e =AY 2 1015 JIHEE TR 22
4574 FiEME =Y 2 1062 J R TR 2
4575 FA2 — Y 1 531 JIEEHR Tl 2o
4576 B S| =AY 1 531 JI TR 22
4577 ZEPRAR =Y 1 531 JIEAHE TR 22
4578 S — A 1 531 JIEEH TR o
4579 T — 1 531 JI Tl o
4580 XIS =Y 1 390 JiEAE TR 222
4581 BRKAE — A 1 531 JIEEH TR o
4582 R — Y 2 1062 JIEER Tl &2
4583 R =14 2 921 JIHEE TR 22
4584 FAE =Y 2 1062 J R TR 2
4585 A — Y 1 531 JIEEHR Tl o
4586 EiEH =4 2 1062 JI TR o
4587 X1 5] ik — k4 1 390 JIHEAE TR 22




4588 ZETY 3% — k4 1 390 JIEAHE TR 222
4589 FELF =Y 3 1311 JIEEH TR o
4590 RG] — Y 1 625 JI Tl 2o
4591 PET — k4 2 780 JiEAE TR 222
4592 T ZE — A 4 2265 JIEEH TR o
4593 BZ — Y 4 1842 JIEER Tl &2
4594 TN =Y 3 1311 JIHEE TR 22
4595 gk =Y 2 1015 J R TR 2
4596 Te¥y Uk =AY 3 1546 JIEEHR Tl 2o
4597 FAEF =4 1 531 JI TR o
4598 B AR — Y 3 1170 JIHEAE TR 22
4599 IMRIE — A 1 531 JIEEH TR o
4600 PLAE — 4 1701 JI Tl o
4601 FME — k4 1 625 JIEAE TR 22
4602 xR — A 2 1015 JIEEH TR o
4603 B U] — Y 2 780 JIEER Tl o
4604 TN =14 1 531 JIHEE TR 22
4605 154 — 14 1 390 J R TR 2
4606 75 5 — Y 1 625 JIEEH Tl 2o
4607 i =Y 1 625 JI TR 22
4608 BT =Y 3 1546 JIHEAE TR 22
4609 B — A 1 625 JIEEH TR o
4610 £ 5] 1k — 1 390 JI Tl o
4611 Tt =Y 2 1156 JiEAE TR 222
4612 E 2N — A 3 1311 JIEEH TR o
4613 X4~ =AY 4 2030 JIEER FERNES
4614 £ 95 -y 1 571 JIHEE XN ZS
4615 FEER A — 1 2 1062 J R EENZS
4616 X514k =Y 2 1062 JIEEHR FEXNES
4617 TN =4 1 531 JI XN ZS
4618 HER =Y 1 531 JIHEAE EENZS
4619 X4 51 =Y 2 1062 JIEEH FERXNZES
4620 A7 =AY 2 780 JI FEXNES
4621 fEIEE) — k4 1 531 JiEAE EENZS
4622 TR ik — A 1 390 JIEEH XN ZES
4623 X RKAE — Y 2 780 JIEER FERNES
4624 FENE K — 3 1311 JIHEE FEENZS
4625 Al — 14 1 531 J R EFENZS
4626 2] — Y 1 531 JIEEHR FEXNES
4627 X FZE =AY 4 2077 JI XN ZS
4628 fEVET — k4 2 1015 JIEAHE XN ZS
4629 P — A 1 531 JIEEH FEXNZES
4630 X FZE — 4 1936 JI FEXNES
4631 KRE v 1 625 JiEAE EENZS
4632 AL — A 4 2312 JIEEH XN ZES
4633 X iE 2 — Y 2 921 JIEER FERNES
4634 X E13 =14 2 780 JIHEE XN ZS
4635 X 2L — 1 1 625 J R EENZS
4636 £ IERL =AY 2 1062 JIEEHR FEXNES
4637 ZRES ] =4 3 1311 JI XN ZS
4638 R — k4 2 780 JIHEAE FEENZS




4639 TR B =Y 3 1546 JIEAHE EENZS

4640 XIF ) — A 2 1015 JIEEH FEXNZES

4641 FE T AR — Y 1 625 JIEER FEXNES

4642 AR EE =AY 1 531 J R R R T2
4643 X — A 1 531 JIEEH KR T2
4644 e 1 — Y 1 531 JIEER KA T2
4645 ENE — Y 3 1781 JIHEE KR P T2
4646 XI5 =AY 2 921 J R ERIP T2
4647 ik =P — Y 2 921 JIEEHR KKV 2
4648 TE# — Y 2 1015 JI R P T2
4649 X — Y 1 430 J B SRR P T2
4650 TR % — A 1 390 JIEEH KR T2
4651 /= — 2 921 JIEEA KA 2
4652 PARIE =AY 3 1311 J R R IR T2
4653 XIS AR — A 1 390 JIEEH KR T2
4654 X E R — Y 4 1842 JIEER KA T2
4655 RIS =AY 4 1842 JIHEE R P ZE 2
4656 e =Y 1 625 J R SRR IR T2
4657 BB AR — Y 5 2702 JIEEH KKV 2
4658 KR IE =AY 1 531 JI ERIR 22
4659 F X4 — Y 1 390 J B SRR IR 22
4660 BEM — A 5 2091 JIEEH KR T2
4661 TR IR U — 1 531 JI KA 2
4662 BN — Y 2 1156 J R TR P T2
4663 K BT ] — A 1 531 JI B WIESER 22
4664 X RKE — Y 1 531 JI W SER 22
4665 PN Y 3 1311 JIHEE WIFSEN 22
4666 BN — Y 2 1062 J R A i R o
4667 =TI — Y 2 780 J A RS G R
4668 =l — Y 2 1062 JI R WITSEM 2o
4669 =AME — Y 2 780 J B WIFSEM 2o
4670 B U5 — A 2 1015 JI B WIESER 22
4671 BT — 4 1936 JIHEE WIESER 22
4672 = —Y 2 1062 J R WIFSEM 2o
4673 PEIE — A 1 390 JI B WIESER 22
4674 X 1 — 1Y 3 1311 JI W SER 22
4675 PR ZE — 4 1936 J R WISER 2o
4676 e — Y 3 1452 J R WIFSEM 2o
4677 PR — Y 1 625 S b e e N
4678 PN — 14 2 1062 JI WIFSEN 22
4679 X % — Y 2 921 J R R R R e
4680 PARNLs — A 2 1015 JIEEH W SER 22
4681 X = — 2 1156 JIEEA W SER 22
4682 X2 TT —Y 1 625 J R A e R e
4683 5 8 — A 2 1156 JIEEH W SER 22
4684 =i — Y 2 1015 JI W SER 22
4685 XA —1Y 1 390 JIHEE WIFSEN 22
4686 XI| i — Y 1 531 J R ERBER T2
4687 B % =~ -y 1 430 JIEEHR FRBEN T2
4688 il — 1 1 625 JI R TRBEN TS
4689 FHE Y 1 531 J B NSNS




4690 X P — 4 1842 B NSNS
4691 AP — A 1 390 JIEEH FERBEN T2
4692 X T X0 — Y 1 390 JI ERBEN T2
4693 X176 B —Y 4 1701 J R FRBEM
4694 5 By e — A 1 625 JIEEH FRBEN T2
4695 X E — Y 4 1842 JIEER FERBEN T2
4696 X% FH — 6 3139 JIHEE NSNS
4697 X B} — Y 2 1062 J R ERBER T2
4698 kfES =14 1 625 JIEEHR FRBEN T2
4699 XIS —1Y 1 531 JI FRBEM S
4700 XI] i 4 —1Y 2 921 Ji A FRBEN TS
4701 XIAFJE — A 2 1062 JIEEH FERBEN T2
4702 X — 1 625 JI FRBEN T2
4703 bR B — Y 2 1015 J R RBEM
4704 X AT — A 1 390 JIEEH FRBEN T2
4705 AR A — Y 1 390 JIEER FERBEN T2
4706 R — Y 1 531 JIHEE NSNS
4707 XS TR — Y 2 1156 J R ERBER T2
4708 EYE — Y 1 625 JIEEH FRBEN T2
4709 ¥ iE — Y 2 1015 JI NS
4710 X 5 Y 1 625 J B NSNS
4711 X HZE — A 3 1311 JIEEH FERBEN T2
4712 Xt 7 — 3 1170 JIEEA FRBEN T2
4713 = — 1 531 J R RBEM
4714 X K — A 4 1842 JIEEH FRBEN T2
4715 XAk — Y 2 780 JIEER FERBEN T2
4716 X AR — Y 1 390 JIHEE WRBEVA A 252
4717 Tk — Y 2 921 JIHEE WRBEVA A 252
4718 =Xk — Y 2 1062 JIEEHR FREEVA AT 25 2
4719 P — Y 1 390 JI RV A 252
4720 AR — Y 2 1062 JIHEE WRBEA A 252
4721 =Jat — A 2 921 JIEEH WRBEVA A 25 2
4722 X G =AY 1 390 JIEEA BREEVA AT 25 2
4723 R4 — Y 1 531 JI WRBEVA A 252
4724 XA — A 3 1311 JIEEH WRBEVA A 25 2
4725 7515k =AY 3 1546 JIEER FBRBEVA AT 25 2
4726 XSS — 1 390 JIHEE WRBEVA A 252
4727 EEM — Y 2 1015 JIHEE WRBEVA A 252
4728 5 — Y 4 2171 JIEEHR FREEVA T 25 2
4729 R i — Y 1 625 JI WRBEVA A 252
4730 A — Y 1 625 JIHEE WRBEVA A 252
4731 145 F — A 1 390 JIEEH RBEVA A 2 2
4732 IRRE =4 2 780 JIEEA FREEVA AT 25 2
4733 LR — k4 2 780 J R BV 2 2
4734 X B — A 3 1452 JIEEH RV R 25 2
4735 oNE — Y 1 531 JIEER FREE VAT 25 2
4736 XIH8 75 — Y 3 1311 JIHEE WRBEVA A 252
4737 pAISEES —Y 2 1062 JI HESINESS
4738 X4 — Y 2 921 S ) A 22
4739 X4 =4 1 531 JI HESIESS
4740 =l IE — 1 531 JI A HESIRNESS




4741 P —1Y 1 531 JI A HESINESS
4742 WA — A 1 625 JI B AEIEFS
4743 BT — Y 1 531 JI B AESINE TS
4744 EAAE —Y 1 390 JI HESIINESS
4745 A, — A 1 531 JI B AEIEFS
4746 DNl — Y 2 1015 JI RESIIE TS
4747 X510 = 1 531 JIHEE HESINESS
4748 g —Y 3 1405 JI HESINESS
4749 2B [if] — Y 1 531 JIEEHR ) A 22
4750 75 =L =4 3 1546 JI HESIINESS
4751 Z — Y 1 531 JI A HESINESS
4752 XK ES =Y 2 921 JI B AEIEFS
4753 ARHH: =4 1 531 JIHEE ) A 22
4754 X A —Y 1 531 JI HESIINESS
4755 75 L — A 1 390 JI B AEIEFS
4756 IR — Y 1 531 JI RESIIE TS
4757 P =AY 1 531 JIHEE HESINESS
4758 X 3 — 4 2 921 JI HESINESS
4759 BARLE — Y 2 1062 JI A ) A 22
4760 BeTs =AY 2 1062 JI HESIINESS
4761 XNFERR —1Y 1 531 JI A HESINESS
4762 BEAEE — A 2 1062 JI B AEIEFS
4763 K IBAE — 1 390 JIHEE ) A 22
4764 BN E — Y 1 531 JI HESINESS
4765 75 B — A 3 1170 JI B AEIEFS
4766 X EE — Y 1 531 JI RESIIE TS
4767 X 2% =AY 1 390 JIHEE HESINESS
4768 XIEFE — 4 1 390 JI HESINESS
4769 /N — Y 3 1452 S ) A 22
4770 AR =4 1 390 JI HESINESS
4771 AR — 1 531 JI A HESINESS
AT72 XL — A 1 390 JIEEH AEIEFS
4773 X SE 1k =Y 2 921 JI A ) A 22
4774 HLE — 4 1842 JI HESIINESS
4775 B AR — A 4 1936 JIEEH AEINEFS
4776 ERE — Y 5 2326 JI RESIIE TS
ATTT X % 7 =AY 3 1546 JIHEE HESIESS
4778 XV —Y 3 1170 JI HESINESS
4779 A5 =Y 1 390 S )22
4780 XK ES =AY 3 1452 JI HESIINESS
4781 RN — Y 1 531 Ji AESINESS
4782 XI| =1 — A 1 531 JIEEH AEIEFS
4783 X575 — 3 1452 JIEEA EF) A 22
4784 X4 v 1 390 JI HESINESS
4785 IR — A 3 1546 JIEEH AEINEFS
4786 X Z % — 1Y 2 1015 JI RESIIE TS
4787 B IE — 2 1156 JIHEE HESINESS
4788 BEE —Y 1 625 JI HESINESS
4789 A BZE — Y 1 625 S ) A 22
4790 X B 8 — Y 2 1015 JI HESIESS
4791 ik AR Y 2 1250 JI A HESIRNESS




4792 AP — Y 1 625 JI A HESINESS
4793 =% — A 1 625 JI B AEIEFS
4794 -9 — A 1 625 JIHEE AESINE TS
4795 EREZE — k4 3 1452 JiEAE HESIINESS
4796 ik K% — 1Y 1 531 JI B AEIEFS
4797 X Hh — Y 2 780 JI RESIIE TS
4798 ARl — Y 1 390 J B HESINESS
4799 =75 1 v 2 1015 JI HESINESS
4800 oy e — Y 2 780 S ) A 22
4801 X136 1] —1Y 2 780 JI R AESIINESS
4802 ZRAEN —1Y 2 780 JI A HESINESS
4803 S —Y 1 390 JI B AEIEFS
4804 TEE — Y 2 1015 JIHEE ) A 22
4805 XI5 v 1 625 JI HESIINESS
4806 XA — Y 1 625 JI B AEIEFS
4807 ES — Y 2 1250 JI RESIIE TS
4808 plES —1Y 2 1062 JIHEE HESINESS
4809 P — Y 2 1156 JI HESINESS
4810 BEMRAE — Y 1 625 JI A ) A 22
4811 TRARE — 14 2 780 JI HESIINESS
4812 X242 — Y 2 1062 JI A HESINESS
4813 NZEY — A 2 780 JI B AEIEFS
4814 751 1t — 1 2 1156 JIHEE ) A 22
4815 I3 A — 2 1062 JI HESINESS
4816 75 Fii 3 —Y 2 1062 JI B AEIEFS
4817 X 5| & — Y 1 531 JI RESIIE TS
4818 ZRZE K — Y 2 1062 J B HESINESS
4819 XI| 2 — 4 3 1311 JI HESINESS
4820 XA ZE — Y 2 780 S ) A 22
4821 ivASS — Y 1 390 JI R HESINESS
4822 EZ — Y 2 1250 JI A HESINESS
4823 75 o JH] — A 2 780 JI B AEIEFS
4824 o= — 2 1062 JI A ) A 22
4825 EREEZE — k4 5 2232 JiEAE HESIINESS
4826 25| i — Y 2 1015 JI B AEINEFS
4827 X [ B — Y 2 921 JIEER EEIIEFS
4828 X1 B2 =4 1 531 Ji A SERIINETS
4829 KR AR — 4 1 390 J R EELZNETS
4830 XIAF LR — 1Y 2 1062 JIEEHR EEIIEFS
4831 XI) i 4> — 14 1 531 JI EELZNETS
4832 X A8 — Y 2 1062 J R EELZEESS
4833 Xt — A 2 780 JIEEH SEIIIESS
4834 XIBRZE — 4 2312 JI EEIIESTS
4835 X & — 3 1311 J R EELZNETS
4836 XI| B 75 — A 3 1452 JIEEH SELIIEFS
4837 I54E — Y 1 390 JIEER EEIIEFS
4838 B ik — Y 1 531 J B SELRNERS
4839 XEEE — Y 2 1015 J R EELZNETS
4840 X8 — Y 2 921 JIEEHR EEIIEFS
4841 X &% — 4 3 1311 JI EELZNETS
4842 XNEE — Y 6 2998 J B EELZEESS




4843 =gl 2 =t 2 921 ikt SELRNERS
4844 X $%E — A 5 1950 JIEEH SEIIIESS
4845 X% — Y 4 2312 JI EEIIESTS
4846 K e — Y 1 625 J R EELZNETS
4847 PiFs 2L — A 1 625 JIEEH SEIIEFS
4848 AR — Y 2 1156 JIEER EEIIEFS
4849 X3 I —1Y 1 625 JIHEE EELIZEESS
4850 X — Y 1 625 J R EELZNEFS
4851 X -y 1 665 JIEEHR EEIIESFS
4852 X A4 — 4 2 780 JI EELZNETS
4853 EIUPS — Y 2 780 J B EELZEESS
4854 X5k — A 1 625 JIEEH SEIIIESS
4855 X1 5] — 2 1015 JI EEIIEFS
4856 ZEHEYL — Y 2 921 J R EELZNETS
4857 1 2 Uk — A 2 1015 JI EENIINESS
4858 IR~ — Y 1 390 JIEER EEIIEFS
4859 XA — 1 531 JIHEE EELZEESS
4860 X & A — 4 2 780 J R EELZNETS
4861 X4 PR — Y 1 625 JIEEH EEIIEFS
4862 MBI v 1 625 JI EELZNETS
4863 EAS — Y 4 1983 J B EELZEESS
4864 X E A — A 1 531 JIEEH e RS
4865 T — 1 531 JIEEA VBN &2
4866 G ] =AY 1 531 JI e s
4867 AR — A 1 531 JIEEH BE M S
4868 X Z % —1 3 1525 JIEER MEENES
4869 XIJF =14 1 390 JIHEE MM
4870 1] i 2 =AY 2 921 J R e
4871 X B 75 — Y 1 390 JIEEHR MEENES
4872 XI$ZHE =4 4 1842 JI WM
4873 SRR =AY 2 921 JIHEE B2
4874 PR — A 1 625 JIEEH BE MRS
4875 T — 1 625 JIEEA VBN &2
4876 X EES =AY 3 1405 JI B e 2
4877 X I 7 — A 2 1015 JIEEH BoE M S
4878 |7 — Y 2 780 JIEER MEENES
4879 XEFE — 3 1311 J R BN
4880 BT =Y 1 531 JIEAE ER oM ZE 2
4881 gKA5% — Y 2 1062 JIEEHR RN T2
4882 5 =AY 4 1560 JI RIS
4883 ZEEE =Y 1 531 JIEAHE RS
4884 22 — A 1 625 JIEEH FEROIN T2
4885 EME — 2 1062 JI RN ZE 2
4886 FHE =Y 1 390 JiEAE RIS
4887 TR — A 3 1452 JIEEH RN T2
4888 ZEEAT — Y 2 921 JIEER FEROIN T2
4889 o =14 1 390 JIHEE RIS
4890 5| ik =Y 1 531 JIEAE ER oM ZE 2
4891 s — Y 1 390 JIEEHR RO T2
4892 ZE 1A ) =Y 1 531 JI R TR TS
4893 (e =Y 2 780 JIHEAE RIS




4894 ZEh — k4 2 1062 JIEAHE RIS
4895 25| Jift — A 1 625 JIEEH FEROINZE 2
4896 Z=H — Y 5 2232 JI RN T2
4897 A — 1Y 1 470 JiEAE RIS
4898 TEE — A 3 1546 JIEEH RO T2
4899 B — Y 1 625 JIEER FEROIN T2
4900 NS =AY 1 625 JIHEE RIS
4901 /e =Y 1 625 JIEAE BRI ZE 2
4902 X R 5% — Y 1 625 JIEEHR RO T2
4903 ik E°F =4 2 780 JI R
4904 KEFH =Y 2 780 JIHEAE RS
4905 X — A 1 531 JIEEH FEROINZE 2
4906 TEE — 2 921 JIEEA RN T2
4907 2 I8 s =Y 5 2373 JIEAE R
4908 KT =AY 2 780 JIEEH RO T2
4909 /N — Y 1 390 JIEER FEROIN T2
4910 TKARAT — Y 2 1062 JIHEE TR S
4911 25 °F =Y 2 1015 JIEAE ER oM ZE 2
4912 ZIE K — Y 3 1311 JIEEH RN T2
4913 Tk =AY 1 390 JI RIS
4914 X 7N — k4 4 1936 JIHEAE R Z VA 25 o
4915 SR — A 1 531 JIEEH PR = AT o
4916 K B ) — 2 1156 JIEEA R Z AT o
4917 7K IERE =Y 2 1062 JiEAE R Z VA 25 2
4918 B! — A 2 780 JIEEH PR = AT o
4919 o e — Y 1 531 JIEER PR Z AT 2 o
4920 Tk ZAE =14 2 921 JIHEE B2 IR 252
4921 K B XF — 1 2 780 JIEAE R VA 2 2
4922 XI| 75 4¢ — Y 1 531 JIEEHR PR Z AT e o
4923 ES L =4 1 531 JI R VA 252
4924 ES =Y 2 921 JIHEAE R VA 25 2
4925 K f 1E — A 2 1062 JIEEH R Z IR o
4926 X % =Y 3 1452 JIEEA R Z WA o
4927 X F ik =Y 1 390 JiEAE R VA 25 o
4928 2= [ bk — A 2 1156 JIEEH PR = AT o
4929 AR T — Y 2 1062 JIEER R Z VAT 2 o
4930 K BAAT =AY 2 921 JIHEE B2 VA 252
4931 K IE A =Y 1 390 JIEAE R VA 22
4932 EM — Y 1 390 JIEEHR PR Z VAT o
4933 X F =AY 2 780 JI R VA 252
4934 Tk B 4E — k4 2 780 JIEAHE R 2 VA 25 o
4935 Fh — A 1 625 JIEEH PR = AT o
4936 ZEFEHR — 1 625 JI PR 2= AT o
4937 2R — k4 1 531 JiEAE R VA 252
4938 =k — A 4 2312 JIEEH PR = AT o
4939 RN — Y 2 1250 JIEER R Z AT 25 o
4940 F N 77 =AY 2 780 JIHEE B2 IR 252
4941 B — 1 3 1546 JIEAE R VA 252
4942 X AR — Y 2 780 JIEEHR PR Z AT e o
4943 X 4LES =4 2 921 JI R VA 252
4944 o] RN — k4 1 531 J B RIS




4945 kg ~F =AY 1 390 JIHEE KB Z2
4946 T4 e — A 2 1062 JIEEH REEMNZE S
4947 XIAEHR — Y 1 531 JIEER KK BN Z 2
4948 B = =AY 1 531 JI KB 22
4949 25| & — A 2 780 JIEEH REEMNZE S
4950 TR — Y 2 1015 JIEER KK BN Z 2
4951 FREE — Y 1 390 JIHEE KRB ZE2
4952 WG - =AY 1 531 J R KB 22
4953 EFIE — Y 2 921 JIEEHR K BN Z 2
4954 Z=[E B =4 2 1062 JI KB 22
4955 240 =AY 3 1405 JIHEE KB Z2
4956 X 1EF — A 4 1936 JIEEH REEMNZES
4957 PR = — 1 625 JI K BN Z 2
4958 ZHE =AY 1 390 JI KB 22
4959 X% 75 — A 2 780 JIEEH REEMNZE S
4960 kA — Y 3 1687 JIEER KK BN Z 2
4961 i =AY 2 1015 JIHEE KRB ZE2
4962 5iEES =AY 2 1015 J R KRB 22
4963 EhH — Y 3 1546 JIEEH K BN Z 2
4964 kN F — Y 3 1170 JI KB 22
4965 iRieS =AY 1 390 JIHEE KB 22
4966 R — A 3 1405 JIEEH REEMNZE S
4967 B — 2 1062 JI K BN Z 2
4968 X 5] =AY 2 780 JI KB 22
4969 2= [E — A 2 921 JIEEH KEEMNZE S
4970 EilFE — Y 4 1701 JIEER KK BN Z 2
4971 iR FYE =1 2 780 J B [ S
4972 o L — Y 1 625 J R G TS
4973 0 SEAE — Y 2 1062 JIEEHR P IR 2o
4974 RS — Y 4 2077 JI PG IRR &2
4975 EAE — Y 1 390 JIHEE [ NS
4976 =1 NG — A 1 531 JIHEE PG IR 2
4977 2= 1E — 2 1062 JIHEE UG &2
4978 5 75 — Y 2 1062 JI NS
4979 5|1 — A 2 780 JIHEE PG IRz 2
4980 FEH — Y 1 390 JIHEE UG IRE Z 2
4981 BKES =AY 4 1842 AR DR RZ 2
4982 2= S — Y 3 1452 J R G TS
4983 By ] — Y 1 531 JIHEE TSI &2
4984 2P — Y 1 625 JI R PO IR 2o
4985 EbE — Y 1 390 J R G EES
4986 RER — A 1 390 JIHEE PG IRz
4987 ElFE — 4 1842 JI UG IR R &2
4988 25k — Y 2 1062 J R G TS
4989 EHEF — A 1 625 JIHEE PG IRz 2
4990 2RI — Y 1 390 JIHEE UG IR &2
4991 pifg ES — Y 3 1170 JIHEE PG IRR &2
4992 F K H —Y 2 921 JIHEE PG IRR T2
4993 BH% — Y 4 2077 JIEEHR ERIEN T2
4994 B EE — 1 2 1015 JIEAE FEREMN TS
4995 ZEHiHE — k4 4 1701 JIHEAE RS




4996 s — k4 1 390 JIEAHE RS
4997 E 5 — A 2 1250 JIEEH EXENES
4998 Eik Ak — Y 2 1015 JIHEE EXENZS
4999 EAF — 2 1015 JI EXENZES
5000 EET — 1Y 2 1015 JI B EXREMNES
5001 = — Y 1 625 JI EXENZS
5002 BRI — Y 2 780 JIHEE EXEBNZS
5003 E 2N — Y 2 780 JI EXENZES
5004 E&f — Y 1 390 S EXENZ
5005 YHEF — Y 4 2077 KR REN TS
5006 EINE — Y 1 390 N k! SN
5007 1) — A 2 1015 Nk RENES
5008 EIEZE — 4 2312 PNk SN
5009 gkt =AY 2 1062 N k! REN TS
5010 5] 9 — A 2 1156 PNk SN
5011 i i F — Y 2 1015 PNk BENZ S
5012 It — 1Y 2 1015 KAR 2 B 22
5013 A9k Y, —Y 2 921 KR HENZ S
5014 TR LAY — Y 4 2077 PNk IR N
5015 ALl — 1 3 1311 KR Ekt &5
5016 (ARSes — k4 4 2312 KR Tkt &5
5017 M5 — Y 5 2843 PN ! kIR 22
5018 LR — 2 780 KR R 22
5019 XA — Y 2 1015 KR M AR M 252
5020 X 5 R =14 2 780 PN k! Ak IR 22
5021 EiFs — Y 1 390 PNk PSR T 2
5022 HH A — 2 1062 N k! TSGR o
5023 J5 e 35 — Y 2 780 KR LIS
5024 SR —Y 1 611 PNk LIS
5025 K FLI — Y 2 1015 N k! TSGR 2
5026 XIFF & — 2 1015 KR M TSR 2o
5027 pullE s — A 1 625 Nk PSR T o
5028 J7 R — 1 625 PNk LI TS
5029 X H 3% —Y 1 625 KR TSR o
5030 X & — Y 2 1062 Nk PSR T 2
5031 ELERR — Y 2 780 Nk AR U
5032 K Y 1 625 N k! RBENES
5033 B T — Y 4 1842 KR AR U
5034 K EE — 1Y 3 1311 Nk AR IS
5035 X 1 75 — 14 2 1250 N k! RBENES
5036 R —1Y 1 390 N k! ARBENES
5037 B =14 3 1311 Nk AREE. I
5038 ZIRA — Y4 4 2077 Nk IR
5039 K EZE —Y 3 1781 Nk AP TR S
5040 ZEE — A 3 1452 Nk IR YN
5041 Mz — Y 1 531 Nk IR
5042 B 5 — Y 1 625 Nk AP TS
5043 Ak —Y 4 1983 Nk ORI N
5044 oAk — Y 2 1062 PNk REA Z 2
5045 XI| % — Y 4 2312 N k! RN ZE 2
5046 2 — Y 1 625 N k! STV N




5047 Bam — Y 1 531 N k! STV N

5048 AN — A 6 2904 Nk R Z 2

5049 il X1l — Y 2 1250 PNk SV

5050 E/hif v 2 1156 KR M RN ZE 2

5051 5= Bk — Y 1 390 Nk R Z 2

5052 LIER — Y 3 1170 PNk R Z 2

5053 J A — Y 2 780 N k! RN 2

5054 25 — 1 3 1405 Nk RN 2

5055 EEE — A 2 1015 PNk SV

5056 g — 4 2 921 KR RN ZE 2

5057 HiE7 — Y 1 390 KR M STV N

5058 AL — A 2 780 Nk REA Z 2

5059 7K AR — 3 1546 PNk SV

5060 E R — Y 2 921 N k! REN 2

5061 JE SRR — A 1 531 PN k! IR U
5062 AR — Y 1 531 PN ! e R T2
5063 BRI ZE =t 4 2077 KAR A EleHN T
5064 X4 5 v 1 390 KR SRR U e
5065 ST — Y 2 1156 KR e T2
5066 SR — 1 2 780 KAR 2 4H SR U e
5067 HE K — Y 1 625 KR M SR U e
5068 i 3 — Y 1 625 PN ! E N TS
5069 R — 2 1250 KR IR T2
5070 BER K — k4 2 1015 KR B TS
5071 K75 75 — A 1 390 PN k! EgN TS
5072 ik i X — Y 3 1546 PN ! R 2
5073 7h B — Y 1 390 KR ERE A 2 2
5074 IRRAEE — Y 2 1156 KR A 25 2
5075 R — Y 1 390 PN ks R 2
5076 kHE K — Y 3 1546 KR T e
5077 Z= A W] — Y 3 1781 KR M ERE A 2 2
5078 PUBUL =4 1 531 PN ! R 2
5079 U — 1 531 KR R 2
5080 % — Y 2 1062 Nk HRALENES
5081 e — 1Y 1 625 Nk FRALEN T2
5082 T JREE — Y 4 1701 PNk FALER L2
5083 25 — 1 1 390 PNk RALENES
5084 75 LR — Y 2 1015 KR HRALER T2
5085 =7 — Y 2 780 Nk FRALER L2
5086 K751l — Y 2 1015 Nk HRALENES
5087 KR — k4 2 1015 Nk RALENES
5088 Kok — A 3 1311 Nk HRALENZ
5089 J7 AR 1k — 1 390 PNk FRALER L2
5090 Z= — k4 5 2185 Nk HRALENES
5091 TR R — A 2 780 Nk FRALEN T2
5092 AR R — Y 2 780 PNk FALER L2
5093 i — 1Y 2 780 Nk RALENES
5094 2 =14 4 2077 KR HRALER T2
5095 Ffﬁ G — Y 3 1452 PNk FRALER L2
5096 Bl — 1 5 2608 Nk HRALENES
5097 X B R =Y 2 1156 Nk RALENES




5098 [ — k4 1 625 Nk RALENES
5099 FAE — A 2 780 Nk FRALENZ
5100 o Wk ik — Y 1 625 PNk HRALER L2
5101 RS — Y 3 1170 Nk HRALENES
5102 B % — 1Y 3 1546 Nk AN R o
5103 M — Y 1 531 PNk NETE R 2
5104 Y5 — Y 3 1311 KR VRO N
5105 Y =14 1 531 KR ARARE S
5106 |7k — Y 1 390 PNk UEEOR N
5107 24 — Y 1 531 KR BEEXRUINZES
5108 X EE — Y 1 625 KR M 2 % KAUNZES
5109 R 52 — A 2 780 Nk BEERUANES
5110 J7 Bk — 1 625 PNk BEERUANES
5111 Palites — Y 2 780 KR % .ﬂém‘éA
5112 EIEE — A 1 390 PNk BEE XU ZES
5113 FE — Y 2 780 PNk % KAUNES
5114 KEF — 1Y 2 921 KAR A KA
5115 ol E —t4 3 1311 Nk %%%%i—’uﬁé%
5116 JRAL — Y 4 1842 KR %%%%i—’aﬁéé
5117 WEZ — Y 4 2077 KAR 2 4H SRUMNZES
5118 Tk ok — k4 2 1015 KAR A EERINES
5119 kIR — Y 2 780 Nk % KAUANZES
5120 LR i — Y 2 1062 KR % % RAUANES
5121 W = — k4 2 780 PN BEXRUNES
5122 AR B — A 2 780 PN k! BEE XU ES
5123 TRE — Y 2 780 PN ! BEERUANES
5124 B R — Y 2 1062 KR BEEXRUANZES
5125 =512 —t4 1 531 Nk i N
5126 TR — Y 1 390 PNk R RS
5127 [Ty — 1 2 780 KAR 2 4A i N
5128 KZ — k4 1 390 KAR A N
5129 =V JE — A 2 780 Nk R R
5130 7K ZINE] — 1 625 PNk N
5131 T — Y 2 780 KAR 4 4A i N
5132 5] ik — Y 1 531 Nk R R
5133 X SE % — Y 1 390 PNk R R
5134 BLETE =Y 2 1015 KAR A IR S
5135 X1 i — 14 3 1452 Nk i N
5136 fERT — Y 2 1015 LhEEH LR ES
5137 FEF —Y 4 1936 LB LENZS
5138 1595 — k4 4 2077 Ty HEAH LENZS
5139 B — A 3 1311 LR LEMNZES
5140 | M2 | =HY 1 390 I AR DN
5141 £ — k4 2 1062 Ty HEAH LENZS
5142 W — A 3 1170 LR LFR RS
5143 RIS — Y 4 2077 LhERR LENZES
5144 e — 1 625 B LENZS
5145 LS — Y 1 390 LB LENZS
5146 i — Y 1 531 h B LR ES
5147 g~ — Y 2 1015 LB LENZS
5148 A =Y 1 531 Ty R LENZS




5149 T — k4 1 390 Ty R LENZS
5150 AT — A 2 1062 LR LENZES
5151 B — Y 2 1015 IO R LR RS
5152 R — k4 1 625 Ty HEAH LENZS
5153 kR — A 1 531 LR LFR RS
5154 FEIR L — Y 2 921 LhERR LENZES
5155 S — Y 1 390 B LENZS
5156 ¥ T i — 1 1 531 I HE LEMNES
5157 %% — Y 2 1062 h B LR ES
5158 HEHE — 1 1 390 b B4 LEMNES
5159 FAEX — k4 1 531 Ty R LENZS
5160 | AEfimrE | —RY 1 531 LR LHNES
5161 FERF — Y4 1 390 I AR DN
5162 £ 1 3 — Y 1 625 Ty HEAH LENZS
5163 el — A 2 1015 Lh R LERES
5164 AR — Y 1 625 OB LN ZES
5165 A — Y 2 780 B NS
5166 £ X — Y 2 1015 LB LENZES
5167 £E R — Y 3 1452 LhEEH LR ES
5168 AT — Y 2 1156 LB LENZS
5169 [Pk na — k4 2 1062 Ty R LENZS
5170 FEAT R — A 2 1015 LR UENES
5171 YAl — Y4 4 2077 )RR LS
5172 b — k4 2 921 Ty HEAH LENZS
5173 FEEE — A 3 1405 LR LFR RS
5174 iia) — Y 1 390 LhERR LENZES
5175 X & — Y 1 625 B LENZS
5176 B — 1 1 625 LB LENZS
5177 At — Y 2 1015 L HAR LR ES
5178 FER =4 4 2077 LB LENZS
5179 S5 Hi — k4 2 921 Ty R HEMNZS
5180 XL — A 1 531 LR BENEZES
5181 E= =Y 1 531 )RR BENES
5182 KED — k4 1 531 Ty HEAH HEMNZS
5183 L — A 2 1015 Lh R HENEZES
5184 FiRiE — Y 2 921 OB HENES
5185 -8 — 1 2 780 b B4 HEMNES
5186 FRE T =Y 2 1015 LB HEMNEZS
5187 TR — Y 2 1015 LhEEH HENES
5188 BElE — Y 1 390 LB EENZS
5189 Mg — k4 3 1452 Ty HEAH HEMNZS
5190 G — A 2 780 LR HENEZES
5191 T & =1 4 1701 IR HENES
5192 AR — k4 2 921 Ty HEAH HEMNZS
5193 R — A 1 625 LR HENEZES
5194 HE= — Y 1 625 LhERR HENES
5195 IR — Y 1 625 B BEENZS
5196 S — 1 1 625 LB HEMNEZS
5197 BNl — Y 2 1156 h B HENES
5198 = — Y 1 625 LB EENZS
5199 LTV — k4 2 1015 Ty R HEMNZS




5200 ElEI)A =Y 4 2312 Ty R HEMNZS

5201 e — A 2 1015 LR HENEZES

5202 ST =Y 2 780 IO R EENES

5203 Ak =Y 1 531 Ty HEAH HEMNZS

5204 PR IE — A 2 780 LR HENEZES

5205 20 SO — Y 3 1311 LhERR HENES

5206 21N =Y 2 921 B BEENZS

5207 A =1 3 1687 LB HEMNEZS

5208 HEX G ) — Y 1 390 h B HENES

5209 K\ 2 =4 1 625 LB EENZS

5210 D] =Y 1 625 Ty R HEMNZS

5211 ElgE 9 — A 1 625 LR BENEZES

5212 7 — 3 1546 LB FEXI A 2
5213 2511 11 =Y 1 531 Ty HEAH FEXI M2
5214 R — A 2 1015 Lh R I 2
5215 e — Y 1 390 OB FEXI A 2
5216 P FEN — Y 3 1452 B FEXIM e
5217 FE — 14 2 921 Ty EEAH RN TS
5218 A I — Y 2 1015 LhEEH FEXIA 22
5219 2RI N — Y 3 1311 b B4 FEXI M2
5220 £ — k4 2 1062 Ty R FEXIM T2
5221 lEALE — A 1 625 LR I 2
5222 A — 1 625 LB FEXI A 2
5223 FEIR — k4 1 625 Ty HEAH RN TS
5224 A= — A 1 390 LR FEX I 2
5225 | MEEER | =AY 2 1062 LhERR FEXI A 2
5226 £ 17 — 14 2 780 b B4 FERIN TS
5227 EEFk =Y 2 780 Ty HEAH I U
5228 L AT — Y 2 921 h B RGN T 2>
5229 KFHE =4 3 1311 LB TR EN T2
5230 =L =Y 2 1015 Ty R RPN T2
5231 XY~ — A 2 921 LR RPN ZE 2
5232 S — 1 390 LB RPN T2
5233 LR =Y 2 1156 Ty HEAH RN T2
5234 K — A 1 625 Lh R RPN T2
5235 Ll — Y 1 625 OB RPN
5236 SRR =AY 2 1156 B RPN T2
5237 5 =Y 1 531 Ty EEAH RPN T2
5238 I — Y 1 531 LhEEH RN T 2>
5239 P IR =AY 2 921 LB RN T2
5240 EESd =Y 2 1062 Ty HEAH RPN T2
5241 XK IE =Y 1 531 LR RPN E 2
5242 TeAHE — 3 1405 LB JERTAPAY N
5243 B — k4 4 1842 LB HA MM TS
5244 P e — A 1 625 Ly MM TS
5245 ZRUE — Y 1 531 L IR AAY N
5246 ME%E — Y 2 1156 b B4 AR
5247 WAL — 1 2 780 LB HA MRS
5248 Pherwin — Y 2 1015 L JERTPAY N
5249 s =Y 1 531 b B4 HA MM TS
5250 TeAt X — k4 2 780 )RR HAOMMNTS




5251 £ X AR — k4 1 531 )RR HAOMMNTS
5252 Wik — A 2 1062 Ly MM TS
5253 Bk F =AY 3 1170 LB HaOMNES
5254 [P — k4 4 1936 LB HA MM TS
5255 TR ER — Y 3 1431 Ly HAOMNNES
5256 nEE — Y 4 1936 Ly IR AAY N
5257 BMEE — 14 2 1156 b B4 HAOMMNTS
5258 M E — 1 3 1405 LB HAMMNTS
5259 M1 — Y 1 625 L M
5260 B — 1 2 921 b B4 HA MM TS
5261 it — k4 1 625 )RR HAMMNTS
5262 X F 5 =Y 1 625 L MM
5263 TrEEIR — 1 625 LB JERTAPAY N
5264 X HaE — k4 1 531 LB HA MM TS
5265 TS — Y 1 531 L LR N
5266 e X — Y 2 1250 L A E
5267 Te X E. — Y 2 1250 b B4 AT
5268 | ZhakL| — 14 1 625 LB HA MM TS
5269 TR — Y 1 625 LB JERTAPAY N
5270 HEE — 1 1 625 b B4 HA MM TS
5271 TN =Y 4 1936 )RR HAMMNTS
5272 AN — A 1 625 Ly B MM TS
5273 = EE — 1 390 LB JERTAPAY N
5274 75 4545t — Y 1 531 LB HaMNES
5275 Bt — Y 1 531 L MM
5276 &k — Y 1 531 LB IR AAY N
5277 P — Y 4 1701 b B4 AR
5278 MU =Y 1 625 LB ZENZS
5279 5L — Y 1 625 h B ERNES
5280 T =4 1 625 LB ZRENZS
5281 TH — k4 4 2077 Ty R ZRENZS
5282 Al — A 1 625 LR ERNES
5283 TR — 4 1936 L G p 2o
5284 ERIE — Y 2 1156 L G2
5285 MEE — A 2 1015 L LA o
5286 M — Y 1 625 L L b 2o
5287 FRAE I — 2 1062 b B4 G2
5288 £ — Y 1 625 LB B ES
5289 KES — Y 3 1311 L G A 2o
5290 EhinL — 1 1 390 B4R G2
5291 et L — Y 2 1062 L G ZS
5292 EES — A 1 625 Ly L b 2o
5293 brJhi — 2 1015 L Gk 2o
5294 W% — Y 2 1015 L G2
5295 EEPR — A 1 390 Ly LA o
5296 XI| & 1k — Y 1 625 L LR 2o
5297 = — Y 1 531 B G2
5298 [ =1 4 92265 LB BN ES
5299 Bm¥E= — Y 4 2171 L G A 2o
5300 AL — Y 2 1062 b B4 G2
5301 FiRsLun — Y 1 531 L G2




5302 7L — Y 1 531 L G S
5303 T — A 2 780 Ly L b o
5304 EPERY — Y 1 531 Ly G b 2o
5305 75 AT — 1 531 L G ZS
5306 H 51 — A 2 780 Ly LA o
5307 HHTE — Y 1 625 Ly LR 2o
5308 HAf = =AY 2 1156 B G2
5309 HAT R =Y 2 780 LB BN TS
5310 SRR — Y 1 625 L G A 2o
5311 HXUF — Y 6 3233 LB G2
5312 HER Y 1 625 L GRS
5313 SR — A 4 2312 Ly L b 2o
5314 HIE X — 2 921 L G b 2o
5315 =R — 3 1546 L G2
5316 (A — A 1 531 Ly LA o
5317 FRAR — Y 3 1546 L L b 2o
5318 [T — Y 1 625 B G Z 2
5319 X6 2% — 14 1 531 LB BN TS
5320 SRELi — Y 2 1062 L G A 2o
5321 | FEN | —HY 1 531 LB RENZS
5322 T %% =Y 3 1170 )RR RIENZS
5323 X EF — A 1 531 Ly R &
5324 vy — 1 531 LB i LR
5325 F A28 =AY 3 1640 LB RIENZS
5326 IZES2 — Y 2 780 LR BENZ S
5327 mIne — Y 2 780 Ly R o
5328 Eii =AY 2 780 B RENZS
5329 1175 1 —Y 1 531 LB RIENZS
5330 EE — Y 2 1015 L FIENES
5331 ikl =4 2 1062 LB RENZS
5332 Te&i — Y 2 1062 )RR RIENZS
5333 EEZE — A 1 531 Ly R &
5334 mP = — 1 531 L i LR
5335 TEXF =AY 3 1546 LB RIENZS
5336 A — A 1 625 L R &
5337 E& — Y 1 625 L R o
5338 oot Y 1 625 B RENZS
5339 XK — Y 1 625 L RIENZS
5340 T S Ak — Y 3 1687 L RN 2
5341 52 =AY 1 531 LB RENZS
5342 T4t =14 4 1701 Lh B RIENZS
5343 X ) — A 1 531 Ly R &
5344 i — 2 1062 LB L R
5345 XI5 ] — 1 390 LB RIENZS
5346 EEE — A 1 531 Ly R LR
5347 KA IR — Y 1 531 L R o
5348 X1 —1Y 2 1015 b B4 BN
5349 {562 — Y 1 531 LB RIENZS
5350 TR — Y 1 531 L R &2
5351 KK S — 1 1 390 b B4 BIEMNZE 2
5352 B — Y 1 390 )RR RIENZS




5353 F514E — k4 2 1250 Ty R TxRILbZE2
5354 TikF — A 1 531 L H TN Z2
5355 T — Y 1 390 LB THRLNZES
5356 A4 — k4 3 1170 Ty HEAH TxRILbZE2
5357 RSN — A 1 625 L HAR TRz
5358 T = — Y 1 390 LB BN TS
5359 Fr TG — Y 1 625 B BN
5360 H 20 kY 2 1001 LB THRLNZES
5361 £ 5 — Y 1 531 LB BN S
5362 AR — Y 1 625 LB THRILNZES
5363 HpE K — Y 1 390 Lo B BN TS
5364 i wiN =Y 2 1062 I R 2o
5365 A= =4 1 531 LB HREN 2
5366 ik 56 % =Y 2 780 Ty HEAH HREN S
5367 SHiE — A 1 531 Lh R HREN 2
5368 K A — Y 1 390 OB TN S
5369 KJa AT =AY 2 1062 B HRENZ S
5370 %2 % — 14 1 390 LB PN TS
5371 KA EE — Y 1 390 LhEEH HREN 2
5372 S — Y 3 1452 LB HRENZ S
5373 FrHF =Y 2 1015 Ty R HREN TS
5374 575 — A 1 625 LR HREN S
5375 ¥Rt — 1 625 LB HREN 2
5376 KT =Y 1 625 Ty HEAH HRENZ S
5377 KX — A 1 625 LR HREN 2
5378 ik (o — Y 5 2467 LhERR TN S
5379 HEx= =AY 1 625 B HRENZ S
5380 K7 =Y 1 625 LB PN
5381 ikt B — Y 1 625 h B HREN S
5382 Kk =4 3 1546 LB HRENZ S
5383 OEE — k4 3 1546 Ty R MEMZES
5384 H R — A 2 1156 LR ME IR Z
5385 A2 KR — 4 2077 L ME LR E
5386 FEFIF — Y 3 1311 L MELIRNES
5387 A2 g — A 3 1311 Lh R ME IR E
5388 R — Y 2 1062 OB MENZES
5389 SR =AY 4 2077 B MELNES
5390 KT =AY 3 1452 L MELINES
5391 FE T — Y 2 780 LhEEH ME IR
5392 X% =AY 1 531 LB MEILRNES
5393 R4 =AY 2 1015 L MELUNES
5394 il ¢ — A 1 625 LR ME LR Z
5395 A — 2 780 L ME LN E
5396 L=l =AY 2 1015 L MELRNES
5397 £ R — A 3 1311 LR ME LR ZE
5398 FEEE AR — Y 5 2373 LhERR ME LN E
5399 T2 — Y 1 390 B S ERBIN TS
5400 Tl — Y 2 921 LB e RIS
5401 FEARAE — Y 1 531 LB Sl ER BN e
5402 XIS — Y 3 1170 LB S ERBIN S
5403 X — =Y 1 390 Lo B SE RIS




5404 FEL — Y 2 921 Lo B S ERBIN S
5405 E =il — A 3 1546 Ly B T EREIN N
5406 R — Y 1 625 LB S ERBIN TS
5407 A — Y 1 390 LB B ERBIN S
5408 ToRK — A 1 531 LB S ER I o
5409 ENE — Y 3 1311 LB T E RN N
5410 i =AY 1 390 B e RIS
5411 FEdH — 1 1 531 LR XM FVAM T2
5412 i — Y 2 921 LB Sl ER BN e
5413 X8t =4 4 1936 LB B ERBIN S
5414 2 17 ik — k4 2 780 LR bl ER I RN
5415 TRE -y 1 571 Ly XN FIEAN TS
5416 W =1E A 1 571 LB X RN Z 2
5417 ¥ X -y 1 571 LR XM FVAM T 2
5418 X — A 1 625 LB Sl ER I o
5419 R — Y 1 625 LB T E RN N
5420 I =AY 1 625 B S ERBIN TS
5421 2 i ik — 14 1 625 LR pLTERIN TN
5422 XK — Y 1 625 LB Sl ER I o
5423 B =AY 1 625 LB S ERBIN TS
5424 XIS — Y 1 625 Lo B S ERBIN S
5425 X 5 — A 1 390 Ly B T EREIN N
5426 fEPRAR — 1 390 LB S ERBIN TS
5427 X A — Y 1 625 LB B ERBIN S
5428 S — A 1 531 Ly HEMNES
5429 bz — Y 1 531 LhERR HEMNEZES
5430 FEAH =Y 1 531 b B4 HLENES
5431 i — 1 1 531 LR TENES
5432 BTk Ak — Y 3 1405 h B HEMNES
5433 H AR L — 1 2 1015 b B4 TLENES
5434 E — k4 1 531 Ty R hENZS
5435 RE — A 1 531 Ly HENEZES
5436 R — Y4 2 1062 LB HEMNES
5437 eI — k4 1 531 Ty HEAH hENZS
5438 EFE] — A 2 1062 L HEMNEZES
5439 = [ PR — Y 2 1062 OB HEMNEZS
5440 TR — 1 2 1156 b B4 HLENES
5441 AR — Y 1 625 LB hENZS
5442 fEH =4 2 1062 LhEEH HEMNES
5443 [T =Y 2 780 G hEMZES
5444 WEHE — k4 1 625 LR TENES
5445 15 44 — A 1 390 Ly HENEZES
5446 T — Y4 1 390 L HEMNES
5447 % 1] — k4 4 1701 Ty HEAH hENZS
5448 SEiifz8 — A 2 780 Ly HEMNEZES
5449 75 4hE — Y 2 921 LhERR HEMNEZES
5450 FHA =Y 1 531 b B4 HLENES
5451 el — 1 3 1687 LB hENZS
5452 124 8 — Y 1 625 h B HEMNES
5453 X /N — 1 1 625 b B4 TLENES
5454 =L — k4 1 625 Ty R hENZS




5455 T o — k4 1 625 Ty R hENZS
5456 FLARZ — A 1 625 Ly B HEMNEZES
5457 B 46 B — Y 1 625 L HEMNES
5458 Brik & — k4 2 921 LR HENZES
5459 TKIEES — Y 1 625 IO R h RS
5460 B 5 40 — Y 1 625 O R hEMNZES
5461 STy — 14 1 625 b B4 HLENES
5462 [TREA — Y 4 2312 LB hENZS
5463 I L — Y 1 390 L HEMNES
5464 H5| — 1 2 1062 T FH AR hENZS
5465 2515 ik — k4 1 390 Ty R hENZS
5466 R — A 1 531 Ly B HENEZES
5467 DYl — Y4 1 390 )RR h RS
5168 T fn — k4 1 531 LR TENES
5469 SR — A 2 1015 Ly HEMNZES
5470 R — Y 1 625 L HEMNEZS
5471 T H % — 1 1 625 B4R hENZS
5472 D% ke — 14 2 921 LR TENES
5473 e — Y4 2 1015 LhEEH HEMNES
5474 AR — 1 1 625 b B4 TLENES
5475 wAE — k4 1 625 LR TENES
5476 RIS — A 1 625 Ly B HENEZES
5477 i Lk — 2 1156 LB EENRNERS
5478 Te51H =AY 1 625 LB AXENE S
5479 X BBUR — A 1 625 LR EENRNETS
5480 BN — Y 2 1015 LhERR HRENZE2
5481 TSR — Y 1 531 b B4 EESINETS
5482 KPR — Y 1 625 LB AXENE S
5483 AR -y 2 1142 h B HREN T2
5484 pLES — Y 2 1015 b B4 EELIETS
5485 X JRR, =AY 1 531 )RR AXENES
5486 B A — A 1 390 LR EENRNETS
5487 i X T — 1 531 LB EENRNERS
5488 ik EE — Y 4 1936 LB AXENE S
5489 2k — A 1 625 Lh R EENRNETS
5490 ELE — Y 1 531 OB HRENZE2
5491 SRS — 1 531 B AXENES
5492 4 —Y 1 625 LB AXENE S
5493 = — Y 1 531 LhEEH HREN T2
5494 KA 75 — Y 2 1062 b B4 EELIETS
5495 K &R =AY 2 921 Lh B AXENES
5496 kM — A 1 531 LR EENRNETS
5497 ik fiE bR — 4 1795 LB EENRNETS
5498 K X — Y 2 1015 LB AXENE S
5499 TR AE R — A 1 390 LR EENRNETS
5500 ks — Y 1 625 LhERR HRENZE2
5501 X &5 — Y 2 1250 b B4 EESINETS
5502 Fk vkt — Y 1 625 LB AXENE S
5503 EEN — Y 1 531 h B HREN T2
5504 ¥4 M — Y 1 531 T FH AR HxXERZ2
5505 X F5 4 — Y 1 625 )RR AXENES




5506 7K Y 7 — Y 3 1405 )RR AXENES
5507 KLfa — A 2 780 LR EENRNETS
5508 7k 2k — Y 2 780 LhERR EENRNETS
5509 Al — 1 531 LB AXENE S
5510 X 47 — A 1 531 LR EENRNETS
5511 K E T — Y 1 625 LhERR HRENZE2
5512 K H — Y 2 1062 B AXENZS
5513 gk =AY 1 390 LB AXENE S
5514 K5I — Y 1 531 h B HREN T2
5515 EXIE — Y 1 531 b B4 EELIETS
5516 A — Y 2 1062 )RR AXENES
5517 P — A 1 531 LR EENRNETS
5518 X 24 e — 1 531 LB EENRNESS
5519 iR 7 — 1 625 LB AXENE S
5520 X TG0 — A 1 625 Lh R EENRNETS
5521 X —fh — Y 1 625 OB HRENZE2
5522 H5l4E =AY 2 921 B AXENES
5523 KEE — Y 2 1250 LB AXENE S
5524 KA — Y 1 625 LhEEH HREN T2
5525 B Bk =AY 2 1015 LB SEENERS
5526 KRR — Y 2 1250 )RR AXENES
5527 Tk iR — A 1 625 LR EENRNETS
5528 7K JH A — 1 625 LB EENRNERS
5529 X F =AY 4 2030 LB AXENE S
5530 SRSl — A 1 625 LR EENRNETS
5531 XTI — Y 1 625 LhERR HRENZE2
5532 K =AY 1 625 B AXENZS
5533 THEE — Y 1 390 LB AXENE S
5534 X E £ — Y 1 625 h B HREN T2
5535 7K B B — Y 2 1015 b B4 EELIETS
5536 Tedi i — Y 2 780 )RR AXENES
5537 Hoe % — A 1 625 LR EENRNETS
5538 KE — 2 921 LB EENRNERS
5539 KR — Y 4 2077 LB AXENE S
5540 XI/NEE — A 1 625 Lh R EENRNETS
5541 X — Y 1 390 OB HRENZE2
5542 H K F =AY 1 531 B AXENES
5543 S =Y 3 1546 LA HRXERZ2
5544 Brie — Y 1 390 LhEEH HREN T2
5545 ke — 1 1 531 B4R EELIETS
5546 XH 4 — Y 1 531 Lh B AXENES
5547 X ) Fe — A 1 625 LR EENRNETS
5548 K75 — 1 625 LB EENRNETS
5549 K F — Y 1 625 LB AXENE S
5550 1Rk ek — A 1 625 L HAR EENRNETS
5551 S g D] — Y 1 390 LB K IEA Z 2
5552 S — Y 1 390 B R EIEMN TS
5553 S XY £ — Y 3 1405 Ty HEAH M IER &2
5554 EiBZE — Y 1 390 LB RGN &2
5555 e — 1 2 1062 T FH AR e %
5556 ¥sL — k4 1 390 Ty R e %




5557 2t =Y 1 625 Lo B R EIEN TS
5558 -3 — 1Y 1 625 I I IER TS
5559 RS — Y 4 1795 Ly KA &2
5560 G | — Y 1 625 LB KB T &
5561 kAL — 1Y 1 625 LR e &2
5562 X {E — Y 1 390 LB K IEA Z 2
5563 FiER — 14 5 2232 T FH AR e &
5564 ¥Rl — 1 1 625 Ty HEAH M IER &2
5565 S22 % — 1Y 4 2077 h B e &2
5566 T =4 1 390 LB EEAINNESS
5567 LR =AY 3 1546 L EEAINETS
5568 KR E — A 2 780 LR CENNESS
5569 s — Y4 2 1062 )RR eSS
5570 SRS — Y 2 780 L EEAINETS
5571 Lt — A 2 921 Lh R CEANESS
5572 /N — Y 3 1170 OB CENNESS
5573 2R 14 B =AY 2 780 B EEAINNESS
5574 L B — Y 1 390 L EEAINNESS
5575 1 4 U] — Y 2 780 LhEEH CEANESS
5576 e =AY 1 390 LB EEAINNESS
5577 K SO — Y 2 780 L EEAINETS
5578 1% DO — A 2 780 LR CENINESS
5579 3 — 2 1062 L CEANETS
5580 KT — Y 1 390 L EEAINETS
5581 LEE — A 1 625 LR CEANESS
5582 Lk — Y 5 2937 LhERR CEAIEFS
5583 =)\ — 14 3 1781 T FH AR CEAIETS
5584 TEE — Y 1 625 L EEAINNESS
5585 LS9 — Y 1 625 h B PSS
5586 5=l — Y 1 625 T FH AR CEAI TS
5587 SR — Y 1 390 L EEAINETS
5588 5 — A 1 625 LR CENNESS
5589 FHifa — 1 625 L CEANETS
5590 IS 364 — Y 1 531 L EEAIINETS
5591 difEE — A 1 390 Lh R CEANESS
5592 IS K — Y 1 390 OB PSS
5593 eS| =AY 1 531 B EEAINNESS
5594 X i — Y 1 625 L EEAINNESS
5595 =N — Y 2 1250 LhEEH eSS
5596 S SiE =AY 2 780 LB EEAINESS
5597 FaF =AY 4 1842 Lh B Ak &2
5598 Iif§ T 2 — A 1 531 LR i o
5599 EiE — 1 531 LB Al ZE2
5600 B =AY 1 531 LB Ak &2
5601 F N — A 3 1546 LR A i o
5602 FikE — Y 1 531 LhERR i o
5603 Minss =AY 1 390 B Rk &2
5604 FICHE Ry 2 1095 LB Ak &2
5605 R — Y 1 390 h B A i 2o
5606 151t — Y 1 531 LB Ak Z2
5607 TR =Y 2 1062 )RR Ak &2




5608 t&iE — Y 2 780 )RR NS
5609 TR — A 2 780 LR k&2
5610 T — Y 2 1015 LhERR Al ZE2
5611 T — Y 4 2077 LB Ak &2
5612 TE¥E — A 4 1842 LR A i o
5613 BN — Y 1 390 LhERR i o
5614 EHM — Y 1 625 B Rk &2
5615 Tl — 1 4 1936 LB Ak &2
5616 5K — Y 1 625 h B A i o
5617 & — Y 1 625 LB Ak Z2
5618 R — Y 1 625 )RR NS
5619 M5 =Y 1 625 LR ko
5620 T — 2 1015 LB Al ZE2
5621 ITEZE =AY 2 1250 LB Ak &2
5622 FiE — Y 2 1156 Ly 2o
5623 T &k — Y 1 390 OB ko
5624 Figf — Y 2 921 B Rk &2
5625 FiEEE — 14 2 921 LB Ak &2
5626 T — Y 2 921 LhEEH A i o
5627 THEZE — Y 2 921 LB Rk &2
5628 EEH — Y 3 1452 )RR NS
5629 XI| 5 — A 2 1250 LR HIRNZES
5630 R — 3 1452 LB RN E S
5631 XI| & — k4 2 1062 Ty HEAH WRNZS
5632 | XUFEHE | =Y 1 531 LR RN E S
5633 T — Y 1 531 LhERR HIRNES
5634 B ] =AY 2 780 B WRNZS
5635 XN AT — 1 3 1546 LB WRNZS
5636 A — Y 1 531 h B RN E S
5637 T2 =Y 2 780 LB WIRNZS
5638 1 AR U — k4 1 390 Ty R WRNZS
5639 - — A 1 531 LR RN ZES
5640 X PR — 3 1311 LB RN E S
5641 XA TE — Y 2 780 Ty HEAH WRNZS
5642 XI| 2 — A 1 390 Lh R RN E 2
5643 KK — Y 5 2232 OB RN ZES
5644 EEULY — 1 531 B WRNZS
5645 FEAETE — 14 1 625 LB WRNZS
5646 XL — Y 1 531 LhEEH RN E S
5647 AL =AY 2 1062 LB WRNZS
5648 E I — k4 1 531 Ty HEAH WRNZS
5649 TEF — A 3 1687 LR HIRNZES
5650 EREL! — 2 1156 LB RN E S
5651 SEE — k4 2 780 Ty HEAH WRNZS
5652 R — A 1 390 LR RN E S
5653 FREmE — Y 1 531 LhERR HIRNES
5654 K — Y 2 921 B WRNZS
5655 AT — 1 1 531 LB WRNZS
5656 T — Y 1 390 h B RN E S
5657 EI9IR2; — 1 1 531 b B4 R ZE S
5658 F Iy =Y 2 1156 Ty R WRNZS




5659 SRS =Y 2 1156 Ty R WRNZS
5660 SRy — A 2 921 LR HIRNZES
5661 E&RA — Y 2 921 LhERR RN E S
5662 e s — k4 2 921 Ty HEAH WRNZS
5663 T — A 2 921 LR RN E S
5664 FEH — Y 3 1687 LhERR HIRNES
5665 X 58 3L =AY 2 1015 B WRNZS
5666 3 — 1 2 780 LB WRNZS
5667 1 B 7 — Y 1 390 h B RN E S
5668 FZa A 4 2237 LB WIRNZS
5669 K — k4 2 1015 Ty R WRNZS
5670 Shi N — A 3 1781 LR RN ZES
5671 XIS — 3 1311 LB RN E S
5672 FARE =Y 5 2749 Ty HEAH WRNZS
5673 I — A 1 625 Lh R RN ZE 2
5674 FIRR — Y 1 625 OB RN ZES
5675 ARk =Y 1 625 b B4 RS
5676 Rk =Y 1 625 LB WRNZS
5677 XI5 — Y 1 625 LhEEH RN E 2
5678 FHE — Y 1 625 LB WRNZS
5679 2R GE — k4 1 625 Ty R WRNZS
5680 7K O — A 1 625 LR HIRNZES
5681 Fx — 3 1311 LB RN E S
5682 I —Y 1 390 Ty HEAH WRNZS
5683 5% — A 1 390 LR RN E S
5684 | FIMEARE | —HY 1 390 LhERR HIRNES
5685 AR =AY 2 780 B WRNZS
5686 EE4DY — 1 1 390 LB WRNZS
5687 FAEF — Y 3 1170 h B RN E S
5688 T3 =4 2 1156 LB WIRNZS
5689 X R =Y 2 921 Ty R WRNZS
5690 X fe — A 1 625 LR RN ZES
5691 Eigk — 4 2077 LB RN E S
5692 EEE N =Y 2 780 Ty HEAH WRNZS
5693 & H =14 1 625 A WIRMNEE
5694 Tilge — Y 1 390 LB AN N
5695 KA — 3 1311 b B4 AN TS
5696 TFIEL — Y 3 1405 LB AN
5697 K — Y 2 780 LhEEH AN
5698 s — Y 2 780 LB AN TS
5699 Ee L — Y 3 1452 Lh B AN TS
5700 7K 51 R — A 2 1156 Ly B AN
5701 Fi Y — Y4 2 780 IR AN
5702 T — Y 2 1250 LB AN TS
5703 A A — A 3 1452 LB AN
5704 T i ik — Y 1 390 LB AN SN
5705 KX — Y 1 625 B AN TS
5706 k=2 — Y 1 390 LB AN
5707 TFE — Y 1 390 h B AN
5708 EB®E — Y 1 390 LB AN TS
5709 Kt — Y 1 531 )RR AN TS




5710 BN — 4 1983 )RR AN TS
5711 K 7 ] — Y 1 390 L H AN N
5712 oA — Y 1 390 IO R AN
5713 K B — Y 1 625 LB AN TS
5714 FANE — A 1 625 LB AN
5715 T — Y 1 625 LhERR AN N
5716 5K I — Y 1 531 B AN TS
5717 iKAHE — Y 2 1062 LB AN
5718 gkt w8 — Y 1 390 h B AN
5719 FEIRAE — Y 1 531 LB AN TS
5720 K E# — Y 2 1062 )RR AN TS
5721 T R — A 1 390 Ly B AT
5722 At — 1 625 LB AN
5723 F15% — Y 1 625 LB AN TS
5724 AR — Y 3 1546 L HAR AN N
5725 B I — Y 1 625 LB AN N
5726 ZRP0 =2 — Y 1 625 B AN TS
5727 RS — Y 2 1015 FEAT G 45 B ES
5728 AR — Y 1 531 ! A EN
5729 ZERKAL — 1 2 1062 EEFF R BTN S
5730 £ 52 | =AY 2 921 FEAT G R EMENES
5731 TR ik — A 1 531 AR EAEN S
5732 E R — 3 1170 A A EN R
5733 BRI — k4 1 390 EAAE R AT BN TS
5734 B -y 2 860 AR EAEAES
5735 TR — Y 1 390 AR EAEN S
5736 AR i — Y 1 531 AT G EMENES
5737 =EIRE — 1 4 2077 FEFF R AT T
5738 TR2AE — Y 1 390 ! A EN
5739 HE&E — Y 2 1062 EEAT G EAEAES
5740 FiE — k4 2 1062 B AT o
5741 W% — A 2 1015 AR EAEN S
5742 55— — 1 390 A EAEAES
5743 i — Y 2 921 EEAT G B E S
5744 B PR — A 2 921 AR EAEN
5745 JHT5 — Y 1 531 EAAT R EAEMN TS
5746 SIS — 1 2 1062 FEFF AR BTN S
5747 ] — 4 2 1156 FEAT G 45 B ES
5748 HEx — Y 1 625 ! A EN
5749 2B — Y 2 1156 EEAT G EAEAES
5750 SEI| — Y 2 1156 FEAT G R EAEANES
5751 S — A 1 531 AR EAENZES
5752 Pabingis — 2 921 A EAEAES
5753 H=% — Y 2 780 FEAT G 4 B ES
5754 TR — A 3 1311 AR EAEN
5755 T ] — Y 1 531 AR EAEN S
5756 =i =14 2 780 AT G EMENES
5757 VR % — Y 1 531 FEAT G 45 B ES
5758 o — Y 1 531 ! PN S
5759 JH K F — 1 5 2608 EEFF AR AN
5760 H B IE — Y 1 531 FEAT G R EAEAN LS




5761 FhZ — k4 1 390 FEFF AR AT 2o
5762 HEH =Y 1 531 EAAT R EAEEMN TS
5763 B — Y 1 531 A EAEAES
5764 A —Y 1 531 FEAT G 4 B E S
5765 o — A 2 921 AR EAEAES
5766 TE — Y 1 531 AR EAEN S
5767 M r — Y 1 531 AT G EMENES
5768 H N — Y 2 921 FEAT G 45 B ES
5769 Tr 4] — 1Y 3 1311 LA 2R A EN
5770 £ 3] ] v 2 780 EEAT G EAEAES
5771 =ki — k4 1 390 B AT o
5772 EERAL =Y 1 625 EAAT R EAEEMN TS
5773 A R — 5 2232 A EAEAES
5774 V5% B =Y 1 390 EEAT G TR ENZ 2
5775 iKFe I>T — A 1 531 LA 2R WX ENES
5776 £ 7} i — Y 2 780 ! IR EMN S
5777 PrifgoR -y 1 665 FEAT G I RXENZE
5778 TR AR AR — 4 2 1062 FEAT G 45 M RXEN T
5779 7K K — Y 1 625 ! TR FEMN 2
5780 T =Y 3 1170 EEAT G TR ENZ 2
5781 sk yG H =AY 1 390 FEAT G R T RENZ
5782 Tk VB — 1Y 1 531 AR IR FEMN S
5783 K — 2 1015 A TR FEMN T2
5784 XI| X 4 — Y 1 625 FEAT G 4 TR EN T2
5785 Tk eiE — A 1 625 AR MR ENES
5786 1R — Y 1 625 AR IR EMN S
5787 P IE % =Y 2 780 EAA B PR EN TS
5788 37 it Fii — 3 1546 FEFF R T REN T2
5789 Tk R — Y 1 625 AT R MRENZS
5790 P g =4 1 625 EEAT G RN
5791 %G =AY 5 2467 FEAT G R M RENZE
5792 R — A 3 1452 EAT R WX ENES
5793 X H 2% — 1 625 EEAT AR MR ENES
5794 35 v 1 625 EEAT G TR EN T2
5795 K i — Y 1 625 AR TR FEMN 2
5796 FE=0 — Y 2 1015 ! Lk
5797 HAEZ =AY 1 531 FEAT R AN
5798 751 1 — kY 1 430 EAAE R Lk %S
5799 BEfE AL —4 1 390 R R R TN SN
5800 22 -y 2 1236 EEAT G Lok S
5801 AT AU — Y 1 625 FEAT G R Lk
5802 O — A 4 1701 AR Lok &
5803 T 5l -y 2 1236 FEAT G845 Lok &e
5804 B =Y 1 390 FEAT G 4 LS
5805 Al -y 2 1330 AR Lok
5806 BEE — Y 3 1452 AR Lk
5807 LEE — 3 1405 AT G Lok s
5808 I 15 — Y 1 625 EEAE B AN
5809 151 2% [ — Y 3 1546 ! Lok s
5810 LET ] A 1 665 EEAT G AN
5811 Tk =AY 4 1701 FEAT G R Lok 2




5812 T — kY 2 1095 FEAT G R Lok 2
5813 HUE — A 2 780 AR Lok &
5814 T H ik — Y 2 921 A AN
5815 i — 2 780 FEAT G 4 hENZe
5816 H 7 Y 3 1290 AR hEr%s
5817 Sl — Y 1 390 AR hEn%s
5818 R — Y 2 780 AT G hENZs
5819 TRk — 1 1 390 EEAE B NEMNES
5820 i =14 1 625 AR hEn%s
5821 HA — 4 2 780 EEAT G hENZe
5822 Bt JE ] — Y 2 780 FEAT G R hENZe
5823 ZEREER =AY 1 531 AR hEn%s
5824 TG -y 1 430 A hEr%s
5825 XK — Y 1 531 EEAT G hENZe
5826 TR — A 1 390 AT R haEr%s
5827 IIEE — Y 1 625 ! hEn%s
5828 PriE= —1Y 1 390 FEAT G hENZe
5829 g ik — Y 1 625 EAAE R MEMNES
5830 SLEI — Y 2 921 ! hEn%s
5831 T B%E — Y 5 2373 EEAT G hENZe
5832 EEE — Y 2 1062 FEAT G R hENZe
5833 b — 1Y 5 2373 AR hEn%s
5834 B 7 U] — 1 625 A hEr%s
5835 HH — Y 1 531 FEAT G 4 RS
5836 Tt — A 1 625 AR WY NZ2
5837 YR T oy 1 571 AR WO N Z2
5838 EIé — Y 2 1156 AT G WM ZEE
5839 s g - — kY 1 571 EEAE B Y MZES
5840 ERNES Y 1 430 ! LM 2o
5841 71598 — 1 2 780 EEAE B MRS
5842 EESY | 4 2237 FAAF 2R MRS
5843 ik e et — A 1 531 EAT R WY NZ2
5844 X — Y4 4 1560 A RN
5845 AT —Y 1 390 EEAT G RS
5846 X FR A Y 1 571 AR WY NZ2
5847 Tt -y 1 571 ! LM ZEe
5848 b — 1 625 FEAT R WM ZEE
5849 ¥ 5k =Y 3 1781 EAAE R LY MZES
5850 SRS — Y 1 625 ! LM Zos
5851 1 XH ) —Y 2 1015 EEAT G WM ZEe
5852 AR — Y 1 625 FEAT G R S
5853 T — A 1 625 AR WY NZ2
5854 ¥ _—fh — 2 1156 FEAT G845 WY NZ2
5855 B — k4 1 390 EAAE R MRS
5856 2310 — A 1 531 AR WY NZ2
5857 11t E — Y 1 531 AR WO N Z2
5858 SR —1Y 2 1015 AT G WM ZEE
5859 e =Y 2 1062 FEAT B4R RS
5860 ) E — Y 1 625 ! LM 2o
5861 25— M =Y 2 1015 EEAT G WM ZEe
5862 ZE AR — Y 1 625 FEAT G R eSS




5863 SEi] — Y 2 780 FEAT G R eSS
5864 B E — A 2 1015 AR WY NZ2
5865 BT =Y 2 780 A BRI £ 2
5866 A — Y 2 1015 FEAT G 4 PRI Z 2
5867 B ORT — Y 1 531 AR BRI £ 2
5868 2 =Y 2 1062 AR BRI ZE 2
5869 0% =Y 3 1405 EAA B PEIMNZE 2
5870 B e — 1 1 531 EEAE B PEIIMNZE 2
5871 FLIR TR — Y 1 625 ! BRI Z 2
5872 FEE IR — Y 1 390 EEAT G BRI Z2
5873 P =AY 1 390 FEAT G R PRI Z 2
5874 2=/ R — Y 2 780 EAAT R PN ZE 2
5875 =) — 2 780 A BRI £ 2
5876 B ik — k4 2 921 EAAE R PN ZE 2
5877 2 bk — Y 3 1405 AT R BRI £ 2
5878 A Hi =Y 1 390 ! BRI Z 2
5879 TK S kY 1 430 FEAT G PRI Z 2
5880 5| — 14 1 531 EAAE R PEIIMNZE 2
5881 X 2255 — Y 1 625 ! BRI Z 2
5882 A =AY 1 625 EEAT G BRI Z 2
5883 Lok — k4 1 625 FAAF 2R PN ZE 2
5884 AT =y 1 625 FE AT R PRI Z o
5885 PHEL =AY 1 625 A BRI £ 2
5886 N — Y 1 625 FEAT G 4 PRI Z 2
5887 Bk Bk — A 1 625 AR BRI £ 2
5888 BNt — Y 1 625 AR BRI Z 2
5889 FEFE — 1 625 AT G PRI Z 2
5890 ¥ 51 8k — 1 1 625 EEAE B PEIIMNZE 2
5891 bR =AY 2 921 ! BRI Z 2
5892 BLE R — 4 2 921 EEAT G BRI Z2
5893 A =Y 2 921 FEAT G R PRI Z 2
5894 S —Y 4 1842 AR BRI ZE 2
5895 BUR XL — 1 2 1156 A BRI £ 2
5896 P — Y 2 921 EEAT G PRI Z 2
5897 WZEINL — Y 2 1015 AR PEYIA 2o
5898 VF 4 bei — Y 4 1795 ! LN
5899 AL — 1 1 531 FEFF AR RN ZES
5900 2= — 14 1 390 s B RIERZE 2
5901 A — Y 2 1062 ! RN Z 2
5902 T2 =AY 1 390 EEAT G FEREMNZES
5903 R =AY 1 531 FEAT G R R ZE
5904 FI515 e 1 571 AR ZRERNZZ
5905 ZC I I =Y 2 1062 PR FERENZS
5906 MR 5 -y 1 571 s R ZE2
5907 e =Y 2 921 AR ZRERNZ2
5908 Ik — Y 1 531 AR LN
5909 E kR — Y 5 2467 AT G RN ZES
5910 Rl =AY 2 921 FEAT G 45 B RIERZE 2
5911 FEEE — Y 1 625 ! ZRERNZ2
5912 £33 — 1 1 390 EEFF AR RN
5913 VHiE B — k4 4 1983 B R




5914 E3in2 — 14 3 1311 FEFF AR NN
5915 iR —14 4 2397 AR ZRERNZZ
5916 T5H%F — 1Y 3 1311 AT G 5 ZRENZ2
5917 pis L — 1 531 FEAT G 4 R T2
5918 0 f ik — Y 1 390 AR ZRERNZ2
5919 | Fridmz)L|  —#Y 2 1316 AR LN
5920 itz — Y 4 1936 AT G RN ZES
5921 A K KE — Y 2 1062 FEAT G 45 B RIENZE 2
5922 EERE — Y 3 1311 AR ZRERNZ2
5923 EHRK v 4 1795 EEAT G RN ZES
5924 PR NI — Y 3 1452 FEAT G R NN
5925 JSI it — A 1 625 AR ZRERNZZ
5926 R — 1 625 FEAT G 5 ZRERNZ2
5927 EligsS — k4 1 625 FEFF AR R T2
5928 =5 [l — A 1 625 AT R ZRERNZ 2
5929 LY — Y 1 531 ! LN
5930 251 =t 2 921 FEAT G FEREMNZES
5931 257K T — Y 2 780 s B RIERZE 2
5932 LN — Y 2 1156 ! RN Z 2
5933 ZEELE — Y 1 390 EEAT G FEREMNZES
5934 2 A — k4 2 1062 B NN
5935 ZE M H — Y 2 780 AR ZRERNZZ
5936 I — 3 1311 A ZRERNZ2
5937 L' — k4 3 1452 FEFF AR R ZE2
5938 ZUEHI — A 2 921 AR RN Z 2
5939 MAE)E — Y 2 1062 AR LN
5940 R — 14 2 1015 FEFF AR RN ZES
5941 P72 =14 1 625 FEAT G 45 B RIENZE 2
5942 IPAR5S — 1Y 1 531 ! RIS 22>
5943 X H 5 =4 4 1842 EEAT G KEINN T2
5944 AN ) — Y 1 531 FEAT G R ERINP 22
5945 B #K 46 — A 1 531 (= TR 22>
5946 XI5 — 1 531 EEAT AR KEINN 2
5947 K L] —Y 1 531 EAAE R TR RIS T 2=
5948 T — 2 780 P £ RIS 225
5949 Rl =AY 2 1062 ! RIS 22>
5950 FER — 4 1936 FEAT R KRN 22
5951 TE =14 1 531 FEAT G 45 RIS ZE 2
5952 ARG — Y 1 531 ! TR I 2525
5953 B —Y 2 780 EEAT G RIS 22
5954 =it — Y 2 1062 FEAT G R ERINb 22
5955 XI5 4 — Y 1 390 AT R TR 22>
5956 FHE — 1 531 A K EINN Z 2
5957 A — Y 1 531 FEAT G 4 RIS 22
5958 A — A 2 1250 AR TR F I 22>
5959 AIES)A =AY 4 2077 AR TR I 22>
5960 £ M —1Y 1 390 EAA B TR RIS T2
5961 XA —Y 2 1015 FEAT G 45 RIS ZE 2
5962 Pt — Y 1 625 ! RIS 22>
5963 ARk — Y 1 625 EEAT G RIS 22
5964 KA ZE — Y 4 1936 FEAT G R ERINP 22




5965 il =AY 4 1842 FEAT G R KIS 22
5966 FEERK — Y 1 390 AT R TR I 22>
5967 K EE — Y 2 780 A KEINN L2
5968 Rk e 1 390 FEAT B4R KEINN Z 2
5969 X% 2% =14 4 1842 AR TRF I 225
5970 Tk it — Y 1 531 AR TR I 22>
5971 XIH X =AY 4 1936 AT G RN 22
5972 T VU Ay 2 1001 FEAT G 45 RIS ZE 2
5973 AR E — Y 2 780 ! RIS 22>
5974 XA — Y 2 780 EEAT G RIS 22
5975 X35 — Y 1 390 FEAT G R KRN 22
5976 gl =2 — Y 2 1142 AT R TR 22>
5977 eyl — 1 625 A KEINN 2
5978 EVN =AY 4 2077 EEAT G RIS 22>
5979 T&F — Y 2 1015 FAAT £ K EIN &2
5980 X JE AR =AY 4 1701 ! RIS 22>
5981 KA I =1 1 390 FEAT G KRN 22
5982 2= AR — 4 2 1015 FEAT G 45 RIS ZE 2
5983 XIAE Y 1 571 ! RIS 2525
5984 i F — Y 1 390 EEAT G RIS 22
5985 Tk =14 2 1015 FEAT G R KRN 22
5986 pFS — 1 2 1015 AT R TR 22>
5987 Y&k — 1 1 625 A KEINN 2
5988 EHE =AY 1 531 FEAT G 4 RIS 22
5989 AT — Y 1 531 FAAT £ TR I 2525
5990 fr] 5 3He — Y 2 780 AR TR I 22>
5991 ZER T — Y 1 531 AT G KRN 22
5992 X Jg & — 4 2 780 FEAT G 45 RIS ZE 2
5993 X4k [ — Y 2 1062 ! RIS 22>
5994 XV 4 — Y 1 625 EEAT G RIS 22
5995 TR AL — Y 2 1062 FEAT G R ERINP 22
5996 IR — Y 1 531 AT R TR 22>
5997 ikt — 1 390 A KEINN 2
5998 i — 1 531 EEAT G RIS 22
5999 E A 0] — 1Y 2 1062 AT R KRS T2
6000 XIE =AY 2 1062 ! RIS 22>
6001 EIGES =AY 2 1015 FEAT R KRN 22
6002 SEREZL — Y 5 2608 FEAT G 45 RIS ZE 2
6003 H_H =14 2 1015 ! TR I 2525
6004 X% ¢ — 14 1 390 EEAT G RIS 22
6005 ok — v = 1 430 FEAT G R KEEE P 22
6006 5 — A 2 780 AR KRB 22>
6007 kgL — 1 390 FEAT G845 KERTER Z 2
6008 B 5} — k4 5 92232 s KEEE R 22>
6009 = H -y 3 1666 AR KBS 22
6010 S — Y 2 1015 AR KRB &2
6011 X FLES —1Y 2 921 AT G PN N
6012 iR IR —Y 2 780 EEAE B RERVER T o>
6013 I — Y 2 921 ! KRB 22>
6014 e — 1 3 1546 EEFF AR PN YN
6015 ERCRG -y 1 665 FEAT G R KEEE P 22




6016 HzJ5 — Y 2 780 FEAT G R KEEE R 22
6017 o F — A 3 1546 EAT R KBS T2
6018 T AR — Y 3 1311 EEAT R KERTER Z 2
6019 SEE — Y 1 625 FEAT G 4 KB F 22>
6020 i — A 1 625 AR KBS 22
6021 B — Y 1 625 AR KRB &2
6022 HE2 — Y 1 625 AT G PN N
6023 TEim — Y 1 625 FEAT G 45 KBS R 22
6024 5 [X B — Y 3 1311 ! KERTER &2
6025 FhEE —1Y 2 780 EEAT G BN S
6026 PryEk -y 1 571 FEAT G R BN ESS
6027 50 5% i Y 1 430 AR TN ZES
6028 155 0] — 1 625 FEAT G 5 BN
6029 = EE -y 2 1095 FEAT R BN S
6030 TR —t 2 1095 AT ENlILEESS
6031 35@352 — 1Y 2 1062 EAAT G BN TS
6032 & -y 1 571 FEAT G BN ESS
6033 J&EL — 14 2 921 EAAE R TN ZES
6034 AN — Y 2 1015 ! FNES
6035 T 1] 46 — Y 2 1015 EEAT G BN S
6036 AN RS — Y 2 1015 FEAT G R BN ESS
6037 BE M — A 2 780 AR BN
6038 DiXawas -y 1 571 FEAT G 5 BN
6039 KR — Y 3 1405 FEAT G 4 BN S
6040 XI| 2R — A 1 531 AR FIES
6041 =51 4 — Y 2 780 EAAT R BN
6042 4 B -y 1 571 EEAT R4 BN S
6043 TIRE — 1 4 1701 EEAE B BN S
6044 Fe I — Y 4 1701 EAAT G2 RS
6045 =N =Y 4 1936 EEAT G BN S
6046 FEF =Y 3 1546 FEAT G R BN ESS
6047 FE& A — A 3 1311 AR BN
6048 S5 =Y 1 390 A RN ER S
6049 i E — kY 4 2002 EEAT G ] A 25 2
6050 o — A 4 2077 AR b W 25 2
6051 HAZ — Y 2 1015 ! b A 25 2
6052 kRS -y 3 1666 FEAT R ENEIE TS
6053 R — Y 3 1311 FEAT G 45 ENEIE TS
6054 ik E°F — Y 3 1405 ! b A 25 2
6055 AW —Y 3 1311 EEAT G ENEE TS
6056 KA — 1 390 FEAT G R o] o 25 2
6057 R =Y 2 780 EAAT R ] A 2 2
6058 kit E — 2 1015 EEAT AR ] A 25 2
6059 FUAR Bk — k4 2 780 EAAE R e A 25 2
6060 By — A 1 390 AR e W 25 2
6061 TEW =R — Y 3 1311 AR b A 25 2
6062 A =AY 1 390 AT G e U 25 2
6063 RN — Y 1 390 FEAT G 45 ENEIE TS
6064 T2 — Y 1 625 ! b A 25 2
6065 FRK 5 — Y 1 625 EEAT G ENEE TS
6066 EVBUBY =AY 5 2326 FEAT G R e A 25 2




6067 124 H =AY 2 1015 FEAT G R NS
6068 ARIIELS =y 2 780 FE AT R GIINE SN
6069 =5 — Y 2 921 A I Ff 22
6070 AR -y 4 2937 FEAT G 4 IR 22
6071 Tk eiE — Y 1 390 AR Ik 2o
6072 ZH R =Y 2 1250 AR I F 2o
6073 B =Y 1 531 AT G RS
6074 IR =Y 4 1936 EEAE B IR 22
6075 K5 — 1Y 1 625 ! I Ff 2o
6076 75 5 5% —1Y 1 625 EEAT G RS
6077 TR AE PR =AY 5 2608 FEAT G R NS
6078 TRIKIE =14 1 625 FE AT R GIINE SN
6079 PR — 1 625 A I F 22
6080 kNI =Y 1 625 EEAT G il
6081 A =AY 2 921 AT R I Ff 2o
6082 KRS — Y 2 1062 FAAT R A I F 2o
6083 2= ] =1 1 390 FEAT G FORAER 22
6084 K P B =14 2 1015 FEAT G 45 FERREAT 252
6085 Ll — Y 2 1015 ! PR R 22
6086 Kk =AY 2 780 EEAT G FORAER 22
6087 ZE I =Y 2 1015 FAAF 2R PR A 2 2
6088 A =14 3 1640 AR PURXEA 22
6089 Tk EIL =4 1 625 AT R4 PR R 2s
6090 X PR ik =Y 2 1015 EAAE R PR A 2 2
6091 I oy 2 860 AR PURXEA 22
6092 TR R — Y 3 1405 AR PR ER 22
6093 FKE =AY 2 1062 AT G FORAER 22
6094 PR -y 2 1142 FEAT G 45 PR EAT 252
6095 KR — 1Y 2 1156 ! PO A 25 25
6096 o e =Y 4 1936 EEAT G PO R 22
6097 Tk =k =14 2 1015 FEAT G R PR EA 22
6098 SE=yl — A 1 531 AR PURXEA 22
6099 e =AY 3 1311 FEAT G 5 PR ER 22
6100 R — 2 1156 EEAT G PR EAT 2 2
6101 fieiiEs — Y 2 1015 AR PURXEA 22
6102 (19294 — Y 1 625 ! PR R 22
6103 = “ﬁ$ =Y 2 1250 FEAT R PO ER 22
6104 3 =AY 2 1156 FEAT G 45 FERREAT 252
6105 T%téfé‘a — Y 2 1156 ! PR ER 22
6106 EKE —Y 1 625 EEAT G FORAER 22
6107 iK% =AY 3 1311 FEAT G R PO EAT 22
6108 Wy =Y 2 1015 AR PURXEA 22
6109 TEIGET =4 2 921 AT R4 PR R 2s
6110 ZEF =AY 2 780 FEAT G 4 PR EAT 22
6111 FREEAR — A 2 1156 AR PURXEA 22
6112 A =4 4 1842 FE AT ER VOB A e ox
6113 ik & om — 4 1983 AT G FORAER 22
6114 XA Fd —Y 1 390 FEAT G 45 FERAEAT 252
6115 NP2 7S — Y 3 1687 ! PR R 22
6116 JEEawas =4 1 390 EEAT G PO R 22
6117 PR =AY 1 390 FEAT G R PR EA 22




6118 el — 1 390 FEAT G R PR R R 2
6119 KA R — A 1 390 EAT R PR ER &2
6120 T XU =AY 2 1062 EEAT R PR R 22
6121 R % =Y 2 780 EAAE R TR EA T2
6122 7 3H =AY 1 531 AR PURXEA 22
6123 &M — Y 1 390 AR AN Z 2
6124 ZE — Y 1 390 AT G RN Z 2
6125 i) 55 ) — Y 4 1701 FEAT G 45 AR ZE 2
6126 RSl | — Y 1 625 ! AN Z 2
6127 XIJ /)N 3HE =Y 2 1015 EEAT G N ZE 2
6128 T — Y 1 390 FEAT G R N Z 2
6129 = =Y 1 531 BT R A JE RN Z 2
6130 EhEx =AY 2 1015 FEAT G 5 RN Z 2
6131 EiGiz — Y 2 1015 EEAT G R ZE 2
6132 FHE — A 4 2077 AT N Z 2
6133 I3 S i =AY 1 625 AR RN Z 2
6134 IR — Y 1 625 FEAT G R Z 2
6135 TEIC — Y 1 625 FEAT G 45 AR ZE 2
6136 T — Y 1 625 ! N Z 2
6137 HEE =AY 3 1405 EEAT G R Z 2
6138 pubERz — Y 2 780 FEAT G R N Z 2
6139 FEEA =Y 1 390 ! JE RN 2
6140 X — Y4 3 1452 AR JE R 2
6141 RIRT7 — k4 2 780 FEFF AR J R 2 ox
6142 FE gl — Y 1 625 EAAT R A AN Z 2
6143 TIR® — Y 1 625 FAAT R A J R 2 2%
6144 FEH — Y 2 1015 AT G R Z 2
6145 S5 1 =Y 3 1170 FEAT G 45 BRI Z2
6146 *_ HE — Y 1 531 AR ERERNZ2
6147 %‘iﬁfﬁ —1Y 4 1701 EEAT G BRI Z2
6148 T Y 4 2190 BT R4 BRAERZE
6149 7K [m] £ = 1 665 AR ERERNZ2
6150 Pz g =4 1 390 AT R4 BERAENES
6151 EIRE =AY 2 780 EEAT G BRI Z2
6152 A — A 1 390 AR ERENZ 2
6153 FrAl ] — Y 1 531 ! ERENZ2
6154 Tre =AY 3 1311 FEAT R BRIERZ2
6155 bR =AY 1 625 FEAT G 45 BRIEZ2
6156 5 A — Y 1 390 ! ERERNZ2
6157 M}&E =Y 1 625 EEAT G BRI Z2
6158 S5 =Y 2 780 FEAT G R BRIERZ2
6159 sEE =Y 1 625 EAT R ERERNZ2
6160 EiEH — 1 390 FEAT G845 ERERN T2
6161 K 1] 7 =AY 1 390 FEAT G 4 BRI Z2
6162 EHE =AY 2 921 AR BERERNZ2
6163 PR =AY 2 780 AR HENZES
6164 == =AY 2 1062 AT G HENZS
6165 SR — 1 1 625 EEAE B HENZS
6166 SR =Y 2 921 ! HENES
6167 i PR =4 4 2077 EEAT G HENZS
6168 RN =AY 2 780 FEAT G R HENZS




6169 D — Y 4 1701 FEAT G R HENZS
6170 BB — A 1 390 AR HRER 2
6171 L5 — Y 2 780 AT G 5 HENES
6172 + B U =AY 1 531 FEAT G 4 HENZS
6173 HhE — A 1 625 AR HER 2
6174 T — Y 1 390 AR HENZES
6175 2l — 14 1 390 FEFF AR HENZS
6176 i — 1 1 390 EEAE B HENZS
6177 o4 =% =Y 1 531 PR HEMN S
6178 RN — 1 3 1546 EEFF AR HENZS
6179 2 =AY 1 625 FEAT G R HENZS
6180 TERKE — A 1 625 AR HRZER 2
6181 HEE — 2 1156 A HENES
6182 2SR — k4 1 625 FEFF AR HENZS
6183 s =14 1 531 AT R HER 2
6184 Bt — Y 2 780 ! HENZES
6185 B SCER =AY 2 780 FEAT G HENZS
6186 2R ER =Y 2 780 EAAE R HENZS
6187 T — Y 3 1452 ! HENES
6188 T E — Y 2 1156 EEAT G HENZS
6189 AL AT — Y 3 1170 FEAT G R B TARZES
6190 TRk — A 1 531 AR B ArZEe
6191 A — 1 531 A ETAR 2
6192 A - — Y 2 1015 FEAT G 4 EITVARZ
6193 B 2 — A 2 1062 AR EARZEe
6194 2 — Y 1 531 AR RN S
6195 A — Y 1 531 AT G BT
6196 AR — Y 1 390 FEAT G 45 EITARZE S
6197 FriE H — Y 4 2030 ! ETAR 2
6198 UL — Y 2 1015 EEAT G AR S
6199 T AR — Y 2 780 FEAT G R ETAR 2o
6200 BALIE =Y 2 1015 EAAT R EIIAN &
6201 ¥ B8 B — 1 625 FEAT G 5 ETAR 2
6202 £ — Y 1 625 EEAT G EITVARZ
6203 TEHR — Y 4 1936 AT R BTN ZE S
6204 AR — Y 2 780 ! B AR s
6205 B A AR — 1 531 FEAT R Bl TARZES
6206 A0 — Y 3 1311 FEAT G 45 EITARZE S
6207 B3 2 Y 1 571 FAAT R4 ETAR 2
6208 7B — Y 2 921 EEAT G EITARZE S
6209 B ik — Y 2 780 FEAT G R ETAR 2o
6210 Fikde — A 1 390 AR B ArZEe
6211 TREZE — 5 2467 A ETAR s
6212 Tr B — Y 1 625 FEAT G 4 EITARZE S
6213 FE — A 1 625 AR EARZEe
6214 e Ak ik — Y 1 625 EAAT R EI AN 2o
6215 BN — 14 4 2312 EAA B EITANES
6216 Wi — Y 1 625 FEAT G 45 EITARZE S
6217 T — Y 1 625 ! ETAR s
6218 FEAlAL — 1 1 625 EEAE B B TAMNES
6219 [k — Y 1 625 FEAT G R B TARZES




6220 kA U] — Y 2 921 FEAT G R B TARZES
6221 PRk — A 1 531 AR RN
6222 A — Y 1 531 AT G 5 ARV
6223 XA 4E — k4 2 780 FEFF AR SRRV
6224 ERZE — A 3 1546 AR ARV
6225 20 — Y 2 780 AR AR
6226 T — Y 2 780 AT G ARV
6227 225 =Y 1 390 EEAE B H RS
6228 7KK — Y 1 625 ! ARV N
6229 HEE — 1 1 531 EEFF AR SRRV
6230 IG5 =AY 2 1015 FEAT G R SRRV
6231 Tr4 =AY 1 390 AR RN
6232 MR — Y4 2 780 AR &2
6233 2k — k4 1 531 FEFF AR SRRV
6234 R — A 1 531 AT R ARV
6235 7 i — Y 1 390 ! RN
6236 O — 1 2 1015 FEFF AR WK
6237 KA — 14 2 921 EAAE R WM T
6238 K =AY 2 1156 ! MRS
6239 FH 464k =AY 1 625 EEAT G WM T
6240 TEW8 =AY 1 531 FEAT G R W TS
6241 52 =AY 1 625 AR MM
6242 ZL 4 B =AY 4 2077 FEAT G 5 MBI
6243 T 1% =Y 3 1452 FEAT G 4 WM
6244 LKA =Y 1 531 AR EN N
6245 EREL] A 2 1142 AR ERN TSN
6246 XA kY 2 860 AT G NS
6247 R =Y 1 531 EEAE B VEFEM ZE 2
6248 ) =Y 1 531 ! EN N
6249 7K 3L — 1 2 1062 EEFF AR BN
6250 1% B — k4 2 1015 B PR o
6251 FFx =Y 5 1950 AR ERN TSN
6252 Bl =AY 2 1015 FEAT G 5 e
6253 X T 1 — Y 1 625 EEAT G PN
6254 HAE R =AY 1 531 AR EN N
6255 Fhy6 H =Y 1 625 ! ERNETS
6256 FEA M — 1 531 FEAT R NS
6257 e — 14 2 921 EAAE R VEFEM ZE 2
6258 XL =Y 1 390 ! ENE N
6259 X B ) — Y 1 531 EEAT G BN
6260 BR{RIH- =AY 1 390 FEAT G R PR o
6261 NS =AY 3 1546 AR ERN TSN
6262 X P =AY 2 1015 FEAT G845 EN N
6263 X% = =AY 1 390 FEAT G 4 e NN
6264 e =AY 2 780 AR EN N
6265 RN =Y 3 1170 AR ERN TSN
6266 pAIBNR; — Y 1 531 AT G NS
6267 2 =Y 4 1936 EEAE B VEFEM ZE 2
6268 R =Y 2 780 ! EN N
6269 Lo =4 4 1701 EEAT G BN
6270 R =AY 2 780 FEAT G R PR o




6271 Pk e =AY 3 1405 FEAT G R PR o
6272 X R — A 2 1156 AR ERNE TSN
6273 50 T 58 — Y 2 921 A E NN
6274 E9'62; — k4 3 1311 EAAE R PR o
6275 Eisvalll — Y 2 921 AR ERN N
6276 TR — Y 4 1701 AR ERN TSN
6277 L X8 B —1Y 1 625 AT G NS
6278 =Y — 1 1 625 EEAE B VEFEM ZE 2
6279 sb R — Y 1 531 ! EN S
6280 FRIRAE =4 1 531 EEAT G BN
6281 BEMEAE — Y 1 531 FEAT G R PR o
6282 A2 — A 3 1781 AR ERNE TSN
6283 SRR AR — Y4 1 390 AR ENE N
6284 ] —Y 1 625 EEAT G PN
6285 BERE — A 1 625 AT R EN N
6286 FEY — Y 1 390 ! ERNETS
6287 /0P — 4 1560 FEAT G NN
6288 2R ILAE — 4 2 1156 YOk BTN
6289 X B2k -y 1 430 k! EATNA N
6290 XI b 3 -y 5 2949 YAk BN
6291 XL — Y 4 1936 b bn BTN S
6292 R — Y 1 430 k! BN S
6293 XAt =AY 1 390 Yk EAGNA N
6294 SR — Y 1 625 YOk BTN
6295 XI5 =AY 4 1701 k! AR 2
6296 RIS — Y 1 625 ks EATNA S
6297 LEE =AY 4 2500 Yk BTN S
6298 R4/ =AY 1 390 YOk BTN
6299 EIXEZ — Y 3 1311 k! EATNA N
6300 A2 =4 1 390 YAk BN
6301 X IESE — Y 4 2312 b bn BTN S
6302 BRI — A 1 390 k! BRI S
6303 g — 1 625 k! EAGNA N
6304 EI7E T — 4 3 1405 YOk BTN
6305 XI|7E B — A 2 1015 k! VAR 2
6306 XI| 27 B =AY 3 1170 k! EATNA S
6307 XI5 H — 1 2 1015 Vb i BTN S
6308 24 v 2 780 Yk eSS RN
6309 B Y 2 860 ks MEIEA 22
6310 ZEHEZ —Y 1 531 YAk eSS RN
6311 T =Y 1 531 Vb i I ESS RN
6312 2= 200 — Y 2 1062 k! ME I 22
6313 Tl -y 1 571 Yk MR 22>
6314 261 -y 1 571 Yk eSS RN
6315 HE= — A 1 390 k! MEIEA 22
6316 THZ =Y 1 531 ks MEIEA 22
6317 ZEH L =AY 2 1015 Yk eSS RN
6318 2= LA =Y 1 390 Yk MEIIM 2
6319 75 — Y 5 2843 k! MEIEA 22
6320 R — Y 4 1842 YAk eSS RN
6321 MK =Y 1 531 Vb MEIIM e




6322 LIRS =Y 3 1311 Vb i eSS RN
6323 = — A 1 625 k! (e
6324 MEZE — Y 1 390 VD b MR 22
6325 IR =Y 1 625 Vi MEIEM 2
6326 B33 — A 4 1842 k! MEIEA 22
6327 kA =Y 1 625 ks MEIEA 22
6328 AL — Y 1 390 YOIk eSS RN
6329 B =Y 1 390 Yk eSS RN
6330 ERID'a — Y 3 1311 ks MEIEA 22
6331 X% kY 1 665 YAk eSS
6332 225 — kY4 1 571 Vb i MEIIM e
6333 1 4 =Y 1 531 VOO MEIEN &2
6334 % — 3 1546 YOk At EATEE S
6335 TEWD = — Y 1 531 Yk AR BT
6336 XIMR =AY 3 1311 k! A AT
6337 TEW — Y 1 531 k! AR BT S
6338 2511 kY 1 571 YOIk AR ER TS
6339 FE — Y 2 921 Yk AR BRI TS
6340 EiIEEA — Y 1 625 k! AR BT S
6341 V=] =AY 1 531 YAk AR BRI TS
6342 EAHE — Y 2 1062 YRk AR ER TS
6343 E A — kY 1 571 k! A AT
6344 AP — 1 531 YOk AR EAT S
6345 &k =AY 1 531 Yk AR bR TS
6346 TR — A 4 1795 k! A A2
6347 2= Uk — Y 1 390 ks AR BT
6348 LR =AY 1 531 Yk AR ER TS
6349 T 20 =AY 1 390 Yk AR BT
6350 5 — Y 1 625 k! AR BT S
6351 IR =4 3 1546 YAk AR BRI TS
6352 T F R — Y 2 921 YRk AR R TS
6353 Tk — A 3 1170 k! A AT
6354 T&% — 2 1015 Yk AR EAT S
6355 XU =AY 1 390 Yk AR BT
6356 triE — A 2 1062 k! A A2
6357 X|E3E =AY 3 1546 k! AR BT S
6358 D' — 2 1015 YAk AR ER TS
6359 TR =Y 3 1781 Yk AR BRI TS
6360 EAH — Y 1 390 ks AR BT S
6361 T %M =Y 1 531 ks AR TS
6362 Fi)E — Y 2 1015 YAk AR ERES
6363 T =Y 1 390 k! A AT
6364 2= 5 — 2 780 Yk AR EAT S
6365 i =AY 1 390 Yk AR bR TS
6366 SR — A 1 625 k! A A2
6367 EER =4 2 1062 ks AR BT
6368 == =AY 1 625 Yk AR ER TS
6369 LIy =AY 2 1156 Yk AR BT
6370 B KR — Y 1 625 k! AR BT S
6371 ZE Y — Y 2 1015 YAk AR BRI TS
6372 TEWRAA — Y 3 1546 YRk AR ERES




6373 ZE[a B — Y 2 780 V) i A AR ERES
6374 A7 — A 2 780 k! A AT
6375 ELiE — Y 3 1452 VD b AR BT S
6376 TEE — Y 2 921 Yk AR bR TS
6377 E'SY¢ — A 2 1015 D b £ A AT
6378 £ 5 i oy 2 860 ks AR BT
6379 EF —1Y 3 1546 Yk AR Rz
6380 S — 1 1 531 YIRS LN
6381 et — Y 1 531 ks A fEN
6382 ZEIJL =4 2 921 YAk AN ZE 2
6383 B —1Y 1 531 Vb i A ARz
6384 e et -y 1 571 k! AfEN s
6385 e Lk — 1 531 Yk A fE
6386 2T =AY 2 1062 Yk AN 22
6387 FERE -y 1 571 k! A fEN S
6388 THEZE — Y 2 1015 k! AfEN
6389 ProfR — 1 531 YOIk ARz
6390 AR TS =AY 1 390 Yk AN
6391 A — Y 4 1936 k! A fEN
6392 ZENL — 14 2 1015 YAk AN 22
6393 2K =AY 4 1842 YRk ARz
6394 B =4 1 625 VOO AN
6395 F 155 =AY 1 625 Yk A fE
6396 2 =AY 1 625 Yk AN 22
6397 XIEE & — A 2 921 k! A fEN
6398 T — Y 2 1062 ks AfEN
6399 KR =AY 1 625 Yk ANz
6400 ALK =14 2 1156 Yk AN ZES
6401 AR ig i — Y 1 625 k! T Z 2
6402 K AR B A 3 1525 YAk TR
6403 EHI)\ =AY 1 390 YAk T e
6404 Trdta i — A 2 780 b A TR 2o
6405 e — 1 390 Yk T E 2
6406 R — kY 1 430 YAk TR ZE
6407 AT — Y 2 860 k! TN Z 2
6408 SRR -y 1 430 k! TN Z 2
6409 K IEF -y 2 860 YAk VS
6410 ik X Ry 2 1001 YOk TIINZS
6411 ¥ 5 1 — Y4 1 625 ks T Z 2
6412 | miont | —=HY 1 531 YAk TR
6413 TKAR AR — k4 1 531 YOk TN £ S
6414 PR A — A 3 1170 b A TR 2o
6415 FKIT AR — 2 780 ks T E 2
6416 maE =AY 2 921 YAk TR ZEe
6417 K% — A 2 780 b A TR o
6418 E e R — Y 2 780 ks TN Z 2
6419 KA ZE — Y 3 1452 Yk VS
6420 Tk SO Y 4 2096 b bR TIINZS
6421 kA — kY 2 1001 b A LI ZE2
6422 R — 4 2 921 YAk TR
6423 S — k4 2 1062 Vb TN ZS




6424 e — Y 2 1015 YOIk T e
6425 5 4 B — A 1 625 b A TR o
6426 ik — Y 3 1452 YOk T E 2
6427 X T =AY 1 390 YAk TR ZE
6428 [Tk i — A 1 531 b A TR o
6429 2= I — Y 1 625 ks TN Z 2
6430 r I — Y 1 625 YOIk VS
6431 KA =Y 2 1015 YOk TIINZS
6432 o ok — Y 3 1405 ks T Z 2
6433 Era =4 1 625 YAk TR
6434 el — Y 1 625 YOIk T e
6435 KR IF — A 1 625 b A TR 2o
6436 S — 1 625 Yk T E 2
6437 SE =AY 1 625 YAk TR ZE
6438 XN 1k — A 1 625 b A Tk 22
6439 TEM — Y 3 1546 k! T ZE 2
6440 iR = =AY 2 780 YOIk TYIF e
6441 R — 14 2 1062 YOk TIINZES
6442 Ao — Y4 4 1936 k! T Z 2
6443 g A — Y 1 625 YAk TR ZEe
6444 XK -y 2 1142 YRk THEENZ
6445 XA 1k — Y 1 390 b A THEENZS
6446 £ E 4 — Y 2 1095 b b4 TR
6447 T g — Y 2 1156 YAk THEENEZS
6448 LA —Y 1 531 b A THEENZS
6449 T3k — Y 2 1062 YAk THEENZS
6450 T =Y 2 1015 Yk THEENEZS
6451 RN =Piix kY 1 430 YAk THEENEZS
6452 FiEF — Y 1 390 Yok TEENES
6453 EER =4 1 390 YAk THEENES
6454 L5 =AY 1 390 YAk THEENEZS
6455 FEE — A 1 390 b A THEENZS
6456 F i)\ — 1 531 b A THEENZS
6457 ETHEE =AY 2 780 YAk THEENEZS
6458 Wk — A 5 2608 b A THEENZS
6459 = — Y 1 625 b A THEENZS
6460 TEX — 2 1156 YAk THEENEZS
6461 ETEE — Y 2 1015 YAk THEENEZS
6462 TEZE — Y 4 1936 ks TN Z 2
6463 EHIF — Y 2 1015 YAk THEENZ
6464 EF — Y 5 2373 YAk THEENEZS
6465 THLAE — A 1 531 b A THEENZS
6466 EEE — 2 1062 Yk THEENZS
6467 THEX — Y 2 1062 YAk THEENEZS
6468 X524 — A 1 390 b A THEENZS
6469 ESLPAN — Y 2 780 YAk THEENZS
6470 X B — Y 1 531 Yk mEIEMN S
6471 R — Y 1 531 Yk LFIEMN TS
6472 X 4% B — Y 2 1015 k! L x e
6473 EXUR — Y 2 1015 YAk mFIEMN S
6474 XIAR SR =AY 2 1015 YRk M FIEMN TS




6475 TRk — k4 1 531 Vb i T RIEN TS
6476 e — A 1 531 b A HmFIEMN S
6477 L E -y 4 2143 VD b e
6478 FKE — Y 2 1015 Yk M FIEMN S
6479 553 — A 1 531 b A F e
6480 b= — Y 1 390 YAk F e
6481 XIJEJL kY 4 2237 YOIk mEIEMN S
6482 X & 3 kY 1 430 Yk LFIEMN TS
6483 TRIL — Y 1 390 b A L F e
6484 AR — 1 2 1062 Vi mFIEMN S
6485 %)L — Y 1 625 Vb i A M F MBS
6486 # V0ot — A 1 531 b A W FIEMN RS
6487 T FE — 1 390 b A T FIEN T
6488 WM& — Y 2 780 Yk M F NS
6489 & — A 1 531 D b £ mF e
6490 XIS — Y 2 780 b A F e
6491 EEAE — Y 2 1156 YAk mEIEMNZES
6492 T4 B 1 390 YOk LFIEMN TS
6493 X B — Y 1 625 k! F e
6494 = — Y 1 531 b1 M FIEMN S
6495 A i — Y 2 1015 YRk M F MBS
6496 i — A 1 390 b A HmFIEMN RS
6497 IR £ — 4 1842 b A T FIEN T
6498 X2 ' Y 2 1095 Yk M FIEMN S
6499 XI5 4 — A 2 1015 b A F e
6500 E 55 =Y 1 531 YAk ERENZE 2
6501 ET A 2 860 YAk TRENZS
6502 Eit% — 1 2 1062 Yk TR ZES
6503 Iy M — A 1 625 YW EXRENZS
6504 T ZE — Y 1 390 b TRENZ2
6505 T — Y 2 1015 YAk ERERZS
6506 F i — A 1 625 b A EXRENZE 2
6507 X3 Y 3 1431 Yk EXRINZ 2
6508 T LR =14 1 531 YAk TR ZE 2
6509 B — A 1 390 b A TR Z 2
6510 Fik oy 2 1095 b A XIS ZE 2
6511 B in — 1 531 i B ETS
6512 7K 1 B kY 2 1095 YAk TR ZE 2
6513 TRZE — Y 4 1795 ks TR Z 2
6514 B 15 =AY 1 531 b1 TR ZE2
6515 R =AY 3 1170 YAk B ETS
6516 F=F — A 1 531 b A XIS Z 2
6517 FEF — 4 1842 b A TXINZ 2
6518 s =AY 1 390 YAk TR ZE 2
6519 FE X — A 2 1156 b A TR Z 2
6520 o 2 ] — Y 1 531 YAk XIS Z 2
6521 a3 — Y 3 1405 Yk B ETS
6529 =R — 4 2 1156 Yo EXIMNZES
6523 EHEE — Y 3 1546 b A TR Z 2
6524 25Kk =4 4 1842 b TR ZE 2
6525 L =14 3 1311 YAk B ETS




6526 = =AY 3 1452 YOIk B ETS
6527 E — A 2 1156 b A XIS Z 2
6528 FHE — Y 2 1062 b A TXINZ 2
6529 L5 =AY 1 390 YAk RIS ZE 2
6530 SE:AN — A 2 1250 k! EREMNZS
6531 THT — Y 2 1156 ks ExRENZS
6532 TEHIE =AY 2 1015 YOIk EXENZS
6533 SRR A 3 1666 Yk EIXRENTSE
6534 =15 — Y 4 1842 ks B xR ENEZS
6535 =] E 5 =4 1 625 b EIXENZS
6536 ¥ % =Y 1 390 Vb i EXENES
6537 Te5l -y 2 860 k! ExREMNZS
6538 R — 1 390 Yk EREMNZS
6539 EIE = -y 1 430 Yk EIXENTS
6540 SR F -y 4 2237 k! ExREMNZS
6541 Ep$; oy 1 430 k! ExRENEZS
6542 =A% =AY 1 625 YAk EXENZS
6543 | #mfit— | =HY4 3 1640 Yk MERIEA 22
6544 EHL — Y 1 625 k! MR A 22>
6545 =115 4% =AY 1 531 b1 MR EA 22
6546 I B B8 | 4 2096 Vb MR 22
6547 F ot — A 3 1546 k! MR EA T2
6548 FKAE — 2 1062 Yk MR EA T2
6549 d Rk =Y 1 390 Yk MR A 22
6550 ik oz 24 — A 1 531 k! MR EA 22
6551 By — Y 1 390 ks MR A 22
6552 ERZE =AY 2 1015 YAk IERER 22
6553 ] 46 7 — kY 5 2667 Vb b4 MR A 2 os
6554 %% — Y 1 531 k! MR EA 2 2>
6555 FrE =Y 1 531 b MR 22
6556 XI55 )R — k4 3 1452 Vb MR 22
6557 PG -y 1 430 k! MR EA 22>
6558 {5 B — 1 625 Yk MR EA T2
6559 X &5 =Y 2 1015 Yk MR 22
6560 XEZE =AY 3 1640 k! MR EA 22
6561 =L — A 2 1015 D i B MR R &2
6562 BB R — 2 1015 i IERER 22
6563 2 =Y 2 780 Yk MERIEA 22
6564 e — Y 2 1156 ks MR A 22>
6565 T /NA =Y 1 390 b1 P VUk ZS

6566 2% D) — kY 1 430 Vb i WUk 2o

6567 KES e 3 1290 k! LN

6568 RPN — 1 531 Yk LN

6569 THRE A 2 1095 Yk P VUR 22

6570 E &L — A 3 1781 k! LN

6571 HTE — Y 2 1250 ks PR o

6572 H 2B =AY 1 531 YAk MUk 2o

6573 W7 — Y 4 1842 YOk MUk Z S

6574 Eil& -y 1 430 k! VIR o

6575 HiEs A 2 1001 Yk P VUk Z 2

6576 Tkt — k4 1 531 ik P VUR Z o




6577 K% — Y 5 2373 V) i A P VUR 2o
6578 HE4 — A 2 1250 k! LN
6579 Tk EN — Y 3 1452 VD b PV o
6580 AN — Y 4 1842 Yk P VUR 22
6581 = 5 AR — A 1 531 k! LN
6582 KR — Y 2 780 ks PR o
6583 7K 5 =AY 2 780 YOIk MUk 2o
6584 ReE — Y 1 390 YOk MUk Z S
6585 &5k — Y 1 531 ks VIR o
6586 E5l%E =4 2 1015 b P VUk Z 2
6587 T i — kY 1 665 Vb i A P VUR 2o
6588 Ji SCH — A 3 1452 k! LN
6589 X — 4 2077 Yk LN
6590 KB R A 2 1142 Yk P VUR 22
6591 A oy 1 571 k! LN
6592 2 — | — Y 1 625 k! PR o
6593 KT — Y 2 1015 Yk P VIR 2o
6594 REY — 14 1 625 b bR MUk S
6595 B EAE — Y 1 625 k! VIR o
6596 R % =Y 1 625 Vb i MM FE2
6597 X 4 1k =AY 1 625 YRk P VUR Z o
6598 EEINS — A 1 625 k! LN
6599 XIESE — 1 625 Yk LN
6600 ESUPpIN =AY 2 1015 Yk P VUR 22
6601 Wi — A 4 1936 k! LN
6602 ok — Y 2 1015 ks PR o
6603 FAR[H =AY 2 780 YAk MUk 2o
6604 XA kY 1 430 YOk MUk Z S
6605 NI — Y 2 921 k! VIR o
6606 EA K — Y 1 625 b P VUk Z 2
6607 e | 2 860 Vb MU FTE 2
6608 2R X — A 1 390 k! LN
6609 TEW — 2 1015 Yk LN
6610 XI4E ] =Y 1 531 Yk FERIEMN TS
6611 ESETIN -y 1 430 k! RN Z 2
6612 A5 — Y 3 1781 k! ERENZ 2
6613 ZE AR =Y 1 390 b i TRENT S
6614 X445 =AY 5 2467 YAk WS U TS
6615 B — Y 1 531 b A X F BT 2o
6616 X =AY 1 531 b1 WS TS
6617 X 75 X — kY 1 571 YAk WS TS
6618 X F5E e 2 1142 b A PSS
6619 = a7 — Y4 1 531 Yk ES S
6620 X1 T% =AY 1 531 YAk XA 252
6621 i > ) — A 1 390 b A XN FIATZE 2
6622 X ) =AY 2 921 YAk eSS GRS
6623 XA S =AY 2 1062 YAk B URETS
6624 k52 5%E =14 1 390 YAk XA 2o
6625 X2 X =AY 1 390 b A X F BT 2o
6626 X & =4 2 1062 b WS TS
6627 X B =AY 1 390 YAk WS TS




6628 X H A — A 2 1095 YOIk B URETS
6629 ey — A 1 531 k! X F I 2o
6630 X 5 -y 3 1666 b A XN FIAT 22
6631 FEEKER — kY 3 1666 YAk WS TS
6632 XA — A 2 780 k! X F BT 2o
6633 e — Y 1 390 YAk eSS GRS
6634 X &= =AY 2 1156 YOIk B URETS
6635 X [H R =AY 2 1015 YAk XA 2o
6636 palliib s — Y 2 1015 b A X F BT 2o
6637 X E 4 =4 1 625 b WS TS
6638 X5 =AY 1 625 YOIk WS TS
6639 Xk 5 — A 1 625 b A PSS
6640 X 3 — 1 390 b A XNFIAT 2
6641 X H 3K =AY 1 531 YAk XA 252
6642 X3 =Y 1 625 Wi WES N ESS
6643 XK oy 1 665 k! X F BT 2o
6644 RS =AY 1 390 YAk B URETS
6645 X~ =AY 2 1015 YAk iﬂ%?iﬁﬁéé\
6646 &S — Y4 1 531 Yok Wit &2
6647 X 5755 =AY 1 531 b1 f"bTﬂHéA
6648 X 76 =Y 1 531 Vb YN ZS
6649 ZH ] — A 2 1062 k! Wit ZE S
6650 X3 =AY 2 1015 b A JQQ”FNH%A
6651 S =Y 1 531 Yk YN ZS
6652 EHEH —Y 2 1156 Ik /QWH%A
6653 AU — Y 1 531 Yk Wit ZES
6654 208 S =AY 2 1062 YAk f"bTﬂHéA
6655 gk A i =Y 1 625 Yk f"mﬂh‘é‘\
6656 [ — Y 2 1062 k! Wit ZE 2
6657 7% =4 2 780 b f"bTﬂHéA
6658 X RAE =Y 2 921 Vb YN ZS
6659 X% — A 1 390 b A Wit ZE S
6660 XA F =AY 2 780 b A Wit &2
6661 X EH — Y 2 921 YAk YN ZS
6662 2= LA — A 1 390 b A Wit &2
6663 EZ — Y 3 1405 b A Wit ZE S
6664 X B =AY 2 1015 i YN ZS
6665 |k =AY 1 390 Yk YN ZS
6666 X145 B =AY 4 1560 b A Wit &2
6667 BEL L =Y 1 390 Vb i WM ZE 2
6668 F ] — Y 2 1062 YAk YN ZS
6669 X F 25 =AY 2 921 b A Wit ZE S
6670 Ein =AY 1 625 b A Wit &2
6671 =gk =AY 1 625 YAk YN ZS
6672 IS — A 2 1015 b A Wit &2
6673 ML — Y 1 625 YAk Wit ZES
6674 I b e 1 625 Yk Wik e
6675 X 3EES =AY 1 625 Yk YN ZS
6676 XI| B 2% — Y 1 625 b A Wit ZE 2
6677 R =4 1 390 b YN ZS
6678 WEL =AY 2 921 YAk Wi ZS




6679 XA =AY 2 780 YOIk YN ZS
6680 XA =AY 1 390 b A Wikt os
6681 X B =AY 2 1015 b A Wit &2
6682 MLt — Y 2 1062 YAk YN ZS
6683 XI| 5% B =AY 3 1311 b A @ N
6684 X ¥ =4 3 1452 ks Wit ZES
6685 X)L =AY 2 1015 YOIk if)‘bﬁﬁé%
6636 AL — 1 2 1015 YIRS & ERHES
6687 K& — Y 1 531 b A T ENZES
6688 X4 A 2 1236 YAk  EMNES
6689 PriE L — Y 1 531 YOk T EMNES
6690 EIR — A 1 531 b A & ENZES
6691 T &k — 1 531 b A o EMES
6692 Tkl =AY 1 531 YOk EMNES
6693 AETE — A 1 390 b A & ENZES
6694 TV N — Y 1 531 b A & ENZES
6695 =i =AY 1 625 YOIk & EMNES
6696 =I5 I =Y 1 531 b bR & ERHES
6697 At — Y 2 921 b A G ENZES
6698 EH =Y 1 531 YAk EMNES
6699 T — Y 2 1015 b bn T EMNES
6700 T JIEF] e 3 1901 b A o ENZES
6701 T4 — 2 1062 b A o ENES
6702 TE % Fd — Y 2 921 YOk EMNES
6703 e — A 1 531 b A & ENZES
6704 TeAEH] — Y 1 625 YAk o ENES
6705 TNF A 1 430 Yk T EMNES
6706 FALT =Y 2 1156 b bR & ERHES
6707 TR -y 3 1666 b A G ENES
6708 T X — Y 3 1546 YAk  EMNES
6709 TR =AY 2 1015 b bn T EMNES
6710 Tr3CH — A 1 531 b A & ENZES
6711 AR — 2 1015 b A o EMES
6712 Te= — Y 1 531 YOk EMNES
6713 A% — A 1 625 b A o ENZES
6714 P — Y 2 1156 b A & ENZES
6715 Z5 44 1] =AY 1 625 YAk T EMNES
6716 B — 14 1 625 b bR & ERHES
6717 Tela — Y 1 625 b A o ENZES
6718 il X =Y 1 625 YAk EMNES
6719 Teo =AY 1 625 YOk T EMNES
6720 F X% — A 1 625 b A o ENES
6721 hEx — 1 625 b A o EMES
6722 |7k =AY 1 625 YOk EMNES
6723 HZHE — A 1 625 b A & ENZES
6724 = — Y 1 625 YAk o ENES
6725 Tr/INF) =Y 3 1687 Yk T EMNES
6726 =)L =Y 1 625 b bR & ERHES
6727 T — Y 1 625 k! G ENES
6728 X EHEZ =4 1 625 YAk  EMNES
6729 B X e 1 531 YRk T EMNES




6730 B —1Y 1 625 YOk T EMNES

6731 TR — A 2 921 b A o ENES

6732 Tl — Y 2 1062 Yk o ENES

6733 EEE — Y 1 390 YOk EMNES

6734 TEE — A 2 780 b A o ENZES

6735 T Ja i — Y 2 1156 YAk o ENES

6736 AR — 14 3 1546 Vb o ENZES

6737 [SE) — 1 1 625 YIRS & ERHES

6738 TR — Y 1 531 Yok MW

6739 25 17 ) =4 1 531 b Prx o b 22
6740 ERiE =Y 1 390 Vb i TN
6741 ZRAE — A 1 390 k! I
6742 e — 1 390 Yk N
6743 WM E — k4 1 390 Yk X o b 22
6744 TR — A 2 1250 k! I N
6745 T E® — Y 1 390 k! I N
6746 B Eoac] =AY 1 531 YAk X b p 22
6747 T4l - 3 1525 Yk X b b 22
6748 Yk JE — Y 2 1156 k! xR Ao
6749 X FIE =AY 3 1311 b1 Prx o b 22
6750 TRiEZE =Y 4 2077 Vb TN
6751 ek e 2 1330 k! I
6752 Eo — 3 1311 Yk N
6753 R =Y 2 780 Yk X o b 22
6754 B3 — A 1 390 k! I
6755 28 ik — Y 1 390 ks I
6756 Priz-¥ =AY 3 1170 YAk TN
6757 X5 F =Y 2 1015 Yk KGR G A 25 o
6758 PHEA Y 2 1001 b A X ZE oA o
6759 3% =4 1 531 b KGR G A 25 o
6760 X #h 1 — 1 390 YAk X ZE o A 25 o
6761 PR =AY 4 1936 b A XL Gt 22
6762 X 4 =AY 1 531 b A XN Gt 22
6763 XN F% =AY 1 531 YAk KGR G A 25 o
6764 g — Y 1 531 k! X ZE oA o
6765 JTENG o =AY 1 390 b A X ZE oA o
6766 EFIF A 1 430 i X ZE G A 25 o
6767 P — Y 1 531 YOk X G 2 2
6768 Fi15% — Y 1 390 ks X ZE oAt e o
6769 2L Y 1 430 b1 KGR G A 25 o
6770 i — Y 1 531 YAk KGR G A 25 o
6771 B 2% — A 1 531 b A X G 22
6772 Pk b — 4 2077 b A XN Gt 22
6773 B 5| ik — k4 1 531 YOk XI5 2 2
6774 P os S — A 4 2312 b A XL Gt 22
6775 FKIE — Y 1 625 ks X ZE oA 2o
6776 PRI =AY 4 1936 YAk X ZE G A 25 o
6777 POEE A 1 571 YAk KGR G A 25 o
6778 PRI — Y 5 2373 k! X ZE oA o
6779 X7 =4 2 1250 b KGR G A 25 o
6780 B =Y 1 625 YAk KGR G A 25 o




6781 X 41X =AY 1 625 YOIk KGR o A 25 o
6782 X R =AY 4 2030 b A X G2 2
6783 K\ Uk — 1Y 1 625 b A XN Gt 22
6784 X3 =Y 3 1405 YAk KGR o A 25 o
6785 I =AY 1 625 b A XG5 22
6786 BTt — Y 2 1250 YAk X ZE oA 2o
6787 AP — Y 4 2077 YOIk X ZE G A 25 o
6788 B &L — Y 2 1250 YAk KGR G A 25 o
6789 Pk — Y 3 1781 b A X ZE oAt o
6790 FE= — Y 2 1156 YAk KGR oA 25 o
6791 25 /N BE = 3 1452 Yok TN
6792 2L —Y 4 1936 b A XL Gt 2 o
6793 ISR A 2 1001 b A XN Gt 22
6794 e — 1Y 2 1175 YAk KGR o A 25 o
6795 £ — Y 1 625 ks xu;@w@%
6796 X2 L =AY 1 390 k! X ZE oA o
6797 i =AY 2 780 ! RENZS
6798 Ve IR M =Y 5 2608 R S PEEMNZES
6799 BRI — Y 1 390 i S RENZES
6800 KET — 2 1062 i S RENZS
6801 EIA /)N =Y 2 1062 i A RENZS
6802 ek — Y 2 780 iR S RENZES
6803 1R — 5 2373 i S BRENES
6804 plns B =AY 3 1546 i TR RENZS
6805 LA — A 2 921 i S BRENES
6806 I A ik — Y 1 390 i S RENZES
6807 =175 K =AY 2 1015 i S RENZS
6808 iR 22 =Y 1 390 R S PREMNZES
6809 KA =Y 1 531 i S RENZES
6810 XY T =4 1 390 i S RENZS
6811 AR =4 1 390 B L PEEMNZ 2
6812 ER — A 1 625 iR S BRENZES
6813 g — 1 625 i 4 BRENES
6814 fey e =AY 1 625 i TR RENZS
6815 =] =AY 1 625 i S BRENES
6816 ERHR — Y 2 780 i RENZES
6817 o =Y 3 1546 i S SR Z2
6818 Rkl =Y 1 531 R S SN2
6819 2= LN =AY 2 921 i S T 22
6820 R =AY 3 1546 i S R
6821 T =14 2 780 i A SR Z 2
6822 =8 =AY 2 780 iR S A 22
6823 ME =4 1 531 i S NS
6824 TR AR — Y 2 921 i TR R
6825 TR =AY 2 921 i S TR 22
6826 2 H — Y 4 1842 ! ENES
6827 ki =14 3 1311 i A SR Z2
6828 X456 — 1 531 R S SN TS
6829 o3 =Y 1 531 i LA TSN RE
6830 =HH =Y 1 531 i S SR Z2
6831 R — k4 2 780 B RN




6832 92 =14 3 1640 i TR SR Z S
6833 HH %« — A 2 1156 iR S A 22
6834 B I6 Ik — Y 4 1936 R PONEZS
6835 EAR —Y 4 2312 i TR WOMNES
6836 X A — Y 2 1156 i S WONZS
6837 AL — Y 3 1311 b WONES
6838 & — Y 2 1015 i S WOMNZS
6839 HEE — 1 1 531 R S EONES
6840 EN=)iA — 1Y 3 1405 i WONZS
6841 i = —1Y 1 625 i S WOMNES
6842 BT — Y 1 625 i A WOMNES
6843 XIFIAN =4 3 1640 iR S WONZS
6844 R A — Y4 1 625 R WONETS
6845 &L IR — k4 1 531 ! EONES
6846 EE =AY 2 1062 i S WONZZ
6847 R — Y 1 390 b WONZS
6848 L — 2 1062 ! WONZS
6849 R v 1 625 R S EONES
6850 kot =AY 2 780 ! X EIRNE S
6851 RO e — Y 2 1015 i S XS SR RS
6852 HARPR — Y 1 531 i A XS EIRMNE S
6853 R T — Y 2 780 ! X EIRNE S
6854 ¥z Lk — 1 531 i S AR R 2
6855 HLE — Y 3 1311 R S XY EIRNZ 2
6856 FfEFE — A 2 1062 i S AR Z 2
6857 WZIEEY =4 2 780 ! X EIRNE 2
6858 %R =Y 4 1701 i EEEIRNES
6859 AT ik —Y 2 921 R S AR TS
6860 B — Y 3 1781 i FL X EIRNE S
6861 i ERE — Y 2 921 i S XS EIRM RS
6862 i) AR =1 1 625 i A XS EIRMNE S
6863 R A =AY 3 1405 ! HAERNES
6864 A 1 — 2 780 i 4 H A ERNES
6865 TR v 1 625 i TR HAERNZES
6866 s — A 1 531 i S HAERNES
6867 PO — Y 1 531 ! i ENZE
6868 LRIN — 4 1983 i S BitENRS
6869 gk R — 14 2 1015 R Lt ENZES
6870 aniic — Y 2 1156 ! L ENZ
6871 R v 3 1170 i S PN YN e
6872 K S — Y 1 625 ! KR 22
6873 LR — A 1 390 iR S K22
6874 K77 75 — 1 625 i S PN R
6875 ME= — 1Y 2 1316 B KR 22
6876 X 5 — A 2 1015 ! KRN S
6877 Ak | — Y 2 1015 ! KRN ZES
6878 AL —1Y 1 390 ! KXY EZS
6879 EiRE —Y 3 1546 R S KR YT S
6880 ik S ] — Y 2 780 i JL KRN S
6881 KA =Y 2 1156 i S KR YT
6882 £ — Y 2 1062 ! KXY ES




6883 X R — Y 2 1156 R S KRN ZS
6884 B Al ek — A 2 780 ! KRN ES
6885 LAH — Y 2 780 i S KRN ES
6886 gk 2% 2% — 1 390 R S KR YT
6887 [T — 1Y 1 531 i S KR U2
6888 X F AR — Y 2 1156 ! KRN ZES
6889 R IR =AY 2 921 i S KXY EZS
6890 FKkkE =AY 3 1781 R S KR UM TS
6891 Fo B — Y 3 1640 i FL KRN S
6892 154 % v 2 1015 i SR KR UM TS
6893 X6 — Y 2 1156 ! KRN ZS
6894 Tjidte ) L — A 1 531 iR S KR T2
6895 PR — 2 1062 i S B RE NN
6896 ¥ T W kY4 2 1062 LA BRI NS
6897 MGk — A 2 921 i S ERE UM ES
6898 SEi — Y 1 531 i R N R
6899 WMEE =1 1 625 I BREUNES
6900 Bk K — 1 531 R ERE N ES
6901 XA — Y 3 1405 i S B RE N s
6902 g fE — 1 1 625 I BREUNES
6903 2 — k4 2 1015 B BRI NS
6904 15 A — Y 2 1062 iR S HREUNES
6905 FEATHE — Y 2 921 i S B RE NN
6906 [0 =Y 4 1842 B BRE YN TS
6907 7k FL — 4 1 470 R A X FVAR 25 5
6908 GG — Y 1 625 ! BRI S
6909 XI| 4 5 — 14 2 1015 ! RIS
6910 FiER —Y 1 625 R S RIS
6911 ERme s — 1Y 1 625 i FL FAbAR &2
6912 FAb — 1 1 625 R LA RIS
6913 2= Uk — k4 1 531 ! RIS
6914 A — A 2 1015 ! RIS
6915 K TR — 2 780 i 4 FAbAR &2
6916 A —Y 2 921 ! RIS
6917 =1 — Y 4 2077 i S RIS
6918 RS — Y 1 531 ! RIS
6919 Bt =4 1 625 B BRGNS
6920 RAFEN — Y 1 390 R S PRENZS
6921 B — Y 1 625 ! BRENZS
6922 P =Y 2 1015 I TrERANZS
6923 X RS — Y 1 625 i A TrERAM TS
6924 EXIE 1L — A 2 780 ! FERANES
6925 FLAR 3% -y 3 1666 i S TrEeidrt 2
6926 ZEHEHE — Y 1 531 i TR Tr e e
6927 B E R =Y 2 1062 ! TERANES
6928 K5 — Y 1 531 i S TrEREANES
6929 2N —1Y 1 625 ! TEEREN TS
6930 T B%E —Y 1 625 i SR TrEeia T2
6931 T — Y 1 390 A IR AN e
6932 2K H =4 1 390 i S T Riab e
6933 U =AY 1 625 i A TrERiAM T L




6934 TEF =AY 1 625 i TR TrERiAM T L
6935 R A= =Y 1 625 ! FERANES
6936 TEER =Y 1 625 R TFERAN TS
6937 TeHiE — k4 1 625 B TrERENZS
6938 K% =AY 2 1250 i S TERANES
6939 X% — Y 2 1250 ! TFERANES
6940 mKE =AY 2 921 i S NN
6941 H E1E =Y 1 390 DS NN
6942 EEE =Y 3 1546 i S NN
6943 H 5 Al =Y 1 390 i S NN
6944 A I — k4 1 531 B NN
6945 X R — A 3 1311 iR S NN
6946 IS — 1 531 i S NN
6947 S =Y 1 625 B NN
6948 EvE =AY 5 2326 i S NN
6949 i — Y 1 625 i NN
6950 ZAE =Y 2 1062 R AR I HIAMN TS
6951 Tt =Y 4 2077 R S I HIAM TS
6952 ARSI =Y 1 390 R L 2 HEN S
6953 i — =Y 2 780 R A I HIAM TS
6954 TEE =Y 2 1015 ! e HIAMN TS
6955 TR 4E =Y 3 1405 ! e HIIMZE 5
6956 L B — Y4 3 1687 i S Iz HiaN 22
6957 I [w b5 =Y 1 625 R S e HIAM RS
6958 G =AY 1 625 i S e HIMZE S
6959 5K I — Y 4 2077 b 2 HEN S
6960 L =Y 1 390 R A IEHIAMN TS
6961 TN =Y 1 625 R S I HIAM TS
6962 XA =Y 2 780 R S 2 HEN S
6963 S =Y 2 1015 R LA I HIAMN RS
6964 TE®B e 5 2232 ! e HIAMN TS
6965 H- g 31 =Y 1 531 ! IZ HIIMZE 5
6966 ARSI, — Y4 2 1062 i S I Higk 22









































































































































































































































































A2






















































































































































